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1.1 gk 3ihTeit TG UT 37¢f

T, WE AhHe, S M Y IR AE Had Bk B STEal. W9 ST e YHIOT ST
feun <Ee SIged 3TEd. Feer= URecHT sReR Sgel fhod, qod fohal Freard SR Wt S Q'
TEEEl Sl 3T TRl Alfedes Hfosme TS IR Yo hidl dd. LYK HIUAR! T
e gF fU9 d8 THUIN W @eiid YR Hisal I8d

(1) FUemM™ (FwRET) = ggdt ST (2) We " (OR) = 9l

Greflel SR 'iTel hed 1 fHese =,

HHS QM %] g S0 digesren a9 2015 371 2016 =1 Ufd et wamen wfe=mdiel Sl vrenfasei
Hifed! eyl 3,

TE yfa feretumm e 3

T 2015 9 2016
e, 24 30
Tige 40 46

Mg ST digeer= WM SR Wk Sl USde TS e,

(1) T8y araT=lt (IRt ) Tl ; TR v Sieel 9 2015 e T 24 Tt a1 a1 9y 2016 HEY W@
i feretrmen 3 30 SITe T8, THes o8 2015 =41 |HETd o8 2016 T&4 A6 9id fohaimen 3 6 el 3. T=gH ol
qigearn H1E 9u1 T 6 7 aedl TR, ¥ FRUsT TeRIa®s Taeh! el ATaed 3T ARt J5e i, Tl aRHHie qade
TAM TR, T TACR T T TGl RO 1 Sl = 918 a9 2015 7Ed qid Toheh TRET AL U= a9 2016
=T AT AT STV AT SR SeTe] TR, TR GohR =eld B0 HiehT=l ol hvaTHTa! & g5l
I A, TR qRIdTa |rdel HArET Ted! START BT, S = ST wEd,

(2) TS HIAT (IUIRR) = TGl : & 95 a9 2016 AL S HET SUR AIoe] Fieh GEsioarrel
FEE a8 2016 =T WEMET I8 2015 AT WERT ORR SEE A,

SRMHR T 9T O = 30 = 125

diqoer=al WTem= UM’ = j—g = 1.15

N TOIREET A A9 w1 98 2016 TS g A0 digeer=A WA SN @Hel 9 HH AR o
2016 H&A TegrEl WrE, o 2015 =1 WieTdaT 1.25 U2 Hel Bidl. T digedredl | 1.15 92 9@ Hell WU
AT VA BN Tl qigasredl e IV hiehlueT ST 3T 378 TeUrdm.

JY T S qigesreA WETe UK S el Ja@iel el Wik quifaal, e |Ius Wik
(Relative Change) fhal w/@ WM&l (Price Relative) 378 T@ETA WUMM. AT MM q01 gl Ol 99
e S OO SRR SIfauard Ad. e A9,

TR HEM S Whe TFhaRl e = 1.25 x 100 = 125 3T

TGe=A A& BV §H& TRl ®h = 1.15 x 100 = 115

/2\
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TEHTHT Bl W& SFRAN HIY SR SR W& HOlel gde 3 UM

STIMYRR, TR ST Hatd Ty fqetean (=re] ) wiard foradia fgfta (3em) sresa =

ST AU RER Hfd & I STRea] HIEw Sl Fehiell Tohsl ohied Teh §del A9 fHesq a1, dqul
T T A Hefauamael fRus gedl Suge S TR RV SISl 3 BId W, SN oRe HEW
ST ¥k TehH ATT-A7Ted STET S T TR a9 Tleh Tehsl Y0l ¥R BId el 3Tem gRfeerdia
e A gl SYANT Ad. WU WA GGl THATET Yo SEA Sl aHEle B0 W Tehs
I Al S T TR I B0 Hlehre T ordieh A9 fHasfonl g oT9d. Sl ST9ur &7

WU 1 g M g I Wl Wik HS WHY kT HIU& HIY RSl d9 2016 =1 HERT p,
oy = 2015 =01 W@l p, WY, p, O SERX U= WG M p, WA =T A A& FUEL T

;;(1) A TRET WG WU UL B T hIRHH HSEd S

MY 8 o 9N uTE ETuer uTE Eruer
20150 W 2016 oG feRar Terchardt
(%) (%) O R
P P
Po P = = 0 x 100
Y 2 30 39 = 125 125
. 4_6 _
qige 40 46 10 = LIS 115
TRU 2.40 240

AT TS HTHATEA & Tl A Hl d5d i Qel awqal =] auEr | |e 100 7 Tured
TR 3feh &1 1 (T =1e] aut=l 6 eh 3 (Price Index Number) TeUTATd ST / < SRIoIATd. 3T9MIHNR,

g SN digeeral @Te] aWiel WE god sk =

TSETE WTE WIU& +  gearal T Tria

x 100

il

1.25 + 1.15

7 x 100

120

e g MY digesral =g asi=al verel as ik [ = 120 BEcl. SRMIHR T8 ST qigesran el

ok 3 [ = 120 I I8 2015 o1 T &= qerd a6 2016 TE SR aRE A SRA9U 20 HhH
a¢ el R Yok Ak TOIRR FHRG HUE HY R, HAEYH SATHe dv-ofled]  welreAl
forHdd BV Wleh Tehs ohed k9 99U HY HHY Jgd fHesfdar J5a. A0 §Hge=a 9MM 9%
SieTel Jfeddul AR .

(3)
NC

ek 3ifeh



“ehToTCHTE Tk Tehar TehTUET ST o] feetedn (J1e)) shiardial =er=an fhwdia Tare! Hfea (TuR) Here
1 IR = fRHd = ATaeITd BT SaRha FehT=T TS SHer= 9 gu 31 wordm. '’

z[&

i - p(n}
TR WA HEh A [ = ——U= x 100

Y, THEEl I gEh Heh [ = =] IS gad e wed Hesfacien gEe i
p; = T el = i W fREd (i =1,2,3, ..., n)

po; = T HloEEl == fhEd (i = 1,2,3, . n)
n = =AE de
9 i n o= HHEEN WM YEd o [ = SAred wiel aued fhar @it wemshEn 39En
Hell R, W T YIh ik [ S ATAT |G AEeh S19E] OR Wl S@ie SUAN Hl Jga.
B fowf= == a1 g AR wE AL
IR W6 g 3k fHafauamEed! e TR Heftd o= a6y wed &=l qaras qfed!
& AT FEEY Bl SR Qe W1d o S 7 e STHUE Aol JRe HeTd B
oy sqd fham 9E WoE "o Seaen sid SR,
ST SR 3TN IR HafHd n a1 SR sael @ 91 e STeiedl Yoidh 9] dISr=al ve g
Teh AISMEl ek TMYA THUIU YR hedtd fHeled] FEd Aol HHEHeAl HEEl gud 31 TUram.
T eftaTn gifaar Fge.

Pii
| 7
Po;

FHETAT el gEw 3k [ = —= x 100

S, p, = W0 HEEWEE HeesE iow 9@ (= 1,2,3, ., n)
Po; = SHR KBS SIS i W 9E (i =1,2,3, . 1)
n = SEEE H@e
A T ST R HeAHq TG TS Biel 3TEAl & WHel SAied] Joish oeqarsre=l Higa e
e RS Jeh WM FEYU0 YEd hed™ [Heredl WUE Al o FHEEEE WSl g 3
TN Il

1.2 G Iikie gror

ok ST e AE] HEl &0l W& Ad o @refteyH fode stRa.

(1) Y=k 3ieh Th GHel WY STHAH d THHOET qH 376

(2) AM-NTed Thahr=a 9 U=l fhadia SN Ok Yok SRR ol ol Id. & Yo
s OIHE A9 S

(2
SRS : U 1 : AT 12 —/




(3) go% 31 THFRAN T SIGUIR THh |Hel AY 3.

(4) g% 3 TH faftre GUEd A9 TR W SUEdEl Hed dafl SAieed.

(5) GI& SR HEdH S AT-AMTeedl Flediel IRFEI=T TG JHIfor (STYR) ShiedeRie]. qer
HOIAE 4.

1.3 o iRt START

T -5 INYUATIS ATRAd. WG A, = ST M U de-5e STV Il Fifed
Tfgcten L. WY S09H IRedeia G gaw s Iwn fafay dema weeas fHedr. gEe ow ffde
aTfefeR, TSifh, TSt fohen ofenfier ygfamed Srom=n W 19 HOR SUIE SRR dTe
3T, SRM=N ofefer omiftr efteifier aRfEerdt Wed Srom=n TehT= QoI 1T H&d o i ot o
AeHd FEEE ARTGYA qHfod. gEeh S FE STER WEtayHl TR

(1) =TI U= Yok 3ieh : 81 Yo& i Sudia Hal A0 R e 7o =Rl ggfa=n
o IRFErdT 198 OIS SUgH AFEYE e,

(2) ek VTG oeh 3ich : B oo i UM A WOHIRG S0R W ATl 8 Yad i
3TAM FOAEE 8= HiawTdie deHT Sefauardt ST S ' g 3ThTeA Hedi MEEded. SR
T SIS WRAE R o Fraer fREvEE! saws 1 Ul IHvErEet SWT ST, EeeTE X
GEAAYHTY SMUdl IS, SA1A Sk Weral ok i ITANT S, STRIMIHR,

mmmnﬁm)_( EIGERCIRIFER Gl
e W = o 5 T HF x 100
TR el ek e gk 3o
(3) Sarfaie @afer gas 3fh : 8 Y& ik F-dedl WA Al Sears . g
BIURA FeRME1 ST HOAEE ST 3T, 8 gaeh e Jeare SR Tah! hUATIS], SHerE
TR, HeRMEY, SFd, arxifder oa-rel HISOl Huagel que TEEhRell el STRRFS] TR hiuarErs

SEIRT 3l

(4) AR T Yelch 3ieh : &I YA ST AaiaehidTa] Heafl, STegRvl, STafard ST SfIfo7 faor
JHh! HOAM ITARN G, M AEeT AHGT widkaen fasnmmemeet dfedt fHed.

(5) T Il Geeh 3ieh : BT I 3ieh Q= TR IRIE= Jodich H0AHIE! a8 FhRa doetish
ST TA&Tich Tereh] HIOATETS! SYAT STHAT. T AL SA=TTd BIVIRAT kT S8 e <uIme TS 3eq+,
A ST TXER I TN GURTAER a1 S@id gadh SThre Hedld il .

(6) 3MENfiTeh ST Goeh ek : & Y& 3ich AM-NTeodl el SR VT FHeTehivred &t
SCCANA ekl SIS §Ud SWNT TR, EgAn S¥mer fohm R aeauarrel S s
FORIYGITe TRESH HOAER! 8 Y& 3 Agqed o,

(7) T AT Goleh 3k : 81 YT 37 HY IS HETHEA FehTal STWATE HOAS STAFT
TR, BN I SThT=A Hede TR HY fawess Fide sTesH d Araysml Sasi T ScTeATae!
Iy ve fed sTeeRe Aid uefavad gue e Aeawy el

(5)
NG

& I



(8) 3T Faia Gereh 3ich : &1 Yod 3% A Fafa idl, emaei=n R, Wehid geoawE! STavashdl
S AEda Seht=l S oh] HUAEE qHd Aww ol HUdEe] STArt SR,

(9) HeT-ASATIG=T ek 3ieh : 81 Yok ik SN JaddH YSHI SSAT IRFEer=T s od ST
e USRI G SUA AR STRSH il dsal.

(10) TAUTGRTET ek ek : BN Y& 3 96T IR-Wieh, fed=R, TWHH T = q6m ae-ue
ST Tqevph = TR S Bl ¥ehdl. YA IR-THhe] HIET=AT s STHM hidl ad.

(11) ST |Tet Geleh 3ieh : & Yoo 37ch AR, TeTafd, stefemes Sl Scare fasht el strevaes
ARSI e,
3feh = HqUl STfefer gaht, AT oTiftr WIS ggfaued BV ek HISTOATHIS! TITIHTO qorTcieh ST+
T T STEvTS HIET 378, e Yadh Siahlell Sumea fefdare e weurdm.

1.4 MR a8 (Base Year)

Tah ARt TEd TETEN IalTel oA hieldiel fhHdien TEmen MiEd e (A9l Senterd )
Jerren ferrdiel qer wad Ad. @ ffad we fhar aufen smuR o wodE. e ffaa ad e
e foham ST g oY Wehd. A1 HIelen fehal aueAl fRHden SHR g fohen e fehudt SRR
AT HIATH ST N qeAl =16l a8 fehal YordA™ a8 (Current Year) fohal S9F weviam. 3a1. a9 2016 =41
Fldiel @l a&ge ferdde oM &uare a9 2015 = o a&e fRudRl o wuearE 9,

W 2015 & YR a8 71 a9 2016 1 = I T

1 e SR g8 TUE ferevard ot § 9y wEv fher g o wifes). § oy SAfqg, S,
YT I R 9 A, 5 deuN, oo, Tedld-SAiee Al ST HHaidd T, TSty
I, e IAeE fohal Sa STUE! S Ha 379l Tifgsl, ™Mo ER a8 el {aeead a9
T € AT AR, SR ST uRfefad g SHR ¥ wvH feeear sT8e i Ser fhrd sramda
ST HHT TH R gash kel GRuM Fehi=al AT 45 ies oA IR Tl aRfterdt TS srend
. STMYFR, Faeh FRM=Al THARS! STHR guret o€ Hessiqds wqAl T AEIH 3.

MR Nt fae M R w1 A ¢ (1) 9 RN USa (Fixed Base Method) (2) Wufd
STYNE=T 95d (Chain Base Method).

1.4.1 3T AR Uegell :

B TS WE we fhar aRfterdien we fohar awien fer AR ymod gd foher oeR oW wum
U A, WG FRI dedl Y fhen omyR o fafyd o wfeu Fa. stemRftedia et awfet Sl
FEA Goh ik Hesfouam Il SMYR ¥ G A Yddled o8 BUR AR Sl SHAR SR 9y

IATE, STMIHRR Tac] U= IGdd Yo i @reid G fHesfaan.

/6\
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=] oot (T < =9 TR

RS G SR ot (TE) = ¥ fha x 100
_
= 7 x 100

39, p = = Tu (¥ Fa TR

Py YR ow (FHF)= =9 fohwd
IETET 1 : TehT FaaIcdier @A Aieheh MTATSH Hifgd! WIGHTAYHTIT 378, A& a8 2005 S SR 937
HTeht<aT THTATS! ST HIATET Yolch 3ch TAR . TN Tk HhTae T a6 2013 =T WraTdiet

HTASH Serehd ™l aTE Wi,
o 2005 | 2006 | 2007 | 2008 | 2009 | 2010 | 2011 | 2012 | 2013
ufa fedew

1650 | 1690 | 1730 | 1750 | 1810 | 1850 | 1870 | 1900 | 1950

wr= (%)

Y T 2005 A AUR T WUH HUdeid ST A SR TS gAF ik Heeq, A SHR
a9 2005 1 TR qEET a6 3E 100 =,

- T Uta fadiea S 1% . 100
wE ()

2005 1650 28 % 100 = 100
2006 1690 8 % 100 = 102.42
2007 1730 1530 %100 = 104.85
2008 1750 180 % 100 = 106.06
2009 1810 B % 100 = 109.70
2010 1850 B8 %100 = 112,12
2011 1870 B % 100 = 113.33
2012 1900 2 % 100 = 115.15
2013 1950 20 x 100 = 118.18

8 2013 AT TeRT=A1 HIaTd a8 2005 TIUEI Sieiet 2ghard are (118.18—100)=18.18 % Tae! Sl 379 Tl Jgal.

(1)
N

o 3k



STET 2 : |l WIS a6 2014 37T 2015 Weftel Ufd Teheh W () WIelel shiteehTd SYITACATHHTOT
TE. 2014 THAT TR T WA WIAUGTATT WG AIHI oich 3ieh JIe 10T T Wrerdereri=ar

uraTd Ul faRdt ot HTel o Gim.

e Ul Ther W@ ()
i Theh

o 2014 o 2015

ESS Yehe 25 28
e | 30 35
Gl fea 375 380
34 e 36 40
EiEl feretram 440 500
wroft ferettom™ 265 300

ST YR 99 2014 == =1 98 2015 Hel TR Ve HH o9& 3ie e o7, STHR

YT el Py S0 AT g qEe Py ﬁ@ﬁqﬂﬁwﬁaﬁ% fese . & HISON Wefiel shisehtd
TEiforetl TR,

e 9 (%)
TE] g 9oy = I’:—(‘)
p0 P1
e 25 28 % = 1.1200
3 30 35 % = 1.1666
380 _
T 375 380 s 1.0133
40 -
3y 36 40 3 11111
500 —
EIE] 440 500 10 1.1364
300 -
Aol 265 300 T 1.1321
THIT = 6.6795
O,

TR STITEA : U 1 : TIAT 12



el A-grf=an Wil 9 g9 s [

111.33
FagEl WM 9 gEedh 3 [ = 111.33 e,

Tad i [ =1 forsdioed aam d5a @, a9 2014 = qord a8 2015 = i STdeeie
ad FEI9 (111.33 — 100) = 11.33 % UIe o6 @el ofR 3T weurdm.

ST 3 : Teh WIER JUEeh shu-rem a8 2008 § 2015 THd=AT WIER SAUTEATS 3iichs WIGHAYHTIT 3ATE.
T Wifecdiae a6 2009, 2010 7T 2011 =0 TIEY SATGATAT IR TNiel IS U7 7oA
MY Uegd oeh 3k qTaR .

EL] 2008 2009 2010 2011 2012 2013 2014 2015
Jq1e (SR 29) 186 196 202 214 220 216 226 230

39 = 2009, 2010 T 2011 = TWEY ST = 20r202+4214 612 _ 5y
3 3
Evice] AT YT TG Gk ek
aﬁ‘ )41
(R 29) = 1 X 100
2008 186 % x 100 =91.18
2009 196 % x 100 = 96.08
2010 202 %—842‘ x 100 = 99.02
2011 214 % x 100 = 104.90
2012 220 % % 100 = 107.84
2013 216 %Oj x 100 = 105.88
2014 226 %—gj x 100 = 110.78
2015 230 % % 100 = 112.75
/D
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ST ST Uegitel T[0T AT HaAter
T : (1) BN UGN SER 98 A STHAM N-NTedl dedl =el fohwidia el HiehT= HISTofia ST
qord Tl 3TTEesdl.
(2) e feddd SR U W qeEel @ 9Sdl STt SR,
(3) & U TESEE S Hevae W TR,
TEer : (1) JRYHN UREHE SAEE, TIA, HIH GV A, T UehTeAl  STREATA a&]
@MW SeAad W @ USdd TR RH Seied SN oMt aTReed o R® kWl A4
.
(2) HR T¥ RWUE WHM GRiEfdE gmeg g¥ fHefaul wHiE T 90, e SER au
Faerar &M HS 7. SR STHR au=l fae IrauehR 7 HeA™ | os sfhrE! fagaaa
FH B
(3) =emen fRHAda SO e F@MId TehTd! ol woaTEel & dgdl STiHe el
(4) Tacden ow=a UENd W B STHdl A el YR AavEe B @l s
I TEL
(5) TUIF A YdHE a8 YR 9% WU HUh el R el o Y Rl JUR AT

1.4.2 QUG MR Tl :

;M Usda e ffad ad fohen wwEmen omuR o fhar v "M A9 AR Wy Y auidet
AT T foha goeitel (Tefi=) o STYR o WU =va Id. 3L 2016 = Fak SRR a8
2015 o STHR o8 FUHE HUA Ad. B TGl SEN I8 5erd 3TEd STMYHR SR 9 IRAR d5ed STHAN
B Tgdien TuRd SHN= Ugdl FeUde. ' Ysdid odH ferdien @ Sawe el qerl A
d. B ISAIGEN GEdh 3 @refial P et

= aut (FHE) < 9 feRda

I S smeften ot (99t = fopra x 100

_ P
I—poxlOO

ICMEUT 4 : Tkl U= 2014 TE=IT Udeh oM HGAT=l el YISl sig ranauaiet Aifedw

e e S T | @ | ww | T
Ha () 22 21.20 22 23 24.70 26.00

Y Y 2014 = MW wfeAre o wfgwaren W@ fooen AR @M@ oW 2014 = SHAR
Hfg=ar= Yo ik 100 B, b= AfeAiael Wakd dgdigN fHau=n = i @refiel e qrafae
3R,

SMh S : {1 : 3I«T 12




Hfg ST W qEiE MURH Gk 3ieh
SISER 22.00 = 100
o 21.20 2228 % 100 = 96.36
3 22.00 2208 100 = 103.77
By 23.00 2300« 100 = 10455
TR 24.70 2308 % 100 = 10739
AR 26.00 2600 100 = 10526

)

YR g9 (F99) FUE S

(2) ¥ UsdmE ot AWt gedl B SWeIM  UedrEl  AEe e fadyHm
T T HHEY HO I AR, HH AOUd ofRn e aWd R® Rl IS

RMehdld.

T : (1) B USA STER el FeEen Jed WA RN ROl hi SA- HHATAT STHE a8 (FHH)

(3) TRURG SR YGdId STaed=A aahleldic Jesil SaHM desel fohwd =l qorl hierara! STHea
3Tfefeh, SATIR AT AMVSI&ST a1 Ggar= I9AFT =il

ugier ;. (1) =1 IS ST auien SMYR g WA Huhi Ad STHedH Jetrel fhAdia A 3Ted s

ThTET Gl HOAES! € UGl SAlUeh IUge A el

(2) =N USdd TEE I Yad SRrA] WIS Jeh el W & auied Y sTehre AdEe

Tl qRomE =efE Tfed.
(3) & UsdA fHeefacicar o sishrear HISOid Thaadl @ ATl
(4) SR TEREn gutet Alfed] YA A9d, W ANAEl duel gud e fHafau v

e

ICEWT 5 : WrEIdATe fHemesd a6 2008 @ 2015 WA YEHIT=I chotedl @iat faseiiei Aifed! @reiergaTor
M. EAEA 2008 T MUN T U TEel MYUN, TWURA R q89= 2010 7T 2011 =0
T FUH GIeATel YR Juie el 93 gud it adr &

a8 2008 2009 2010 2011 2012 2013 2014 2015
AT EET
ks 230 250 230 250 270 280 300 300
()
@

& 3



g 2010 3TUT 2011=N
Hrearel wwEd
et gy 2008<T TR JURE 3R 230 4 250
. . +
Ll g AT 3NN Geleh 31k oI 3 = =5 =240
et =WWWWX100= =g s e fewta < 100 AT 3TN FH=T
(=) MU auier = ferma el el wor e .
ek Ak
- - 230 -
2008 230 100 100 S50 X 100 =95.83
250 — 250 — 250 -
2009 250 530 * 100 =108.70 550 ¥ 100 =108.70 | 555 x 100 =104.17
230 _ 230 _ 230 -
2010 230 550 * 100 =100 550 X 100 = 92.00| S35 x 100 =95.83
250 — 250 — 250 -
2011 250 530 * 100 =108.70 530 ¥ 100 =108.70 | 555 x 100 =104.17
270 — 270 — 270 —
2012 270 530 x 100 =117.39 S50 x 100 =108 510 X 100 =112.5
280 - 280 - 280 -
2013 280 530 X 100 =121.74 590 X100 =103.70 | 535 x 100 =116.67
300 — 300 — 300 -
2014 300 30 X 100 =130.43 Se0 ¥ 100 =107.14| 55 x 100 =125
300 — 300 — 300 -
2015 300 530 X 100 =130.43 200 % 100 =100 Sa0 X 100 =125

I 6 : ThT TR fiemed o arr g, ansrdt onfur <rwar= s o 2011 9 2015 wfa=an fasniferseih
gl WITAYHTIT 31TE. BN WTfEdiaa- Aream ad=n STERT s (i) 1T MR Ul ( TR
T4 2011 97) 3T (i) TURA MU Uge faepl=n G Goeh ikt HISofl .

ag fat (7@ %)

ST T 2011 2012 2013 2014 2015
LI 40 46 50 56 64
EIS I 20 30 36 2 54
ELDICHCIC 50 64 80 9 112

(i) 3TreT MU= Tgat :

=g auiE (FEF) =a fEEa
YR gl (W9F) 9d

x 100

FIA YN GIeh 3k [ =

(12)
STHSIIMEA : UFT 1 : TIAT 12 =/



%7"& 2011 2012 2013 2014 2015
e 8 100 j—g %100 =115 2—8 % 100 =125 % x 100 = 140 g—g % 100 = 160
e T 100 3—8 % 100 =150 ;—g % 100 =180 ‘2‘—(2) x 100 =210 g—g % 100 = 270
LRI RCY 100 84 100 =128 | 89 %100 =160| 28 x 100 =192 | L2 100 =224
50 50 50 50
ENE 300 393 465 542 654
foehi=n T
: 300 393 465 542 654
el S 3 3 3 3 3
= 3= =100 =131 =155 =180.67 =218
(i) TURA MU UgdA faehi=n AWM= o 3 :
Q'{crﬁa' . g auie (9EE) ud feEd
3T[aﬁ E£ Hh I = e aut= (§HF) 9d fEd x 100
—r
2011 2012 2013 2014 2015
T UiS
e 118 100 j—gxloo:ns j—gx100=108.70 %x100=112 %x100=114.29
EIE R 100 g—gxmo:lso % x 100 = 120 %x100=116.67 %x100=128.57
ELDICANIE] 100 g—g x 100 =128 % x 100 =125 % % 100 =120 % %100 =116.67
ENE| 300 393 353.7 348.67 359.53
ICEAEIRSIGIE)
. 300 393 353.7 348.67 359.53
i S 3 3 3 3 3
= = =100 =131 =117.90 =116.22 =119.84
(13)
/)

Ha& 3



IO 7 : TahT &S ST AT Wl Hifget YT vt 31T, a6 2010 T SN T [ 7=

JTLTAT UG AT Goreh 3feh Jire.
ad 2007 2008 2009 2010
TR TR
eyl 110 128 134 129
STRGET ST SIATEh R 30 45 40 48
S 610 720 770 830
HrerHa=n = 2450 2630 2910 2890
. _ g auE (9HE) 9a fed
SR T WI_WWHW(HHH)W%WXWO
i 2007 2008 2009 2010
=T UhR
110 _ 128 - 134 - 129 -
eyl 59 % 100 =85.27 59 % 100 =99.22 o x 100 =103.88 | 155 x 100 =100
Seeef e | 30 x 100 = 62.5 j—g x 100 =93.75 j—g x 100 = 83.33 j—g x 100 =100
48
AR
610 - 720 - 770 - 830 -
T 930 ¥ 100 =73.49 | 228 x 100 =86.75 £30 * 100 =92.77 | 255 x 100 =100
2450 _ 2630 _ 2910 _ 2890 _
HrerHa=] = Sso0 % 100 =84.78 | g0 x 100 =91.00 | Se55 x 100 =100.69 [ 235 x 100 =100
ENE] 306.04 370.72 380.67 400
qE= 306.04 370.72 380.67 400
E[ e 4 4 4 4
Hh Heh
- i =76.51 =92.68 =95.17 =100
@

SR SIIMEA : U 1 : TIT 12




e 1.1

TH! IR G hTH =T SHHRTR=AT Fer=1 o8 2008 § 2015 A e TOH Sa-nasei=
et WIEAYHET AR, @Eed (1) 39 SURE 9gdl (STHR a8 2008 ®&) (2) W STt
ggdl o7 (3) o 2011 @ 2013 =4 e GUEE A TUEH STHR ISl 9dq U STEel STER
Yok 3 e,

oy 2008 2009 2010 2011 2012 2013 2014 2015
It wrEdt aa
9]

275 284 289 293 297 313 328 345

TehT IEAdIel HIGE] Sesh- Taawai=l @reid Hifedieed (1) o 2008 T SR a9 = Taa A=
TS (2) TARG STHR=AT 95 ST (3) I8 2009 S0 2010 =1 TR HETel TUE STER e
g B TR Vel O e TS

a9 2008 2009 2010 2011 2012 2013 2014 2015
WG Wi Ulaterett
9

28 28.50 29.50 30 31 32 34 36

TehT IR Heheh SISINGIA 118, qiges ST W1 aifteh Tl wranforseit=i mifed! @reftergam fhare
3. e g9 2011 & HR I8 WUH BEA T9d YR A0 Foka SaRA ot sz Jmemen
qH gah e HIS.

T T 2011 2012 2013 2014 2015
T 18 18.50 18.90 19 19.50
qige 30 36 38 38 39
RLLCH 30 31 32 34 36

e RUE U9 g 9% 2012 W g 2014 = 9@ (%) WeAyEml ARG, I8 2012 & STHR o
9@ SEl o HESEL

q= forst RIS ST HUHA NIEE]
THRT e fafeet T R [EIpIL
a8 2012 =M Wi 3 3 345 1.00 15 12
a8 2014 =1 WG T 35 370 1.50 20 15
%
®

HoF 3k



1.5 39 SMUNGA WU MU 3T TURA MR <A AU R

HEFIUl Sieg] Tl fhHdien o Aifedreal Uas e oreaed = SAENe fhal WAk ER
Toasfoctien o siha O« 379, | @Il RO SR IRAdHE] STeRdehdl 3. SX gore fwda
3] HIEES! BN Hidh THS[ SATATEl SAaed® Scd- ol @ 3T=a STYR Hafoeiedn o siehmee
q THSIO iUl HEd, s Tacl STHR THafoeiean Y i TaRka SUR=A1 o 3T aiedid e
EET 3T HleA A FEhia FHs0 g9 B 7.

ST S0 HeR e ARG g=eh 3 UK ST § Ve TEd. ST IR Woka STUR = et
FIA SR o Hehd IRed el T 1 YA SThTered ol I BId. 3TN IRFET Wi SATEw=
YAk SR ST AEN=AT Yo TR aRad hodrel AEedehdl 3cd=1 oid. el Qe STER
YRedH 0T 3.
STYRT=AT g TR IRed F0a g3 Ty o 3R,

1] T ST STEN Yadh ik

SR A S wuﬁwaﬂmmsﬂaﬁwmx 100

Hig : ST YR a1 Seeid AT STell THe R GIH IuiEed Yoo 3h 100 =% 1. ST SR
3G AN S R GIH FuICT THe AN ah SR YoH Uil WaRkd SER=l §ash 36
WUH ®% A
T 8 : TehHT TA TN AT SATGAS Wil feredn 7ol MU Uegdi fHesfaaean gae

EL] 2009 2010 2011 2012 2013 2014
3T MU Toieh 3ieh 120 132 96 144 138 108

Y YR T I FHOAT SATTAT THCAH FIHAAES! TARG SATER e 3k 100 == 1.

e SN ST SR Yereh ek

TORA ER e 3k = S ————, 100
EL ok 3k TURE MU= geieh 3(eh
2009 120 = 100
2010 132 B % 100 = 110
2011 96 25 % 100 = 72.73
2012 144 B % 100 = 150
2013 138 12 % 100 = 95.83
2014 108 195 % 100 = 78.26
(16)

TR STITEA : U 1 : TIT 12 —/



ST 9 : T 2007-08 AT YN TN HSATS WSl Goeh Heh WICTAYHTI 8. S WaRd
MR Toeh ek HIST.

Gl 2008-09 | 2009-10 |2010-11 | 2011-12 | 2012-13 | 2013-14 | 2014-15|2015-16
HTSIATAT HIAT=IT

126 130.8 1433 156.1 167.6 177.6 1812 | 1772
e 3k

JY SMHR I8 2007-08 =1 S FAM Al AR, @M 2008-09 =T THER=AT T=a AER S
gas o foolel o¥d el 9ERa YW=l e i WU RS Al e YUYW auien WuRd STuR

gad AH 126 BE.

=] SN=1 ST e Yereh 3Heh

T SR Yo e R ———U
T WSk el . )
EL ‘ TURa TR g 3
gk 3ich
2008-09 126 = 126
2009-10 130.8 % % 100 = 103.81
2010-11 1433 % x 100 = 109.56
2011-12 156.1 % % 100 = 108.93
2012-13 167.6 % % 100 = 107.37
2013-14 177.6 % x 100 = 105.97
2014-15 1812 % x 100 = 102.03
2015-16 177.2 % x 100 = 97.79

fooien o18d, W TT=Eed oT9d STUR=Al Y& 3% IMUd Isd. TEd SUNEl Yo% [Hesaeardre!
o aue TR STYNA Ydeh Sihlel Al STl g€l S9d  STHREA {de  SHehren 100 |
HITOATd 3.

HAMGHR =] T ST SR Feeh 3k =

100

A & Ugdl SRR HHSTH B,

Heleh 3eh



T 10 : T 2008-09 A 2015-16 T Trer USTAt=l WTd GURA AN fHafacel o 3 @retaraHrar

1.

3ME, EEA T YN ok 3ich WS (MUR a6 2007-08 . )

EL] 2008 -092009-10{2010-11|2011-12{2012-13|2013-14|2014-15|2015-16

e ugreien

st 134.8 11528 | 115.57 | 107.29 | 10991 | 112.80 | 106.24 | 102.48

IY g9 2007-08 T FUR o8 A AR, A a8 2008-09 HS T R Fah 37k TGN
L.

R e siw | | s emeR e st

e T = SR YR Sk = o

e Ut .
ad . A AN Geeh 3k
go o

2008-09 134.8 = 1348

2009-10 11528 “5281& = 155.40
00

2010-11 115.57 115,57 x 15540 = 179.60
100

2011-12 107.29 107.29 % 179.60 = 192.69
100

2012-13 109.91 10991 x 192.69 = 211.79
100

2013-14 112.80 112.80 x 211.79 - 2389
100

2014-15 106.24 10624 x 2389 = 25381
100

2015-16 102.48 10248 x 253 81 = 260.10
100

@A 1.2

TR TIT=A a8 2008 2014 THd FHEi-IcaeTr=a WAk STHR fHesfaccl @ 3w @refayHm .
e FFA YR Ak 3w Hio. (ER TW 2007 =)

STHSTIMEA : W 1 @ TIT 12

EL] 2008 2009 2010 2011 2012 2013 2014
. 100 110 95 108 120 106 110
Hleh 3Tch
(18)
—/



2. a9 2007-08 T STHR I8 B Gloilel feeiel! a5 S0 I3 A Hhdh HET=A1 T9c =T §ah

EL) 2008 —09 2009 -10{2010-11{2011-12{2012-13 2013 -14 201415
a7 qfur EF |

. 117.4 118 121.3 125.1 128.4 131.6 134.6
Ok 3k

3. STRER= SiEfTes wETRERE ad 2015 = SHER YA SfeReR Afgen Td STERMET STEe SR
Tad 3w @iefaqul fooe e, @EeT WaRkd STHR goedh i HISL

afgr . | e | W | U@ | B | SE | SO | et | | | SfeR
ST
& Hidh

271 | 270 | 268 | 268 | 278 | 283 | 283 | 293 | 293 | 299

4. 982010 d 2015 Fq= Tl Whet=A foshiel TaRd STER fHafaeen e 3id ErefiayH Il 6. e
FEA STUR Yh i AN

EL] 2010 2011 2012 2013 2014 2015
il 110 112 109 108 105 111
Tk 3k
%*
1.6 Teleh 3iehTean HISUATST shTel fafyre g3

FOHES YIF SR TN Bar € e, Yook SR W Wl T aTdr ST g aqen
TH 9 He™ UM Ad WY FIeNd Y0 YAE aRE Hew WHM THd, Sy Wb s
e TR, oe Hew WS, weurd fHel WRNE 0 e AR e S AW Sae Hew o
YO AT eIl YR QUAT Adl, deaTd Wredeidfel e e andfae offor steful 2.

NToTed] YAl o el @id GHIfate oqel R Toehl Hvam dal. gae i @&
AT YR WY AT AadTAl AedTAl SR dh! . o el dalid 9 Y STl
Td R Feevar=a sieTedl TSl TR gaeh SRl AISOiHIS! Hial ofafes §H Aed. STl T
T S HEL.

wiRa GUEel ggdl : TUS HI g, diges SN e awqen we (fhar aq) Yt i =0 SgEmet
ok 3k [, FEA A0 N FAI®Y YR W, G, W B GHREl E Ik S @i P
firaferar Ida.

®

ok 3fdh



. SIW,  SIW
IR S L= St = Sy

dig : AU Weddedl S MM 7 A ST ST (Suffix) 77 @ e,
3] SR AT S FAh ek AR 120, 150 STMO1 300 S A0 A=l AT IR STIRA 3, 2 07 1

. sIW
YA W N TA TR HHAE IR Sh [ = S

120 x 3+ 150 x 2 + 300 x 1
3+2+1

360 + 300 + 300
6

= 9260
6

= 160
AT Ha (Laspeyre’s Formula)
o 3 AHUIE € UGl ARG QUAW el . Fud 3k WAl € Uk Hewr =l qgdl

3. & YSAmed SR AR au=a Wl po S diedren (Sedl) g 7 Seifavan ad quE awen
T atEN WA P Y SRifavAW . W@ wme A- @ @d P g SEel WR 3 adn @ usdn

Po
THosforciean i U= e ATeaT=ar etk 3fehral I3 WU A0 el Hehed [, = <Rifear.
AR YA Qg 3R,

Z[ﬂ}x Po40
e gEw stw 1, = L1 7 00

z
I, = 3y x 100

urgre GA (Passche’s Formula)
B 9§ IRl AT SAReSRISEH ool 3T, ST py @1 ¥R ¥l W@, ) & = a9 9@ S

%wmaﬁmww,mmaﬁa%wwpo%wﬂméwmﬁ?ﬁ.

T Usdy fHecen vk auEiea e IR g9e S §F WO, el Sehdd [p 7 S,
TR HEH S IH GIeyH S,

41
_ Z[ﬂ X Poth

EINEIC e | x 100
r Zpoql
a1
X — X pnq
= 0T 00
Zpoql
_Ing
wIp = Tpg * 100
A
Y

STTRSIITEA : T 1 : TIAT 12



fRy=l @F (Fisher’s Formula)

TR S0 IR UGdid SAshH SR a8 ST =7e] a¥i=a diearen (SeAre) YRe= HiSivid aad
B, U1 SO fReRA SREl auiean Wil @sId S @ Yoe SRl Lol ohell, WRUER ST urereA
Heeh el O Aeehiell Thete=l Yo 3 WUMM. el Fehdld [, 3 SRifaard. e g=e s
T GIATTIH 3T,

e g=& &% I, = \JI, x 1, TR

_ \/ZplqO o ZPq < 100

o 3% Iy ZPodo ~ EPo%

fRe= gEeh STohrell Wil FRHes TSy gaeh e o :

(1) g9 ST WAd YR a9 offor =1 o ofen el aie Wisden HSivid e A,

(2) I AP IF A IR T (F) fawatm onfn ue fawate I @ gue ofw wwee
.

(3) & I HwrAl HEUIG TOIRR FEFRMET ST Bl WRUE B YAk SHh=Al EHEel O
TS 3.

(4) T Iw i URUEHE e HROT A1 ARIER ST IR gEeh SNl QAT HHAA Sl

IEET 11 : UTE HTeTedl I&gen Wre 3T WR a1 fausi=n e Aifedess a8 2011 =0 3T

2016 <7 Godh 3fch WA TUEIAT Ugdi HIST.

aa (%)

g 2011

¥ 2016

40

160

200

25

400

600

5

50

70

D

20

10

18

E

10

2

3

Y A-ATe AR fooel 38 & 2011 =0 9em=a STuR a8 2016 =1 W@ qug Ay am o

SFTE AU FE.

(21)

\_/

eleh 3ieh



aa
U ®) o
qE] I= P X 100 mw
w Dy Pq
A 40 160 200 % x 100 = 125 5000
B 25 400 600 %8 x 100 = 150 3750
C 5 50 70 % % 100 = 140 700
D 20 10 18 }—8 % 100 = 180 3600
E 10 2 3 % x 100 = 150 1500
THUT 100 14,550
- . _IIW
2016 <1 A& 3k | = Sy
14550
- 100
= 14550

SRR SAHR I8 2011 =1 god a8 2016 =01 9@ (145.50 — 100) = 45.5 % WAl o1& el 3™
TEUTAT.
[REOT 12 : Tel Geiean @ UeTei= aigel T 3Tl iR Aifasei=ar "ifgdiae 2015 Fuier
MU 4 U3, T8 2016 TS WA, T AT R g i v

a8 2016 a8 2015
T Teheh
g (%) |rer (SeAT) g (%) |rar (e )

iees feretm 40 1.5 fowamm 39 1 forarm
LG [GIEn 44 10 @ftex 40 12 &

EES freum 50 1.5 foeamm 45 2 foweum
sl el 36 1.5 == 30 2 T

@

STRSTIME : YT 1 : I 12



39 SR Tl WE p, I W@ g, W AN= W@ p, I FE g, B NS AL

a&] Thch Py 9 D1 qq P14y Po4y P11 Podq
dige | forammm 39 1 40 1.5 40 39 60 58.5
EC) [giE: 40 12 44 10 528 480 440 400
ES) e 45 2 50 1.5 100 90 75 67.5
el EEE| 30 2 36 1.5 2 60 54 45
THRIT 740 669 629 571
. 2 P14y
AR Gk HEm ], = Tpg, X 100
740
= %60 X 100
= 110.6128
=~ 110.61
FTMIHR SR o 2015 =41 FHamd a8 2016 =01 TR @=id (110.61 — 100) = 10.61 % TI@ el

qE ;A SR

R e 3

Ip

629
571

2 P4y
X Podq

x 100

= 110.1576

= 110.16

x 100

STOMYRR STTER a8 2015 =1 |UaTd a8 2016 =1 THU @=d (110.16 — 100) = 10.16 % TI@r wE

EIEISTI 3
fercan =k 3

Ip

= JI, <1,

110.61 x 110.16

110.3847

110.38

I

x 100

STMYHR STMUR I8 2015 =1 FU&@ a8 2016 =1 TR @=id (110.38 — 100) = 10.38 % TI@l

qE A TR,

(23)

"/
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T 13 : TIeie feeiedn Aifediee 2015 &1 STYR I8 U 934 a8 2016 96l AU, uIsr Ao
firoTten gk ik HIST

aa  (3) |rar (9TY)

aEq Tehh

T 2015 T8 2016 T8 2015 a8 2016
A 20 fodmm 300 440 5  foramm 8  framm
B fo=a 500 700 10 foarmm 15 T
C e 60 75 1200 7 2000 T
D X 14.25 15 15 HX 25 HiX
E X 32 36 18 ofi= 30 i
F R L] 30 36 8§ 10 =

Y YR TN 2015 A7 =1 I 2016 TR, M T8 2015 A 9@ P S0 W& ¢, I8 2016 =
a|g pp AU @R ¢ ¥ A

Y IH A4 &I 9@ U 20 R AR W A wiedl THH R e, 9% B Wiel vwE
gfa foed e W =1 Wieal THA fRamm™ AR, R C A 9@ Ud R SR W W= e
THA T AR 9% F9 9@ S AR R dedEl UHH T AR, ® IR gWEel U TEhE
qE=T HISON ST TAgHo e,

af 2015 WEX AR A4 W 9@ Wi 20 X 300 SR @S @ e i o= 2= 25 faed,

TETA 2016 WA w4 W@ WA fEm B = T 22 .
a5 B WSt ufa feded Uam ufd frmn swifawl otige da.

g 2015 90 W f o = A0 = % 5 e wd 2016 WA wfa fEm v L0 = %7 fed,

IR C =1 greamEn e 9t fR oTR. AMe iedrel Ueek Wid TR <@ifal sTga BiRa.

_ 1200 _ _ 2000 _
e o 2015 %1 Wl = (fo = 1.2 fRw emfor = 2016 Wi wer = <0 = 2 fRw Ea

W F¥ 9@ €M SEifgen S, df W@ W A Suifou A Pd eRd. @Me 9 2015w Ui

=mmar=%=%2.5wﬁ1aﬁ2016mqﬁfqﬂm=%=?3%ﬁa

A AFAET Y SThrE A @IagH T w1,

(24)
SR STV : YT 1 : I 12 "




T Tehch o 2015 T8 2016 P14 Po4o P14y Podq
Py 9 P1 qq
A T 15 5 2 8 110 75 176 120
B T 5 10 7 15 70 50 105 75
C Tt 60 12 75 2 90 72 150 120
D e 1425 15 15 25 225 213.75 | 375 356.25
E QIS 32 18 36 30 648 576 1080 960
F T 2.5 8 3 10 24 20 30 25
ThUT 1167 [1006.75(| 1916 |1656.25
. 2 P14y
A GAF SFE L = Ty % 100
_ 1167
= Tooe.7s < 100
= 1159175
= 115.92

SRR ES 2015 =1 qerd a8 2016 =1 TRUT @1 (115.92 — 100) = 15.92 % Tae! 916 St 378 T Jgal.

TR YEw S I, = 5542 x 100

_ 1916
= Tosoos5 > 100

115.6830
= 115.68

STOMISRR S 2015 =41 TarTd a 2016 =1 Th01 @=td (115.68 — 100) = 15.68 % TAE! AT el 374wl Jal.

ferce ek 3 I

I, x1I,

J115.92 x 115.68

115.7999
= 115.80

STOMISRR S 2015 =41 garTd a 2016 =41 Tehv1 @=id (115.80 — 100) = 15.8 % T o1& TG 378 Tl 5.
[T 14 : Tiela fgeiean Afediass ad 2015 91 eyl goeh ek HiSl.

T MR ad 2014 o] a8 2015
aa ) e & () et
4 16 10 20 1
20 9 24 9
C 32 16 40 17
©)

o 3E



TR e ST oAeel gaeh 3ieh dHad e, 3% TReRen g oid Sy a9 o7t SeR aeien
qE py M &6 ¢ THE @I 99" W@ pp S "6l g u

aE Py 49 Py q4 P14y Po4y P14y Pody
A 16 10 20 11 200 160 220 176
B 20 9 24 9 216 180 216 180
C 32 16 40 17 640 512 680 544
THUT 1056 852 1116 900

. _ 2 P49 P4
foreren gereh 3 1, = \/Zpoqo X S poar X 100

1056 _ 1116
852 X opp * 100

J1:5369 x 100

12397 x 100
I, = 12397

STRIYERR SRS 20 14 =41 |1ded =1 asid 2015 =A@ (123.97 - 100) =23.97 % Tae! ale S 379 FUrl J5d.
T 15 : Ui T &= AR AfuT TRHUT @< Arfawt Aifedt @t foeiell 318, 2014 @1 MR a9
g7 99 2015 WiE fhyen goe 3 i

YR a4 2014 o a6 2015
a&q
R TR @ R TR @

A 50 femm 2500 60 T 4200
B 120 fom 600 140 fom 700
C 30 WX 330 20 R 200
D 20 fom 360 15 fom 300
E 5 T 40 5 fom 50

Y TEgET AR N wH e SR,

(26)
TSSO : 91T 1 : 3 12 2



T TR G = (T 90 TEE WE)  (TET AR §e)
_ T T G
J&EIET gfq Ucheh HId = —:g%gga%%;%r—

e 1 SN e Godeh oE o=l Yid Tk Hosel,

YR ad 2014 o a4 2015
RS il _ mmE
g | WO | P T T g WS P = T g Py | Podo | P111 | Pot
99 Py q1 Pq
A 50 20 =50 | 60 | A2 =70 | 350 |[2500 | 4200 | 3000
600 _ 700 _
B 120 80 =5 140 70 =5 600 | 600 | 700 | 700
330 _ 200 _
C 30 30 -1 20 0 =10 300 | 330 | 200 | 220
D 20 300 - g 15 30 = 20 400 | 360 | 300 | 270
E 5 D=3 5 2 =10 50 40 50 40
TR 4850 |3830 | 5450 |4230

4850 5450 % 100

3830 4230
= JI6315 x 100
= 12773 x 100
I, = 12773

STRMIRR 1 2014 =1 qerd o 2015 =1 THU @ (127.73 — 100) = 27.73 % 9@ el AR o™
Ul dEal.

Helch 3Tch




AT 16 : TehT 3ifEiiter foamdier SiiEfileh UehHId ohiH hiUT STUT el foaia @rom=an
FHATATAT ANTATH TR A UhaHe h-u QT Ieal HaNuamE! e
faurmg a6 2003 WA HEfTeR Ushehdrel Miya e 3iAA udd SITelen 3. 1
e aRoTH URUATETdl shetedl quTETd @l fowdma @ 2003 STfUT 2008 =T AT-aTedT
FANTETA h-aTAT M Yo Uraeiedl SHfereit Aifed! GTIgHTor 3. & iienfie fawamrean
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Irving Fisher was an American economist,
statistician, inventor and Progressive social
campaigner. He was one of the earliest American
neoclassical economists. He was described as “The
greatest economist the United States has ever
produced.

Fisher made important contributions to utility
theory and general equilibrium. He was also a pioneer
in the rigorous study of intertemporal choice in
markets, which led him to develop a theory of capital
and interest rates. His research on the quantity theory
of money inaugurated the school of macroeconomic
thought known as “Monetarism”. Fisher was also a
pioneer of econometrics, including the development
of index numbers. Some concepts named after him

include the Fisher equation, the Fisher hypothesis, the
international Fisher effect, the Fisher separation

Irving Fisher
(1867 — 1947) theorem and Fisher market.
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“Can we say, in this case, that the cause of a cause is the relevant cause 2”

— Johnny Rich
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T aifter fasRn ST W STHdl deel SReR el TR S Sed svarE g1 Swfaar
FHROT i AEET B e Iearfed awqEt faset’! o e B T’ Hey e S feRdt s
§ THS. e fownde aifteh geiREE ST JIae S aigEn W ST @ /RO, e o
st &<, A enfor e S, 9fd ueie e AR WS 3SRl Sed S Seltel SIS HeY qeread
fyesdr.! YA e URfErdid S0 U Y I N QM doiHed Hed ST,
Y0 &I GHLOMA S0 A=A Yo SF qR Feifea =renfowdt wifedt fHess,
qiq :
e TUH Fanfawel Wifed! Ths #ed fHefaciedn faaomen we=ed (Univariate) faaRor weummd. 3.
wEEn favam faenea fhefaciel 7o, TEmn o S FRoT SAfdde qided I, W IR
(ST) =01 99 P a9 - a« oo

e TTERN UHHEA T IN-Nleodl TR UhMoed! THa holell Hifed! fgaa R ST e
frafacean faaomen fg=ra (Bivariate) foawor w=umm. Q. &= W@ A0 @@= qREE], TETE
eI Hearal Hiigw @9 A s=a, didd 99 e goie a9 ard foa,

e THMEN STy =eiren fohwdid Tehraciedl RIVF WhehTal ST+TH agacid 3T ofiferh Hededgn

8% Wehdl. W FY GO HE IH FAH HeHAHE FEH FE L

2.2 QW@ wehsyrar g onfur |men

FAYYH AU FeGaHrEn A AN B, A1 I Hifsd! 8 &, THhal aF =areA fhAdd
ThEoe Feh Jeaae fHeedl, B Fleh U@ S JohRal 3T Tehdl.

SEf
(1) <9 Jare wE HROT Gy,
(2) THA TR FRUHS el FaArl Thadia SIOR .

T fIERde st ISt ST digesre 3ca 30N HiSd GHIU Uihd dleedrd (37 qaid
T) W A a1 dled S I HHl TSed™ digesre S Hed. 99 IR § CHRU SR W diga
3O ¥ HHE SR, AN Afd S AREY 3T T el WY aeedd S9d HH B ST @
FHH A o dled. AT TH ¢ BRUI W TEd § B AR, ool S SR Sl T BN ek
FHE-HRO ey Al FRG@ Qe To TERER STHRG A Teulsl Tl Joren il ST geee
‘FR0’ o fAfyaae 9 weRd AR SRl S I (Economic Variables) =T STEd 319 T ek
3T TARTON SO qREReR ATV aTec! T YREel aTeduarel SAevdRdl e, (¥ el ¥R BId AEl) ST
ST 3T dTedl Teal 9Td HHI SIeEE AN S0 e HETU dTed. STeYehR AHTON S0 qReS TR
YRGS, A=Yl 9fa T gefel 99 e IR 3T 3.

Tehieel fashl ST0T roreiedl el fashl ISAONA Qiel wair=Al fehid! Irerileodd aedid. a9 Qe
A Yedel wRE-HROT Hay AR WG Fehred okl oTfor qremdt ureAmd e foskid 2o e fawa
T UEHEAER AT 3. § AT HRE-HRU T I AR,
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T AT Hele IR0 AfeeATHR STIUTH Heds e AR WITTTHT0! Sal 95e. SR S w1 fhwdia
Te e sTyIe - HRUM e ThTaoed Tieee eld oTd, T SF Jaldil HeyTel Hedeay WO, Sieal o
ST ST T8 He YTl Y@ Hedt T, SH I Fifidel a i Hedsfed Jeirea fehadid 210 &k T
IO STHE, T M Fad G3E FeHey 377 ST TRUdm.

e o ST sfifaeered 9 I Qv giE HeY sTewdl. TUSl TSl Jadie heeeH
TE I Ui ST9d YHIOG teee Bl

2., (1) aga=t e snfor 9

MUY Hifed 378 1 TN ageel=l {531 » Teheh T8W, X =1 URE 2mr BIal. SRR s
A 271 (3T9) A U0 Sl qRem= A fHeed, 9 |l I8 i uqHid WM aqerl qRem=
A A9 YHUNG W Bl S TIeld hIehesd @d e 7.

= (r) 2 3 5 10
uR" (2nr) | 4n 6n 10m 20m

(2) 3= T TEREN 9Sg™ FHueed STae AR de AT qeidi shaeiel  3ia,
SR wETEn qered el areren 50 fRfH 9 T o e RS AN de Mfyd eTEe yHmae
3R A, S Tefel hIhEoEd Hesl FH9 ¥ehd.

YATATAT ST HTUUATHIS AN 93 (A ) | 2 3 6 10
YUt haee 247 (i) 100 | 150 | 300 | 500

JHAL IQ. FAd S TN ST aufus =] o UHE[ 10 % 916 Fell ¢ Rl STERdd ARl
faepm 3cUTeA SISl IS WA YHIVIG dTeel. ST SIUAr Rl Sl =l U ST fieh SE STeh HeshTe
IR SGerdrd ST & Sial =aid BIVIN Wieleal ST98Td (Chance) T 3T9d. ™M IF HeHedd o=l
SrEten eEy fofg Ted W YT QR SHUE Y e,

T RO AU G FEHEUE S HE, A1 S AU Y@ HeHeue Y Hehsdd W],

Tedeu™ g&Id TF YHR STRd : (1) ¥F FeEay (2) HU HedeH,

(1) &9 TEEse : g1 Sl Hewdfud =eren fEada o v The fedid 2 eee del g
TN U HeHsY S8 S TRUMn.

TRET W@ 9 e, Al 3@ ST @, dfad 99 A Oefe 99, Tl el andel Se
STIOT STIETdi= S, TETe a&=1 fash! ST T, TETEN foandial e ST e 3= €1 99 Jeders!
ISR AR

(2) RUT WeHSY : Segl IF HewHsiuq = fhEdde S W ThHeTe favg fovh otie ®
1 EHE RY WEHEY AR Y WU

IWE HE AT WA, HAfadelr @ Sl wwd, fedledrdid Yad AdHM STl TRA husdre
forshl, THSEIIEIIRT TETen Teesr= 3= T 1 Te=A1 galdiel SIS GHT0T 1 h01 HeHseHT=] hTel ISl
e,
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2.3 HgHaY IMUT HgHalich

o e HeHeurEn e oo e =Wl hell. G HGU A Uk AU HedsHiw Afow
RICERIE

M TN G HedeHT=Al "sedadl (Strength) A HeHadich UMM, Al Hehad » = qRifaam.
TeHeHh T SF Hedeyd JamHie @ dayidEl "tsedl fhal A (degree) SRR HEATEHE HIY 3R,
¥ AU gEyeH e fomdn gefaa.
WEHSTAT TSI gt

TF FAMHE ST FeHey™ WEY A0 @ HeHr S Ted e gee Wil UG
EERIUER-CINE

(1) fafwol eTRdt 9gdl (Scatter Diagram Method)

(2) ot foEEE=t TEMYE 9Sdt (Karl Pearson’s Product moment Method)

(3) TogsTa=it Al FedsHil 95l (Spearman’s Rank Correlation Method)

2.4 faferul emreRdt UgHr

wfTsSd=n e Il

TS, 9 X SN0 Y = p fhAdie wias stiea (xl, yl), (xz, yz), (x3, y3), ........... (xn, yn) 3R
FeAreAT TohRmeaT X-37aer 7o =t Y =41 fohAd 1 Y-318f/e’ g Hq9HI B ST feqor #oard 3.

(xl,yl), (xz,yz), (x3,y3), ..... (xn,yn)wwﬁ@mwaﬁﬁwﬁﬁma@wﬁwwm
FRUIdI.
WWW@T%@W@a&em)WWWW(ﬁWW)WWW
WEY A0 HTSd HIMIHRR fHeefaard o ST9o7 a1g. .

¢ S fafertt stepdta Ferw fofg T W
WeR o o @ Q@ et
o SSTATSIS[she aeeA] fewid S e18el W 1 <
® o X 3 Y wed Squiuvl oF Hedsy TR
© 319 <iferd.

© SR S8l e fohwdia SO e T

® e a1for st=rel JHTOTd Bld 318el TR SToTd

© T yERE fafeel Rt fied @ e
S0 X TSSO 3190 Teh 3ROl oS Al
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IEOT 1 : THIT SAAEA T 3,00,000 H&5 Ut (Standard deduction) HedTHal eredl THUST 20%
T 3T S &Y (income tax) TN Wl Uiel Sfaddel alfbieh U (taxable) 3=
2MTYT TR ARTUTR 3= hY ATferoree wifeet fooiel me.

HAferd 1 2 3 4 5
HOU S (B9 IT) x | 50 | 30 | 80 | 20 | 100
U & (FRR) y 10| 6 |16 | 4 20

T Wifediaee faferul 3Tehdl ohTel MMTUT TEHseTTasT =i .
x S0y =1 Hifen Se (50, 10), (30, 6), (80, 16), (20, 4) 37for (100, 20) =41 &Y foigT sfei@

TR SR 90 @ieiayHl faferol sfrepdt fHesd.

y JHOT A . X-3787 : | G = 20 §9R T
» Yoot : | 9t = 4 e 2
0 + )
I [ ®
kv
E 12 ——
E ®
8 ——
l o
4+ ®
£ } } } } } > X
0 20 40 60 80 100
\4 <— &UH 3G (W) —>

9o difeet w1, fofertl afrepdia wa= fog Tha Q@R 3TRd U § U @AW od i, G-I
T X = fohad agad q9-a9 9 Y =1 fhHa Ee @ fod onfn see g sk @R, (TR o
Segt X = fRmden 0.2 (20 %) 7 U R A hide Siedid e e Y o fhua fHed. @me
IY TR FA X A Y AL HAYHONG EER BIAL) e 9 X S Y #E EU ¥F Hededy AR o™

B G EH

STHSTIEA : U 1 : TIAT 12
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y SR fafertl strepdia o= foig T gaEeR

S
7

® A A G SAENEHST SN
® Grefie feRia ST 3T8@ T 9 =a X ofifor ¥ 9ed

® YUl 1 Heday AT Y Teifered .
® g1 St Tl fehAdidieT Tieh TehHehT=
fovg e anfr sora yaOMG B oA el
ST B g fafert st e, & e

0 7 THSTATEIE! S0 T I B 7,

\

IETEUT 2 : HEAH ST heaTall HITHeh @l AT W Heh: Sad ANl Hoiel GHuardrd! 5 fearar @< AT
ST A9 SCTTYHTuT 31TE.

e @9 (TR %) x 15 | 18 | 8 | 10 | 12
g sea (g9 T) 5 2 |12 | 10 8

T Hifgdiae @e U7 Seaueitel ey gyifaund faferut smerdt wrrer onfur wm edsiifaset
==l .

x SfOr = i STren (15, 5), (18, 2), (8,12), (10,10) 31for (12,8) o1 S7q&d feigl SATerEwsier
SRIfoea ST @Tefiel Yehrel faferol eTrhd! firesd.

y AT A ;. X-37eT : | 9 = 2 EeR T
N Y-31&1 : 1 96 = 2 B9RR
2T ©
ol :
(2
8 T ©

<— wrfaes s (
®

2+ ©
< : : : : : : : : : > X
0
2 4 6 8 10 2 14 16 18
v <—— Wit TE (TR ) —>
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STl aifeet i faferol stiepdia To= oy Tha Q@ER R4, MU § @A U8 Wehdl i Si9-Sief
T X+ fhad seerd e Y fhea e faws fova ffed y9mome aeed (qaEn w6t Hifesw e
feoR s Wifgs TEia o (fhar @) gz wifas s=did T=9d gamnd = (fhen ae) Jeaas fiesd
TS UM A hl, IF @ X U Y AL HYU KO GeHeY SR

S fafertt eTepdia wew fog wer Q@ Toda Wy o
= ST STEAA ST T G STAENehed SRS
Tl fRia 9. o18d, W I 9a X i ¥ ued oAifveR oF

®© © Hehsy 3R 39 SN
o © Siegl T Ferdiel fehAdid BIOT Wi TehrE foRid 3T8e qu1

B Teh 3TIA YOG 9 o)l AR STl fHead. § ST9ur
0 Y U ERURR gEeEE T,

i : GASA I Sy FHSOAEE G0 AT JHUER STRRAMET FeEl S wedsdie
IETET 3 : Teh! TAR RUS HIUATAT U cheledT SISl el WITGATdiel Siedd e (& er@ X d@ ) it
wHUST faeht (U8 T ) WIETAYHTIT &,

igtd @< (F|T o> ) X 5 8 10 15 12 9
wuzaret ot (&g J) y 20 30 50 70 60 35

T Wiiecdtae faferut aehdt gt = WedsT=i == &
A x S0y oA kA e (S, 20), (8, 30), (10, 50), (15, 70), (12, 60) @0 (9, 35) @1 FLEA
g ST eeR Rifaedr™ AU Erefargam fafwl et e,

y

JHOT W9 X-37&7 : | 9t = 2 (S8 @ )
80+ Y-3187 ¢ 1 9 = 10 s T

701 ®
601 ®

50+ ®

401
30+ ®

20+ @

<— FHuS fawt (FET) —>

10+

‘1:2:1:5;;1:01:21:41:6
<— Sfeuaten @ (g @) —>
fafertl sTmehdia SATIUT OTE. erhal i, Fal foig Toh1 Q@R TR A9 Sfeudr=n = A fosmidia gIom

ek T dTed ST e TR, W 8 e ST9d UM L ™Mes ¥ g T et A

TE. TS AU WU ¥hAl &I, IH FA X S ¥ WA e €9 Gew oTw.
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' s fafepol snepdidier Tl folg T graer Todia =y

N G A SAENhST IS s @i e

® T ST, T 1 S = X S0 Y e ST v gewey
© e 379 qEifad.

SRl S TeAreAT fehmdia e et fawg fewia €
STHT IUT Tk STHE TG TS O STAUIE &I YehIe STTeha!

4 fHezq. & T 37T WehT SR U,

T 4 : FEAAT TR TR FOME Teh hU @ GyrEer W @Al  AETUiaR o aRems
HHSUATATS! FIASTAT 5 AlGATA SAT-2Tes WIS S Tt WU foreeit Wiefrergdrot wifeedr fHesferd.
o faerean mifediaes fafwut amerdt shrer nfuT FEdeT=T TwuT=l ==l %

g ) x 12 13 14 15 16
ek ARTUT (TR URH ) y 45 35 30 15 10

0

x AT = shfdreh Siresn (12, 45), (13, 35), (14, 30), (15, 15) 301 (16, 10) <1 &Y foigH Sei@wsrer
TRifgear ST @Tettel fafersl efrepdt fhed.

y

THOT W9 X-3%e7 : |1 Wt = 1 ¥
454 ®
Y-3181 ;1 9H = 5 R THH
40+
T .
E/ 30+ ®
E 20+
E 154 ®
‘L 104 o
54
N— } } } } } } x
0 m 12 13 14 15 16 17

«—9a R)— >

faferul sTepd! SO 9g TRRAT, w1 Fow foig A QUEER TR AY 9@ ST AFIHE SO W
e fagg fodd Sl U 8 e oTEe YHIOd AL e 9ad foig T e sTee AR e
YU W] Whdl i, SF I X ST ¥ WA A KU WeHdw SR

Y JicAT A I Siewl oy TERn e FOa SHdld, W AfYE e Hehsy quifaan S
Sl foig e green AEY R THd faERee Sdid ) HH e gedey gefod.
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S fafel sthda we= foig
Iefese R fagReal e s

@Q ® e Eﬁ'ﬂﬁlﬁﬁfgﬂﬁaﬁl(paﬂem) e T9d
@ @ ey
° ® 50 W @A TeHaHT A9E Fafodr. SR
© ®eo o
© o SAYOTE &1 JehRel 3Tkt fHearedt @@

T g, kT I T grg ey
Aeeed AR A =AW @

yd N
-~ 'x

0

A\ 4

faferut sehdi=ar U=l IUT nfuT waler :
T
(1) TH Joiel Fedey™ WEY geuaEl & Uh W Usdl SR
(2) T TIOTA [T STERIRAT 3TH. SR hi ST Toigea FEquT [ Tes! Her SAeaeah 3T,
(3) T USdH IF TG ededEl "ieddl <@id Oiel heddl Ad.
(4) fafwol stepdia foigg wemueR faERee 3TAM @EET TF =0 U@ oy 3 &1 ARl At
TAES A
(5) Wfedidict el sifam 9radish (extreme observations) ST TV FeHeH ™ &Y THSUIY 3790
qed .
'HTI'[ET:
o USaH Feday @ fawdt Aifed! fHesd STfol deiumen s Tedfawel orer Afedt fHeed W
wfted faweht fafya o frefam a9 =Y.
e 2.1
1. TH I TIR FHO hOHH AT Faid S [aehedl SOt Siad==n 9@ (3 ) 3T &= i@l
(TR Tehdhld) AMHTA HoY FHSUATES! @I AYHTY Hifgdl Tehs hetl, eed fafertl afiehd i@l STl
= e &,

g (%) 14 16 12 11 15 13 17
TTfeh qeT ( TR Ueheh ) 32 50 20 12 45 30 53

2. TH iR HARRR HTH HREERE SRAL Wi TR 6. A [Ohide! sheled Siieddr=a @

e @ (98T §9R ) 5 6 7 8 9 10 11
Tt (@ ) 8 7 9 10 13 12 13

1 Hifediae faemiol el Fel 8= Sfedd=n T 7o TR, wie=n fasmies g Tw=n 7eid
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3. oS ww foadE -ofTedl IEUdiel JAaH qUHH S0 TRE shdedr fashiHeie HeY gHsaEet
Qe Aifed! Tehsl H0aTd ST,

R et T (e ) 12 | 20 | 8 5 15 | 24
TR SHUSATeH foehl ( TR Teheh ) 35 | 10 | 45 | 70 | 20 | 8

faferul sTreRd! wIgd = 3TefeeT &

%

2.5 whret Tud== TurgETEaTl gt

B Tededih HAUUH SAReRTER Hid UFET gaEfae. ™ e e dedeyis’’ WU sieedd
S @ TUATEG e WRUMEl HleEdld. el 4 SRifod.

AST 1 SF 9 X A0 Y o fHesfaerel! Tt fHewi=i 1 Tacieri=] Sirel (xl, yl), (xz, yz), ....... ,(xn, yn)
&, =@ X A0 Y Aefiet wedaiiaw r(x, y) fohen we » 7 i@ sfor a1 wreita Jed Hesfoar 5.

_ Cov (x, y) B Tt (x, y)
"= . T (x3 ufa) (y= ufa)

S-Sy
39,
TR (x, y) = Cov (v, y) = =Li=%) (i)

n

—\2
x ¥ e foereE = s, = (i)
n
¥ —\2
y yItE foEed = s, = = (iy)
n
x HEE = ¥ = %
Xy

yal WER =y = =L

g : WeeddIdl, 3T FedHey ST faq deaur=an s wew I T (suffix) | & Jesvamd STeret
SR, TYHT M=AT HISOid X WSt x ST Y WoSH p A SWRT hell IR,

Cov(x, y), s, 0T s, =0 IWYek fehwreld » =1 =it HAM AheA™, = @ietlel Ty AqoTE Hed.
) ()
TR B
MY Segl Tl WEEh X oMol y Ui STEdid R 4 S9de §AMET SHANT @
@ret Cov(x, y), S, aifor s, EIRCEISED ?@ feoiell oM.

Cov(x, y) = Eﬁfy;—nﬁ
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2
_ Xy _2
s, = _
y n y

HeHaYish r WEl T HEI G Tl .
Sl I(x-%) (y-y), x= wfa s, y= ufa s, a1 p W wwen Amm A seud sEes
TR & Qa3 a9E el

(xx) (»-Y)

n-SySy

S|l Ty, AEIE xSy, x I p = WA oNfUr p WREN AWM AU SAeEd SHeH
JIH Eeld g SR Iga

XXy —nxy

r =
n~sx~sy

SR Tx, Ty, Sxy, TxZ, Sy? AT x WA HGHAT S0 H@E FHAE 7 @il G SR A5l

any—(Zx)(Zy)
\/an2 - (Z)c)2 -\/nZyZ - (Ey)2
GO Sl Aegeh x fehen y R SRl QU sTElel deml Sl {EATEl SN BN
el TUIHTT Tedselichreal SRuT
(1) W JaMsd g gay TR,
(2) T TaME SE-HNOE HEY SR, SN @ YRREl HeH THd, W d Gedey UdH TR,

2.6 TEHSHeRTe TR
(1) vegsymerrEt ffad —1 o 1 Ffa=a sidied o7,
"N ®, -1<r<l
(2) UeHaHh THIIEEE HY TR,

r =

TF IAIA THH HIUHE! ATA A AT HIOEE! THH T

(3) X o701 YV AYfial Wededih q9@d Y ST X Held Hededie WHM ST,
‘%Uﬁ ‘elﬁ, r(x, y) = r(y, x)
(4) I™ g (origin) 3TV AY (scale)=n URETH Hedddh dgad ATl

WESA : FAS1 =a X ST Y 9l wedeauie HeaedEn R, el sau FeydH e =
u SOy o IR FE

_ -B
u = A gfor v = 2
C)C Cy

A4 4, B, ¢, M ¢, FIPA A(AH FAAH A& A ¢, >0 T ¢, >0
ST HEHeHThT= a1 UIEHEE THTd J5a i ¢ A0 v A Hededis Ao X oo Y 7efid
TeHdYish TRE AGdl. BN I, r(uwv)=r(xy)=r.
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5) r(—x, y) = —r(x, y)

r(x, —y) = —r(x y)
o= seodnm.

r(—x, —y) = r(x, y)
TN I 9ae AR Seavad o, | Uedeyie o deed L
p ( wusphad wredeh wiwdt ) N
F T heIAH AT SFIEI STOEM IHegd WIH dead. 99 fog (v, y)= @[ &H 95ad /g
N WERE WU WA Seed AR @M IWieg gRadT =t fhEd aer A,

T Y101 FeATeA fohtet sieR TETe 6 3T=al W& T[0T fehal YITUaTd STTet R el |1 (Scale) IRad
TRUTA. SHRUT <, 3TH hed™ AT S8 STE e d Gfd TehH H19 seerd. 318 shed™ 991 fag (v, y) =
UEGUEAT QAT T SEeld Al e WY (Thd) uiEddAr gedsdis oW fEud
GESEIE J

2.7 TgHadieh fehadrer srefaes

39U Hifed 3T T UeHaHiw T FANel Gegs e JhR A0 ufTsedr guifad. gedsiert fhud

Hegayihre fohmda Adeed Tl AU PR @& A Hi, FeHeHihrl fhud Tegadr YRR
a7for wfear Srafad. Uur Sd-hRor Wi 3w i AL BRER R S S Famie wr-shromen foher
I YhRAl HeY 38 § HH 3. » o fhAd IM Jadia wE-FROTET H6Y R © Suifad TRl &
e A& B AU 4 = fohedi= S7efeed HeRR Hl Jga o R Al

r=1% 3efEeq .

SR p= 1 SHA W AU G Ihal Hi, I FoAHHA WY 49 TeEeH AR, Sl Tehl =l i
BT A€ (SEMS) S SareAl fhAdd UuT STEe YHIUIE 916 (F) B9 8| W 4 = | BId ST Ferae!
faferol erhdia stome wea= fofg ameu=n fovd T gueer fHeda (981 Semw 1).

r=-1% 3ef"e .

S = —1 3TYA, T AU ] Iehdl Fl, SF TOHH Y01 R0 FeHY A, Sieel Thl ATl fhada
et (fohan =3t) o gE=N =err=n fohdia sa w2 (fhan a1@) 2d o18d, W r = —1 TIsa. o191 Folraret
faferul afrepdia Wew fofg =reom=n fRid T gueeR fHead (W8T 3| 2).

r=0% 3efEeq .

S =0 Bd EA W HAUU G kAl Kl A FoHEd Y@ FeHaY TR GEAT KM o= 0
T TeHedTEl v SEifadr ST WMe WM donve) W@ HeY Rl ¥ UMW, ST Helwd!
fafertl spdia o= foig acfos Tgdy foger (o R fhar f=n smem @) Jeea
THeadrd.

AY TG 1 HI, 4 = A e GRE TedeEl S Ted <eifad. ™M Sl o= 0 e, @ S
T G IRl I, TH IHY @ HeeHl e AR, W @ eEEn gEU SvaE gedey
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et FHedl Ad.

(0 <r<13mfr -1 <r< 09 NTSA) :

Sy fREa 09 1 = N fRal -1 @ 0 = SWIE #EE, W WIS SR sl <1 3EdA W
SO TG ¥hAl hi QM FATeA HEd iR Heddy TR, Sieal || = fREd | = Se@ o |, WA
i Thdl i, TF T daY YU g deYr= S6e AR, A HeY STfue e GG AR, STem
HeYTATA ! S0 Teh! =1 fehFed IO TehT=l RO SHIT Safrea fhdia shemgeri gidl = faare-a
s fhasfaar 3l St || = fhAd 0 =01 o ¥d @ 90 §F] IRl i, G@ HedeHE] sl
Y FHH M A0 IH FAmHT Y@ HEHEl Sow-Sde 1WE STHal. g URferdd v TRl Ser=Al
fradta B v g Sere fhAdeR e Bl wien fagrea e su fhee wehd AR

- ( wegeum r 3 sefEed ) N
IMfereh e &t ME wHU M Itk e

< - | 5 .
-1 0 1
J J J
Tyui /T Y@ wEHeeT Tqut e

N Y,
Hz -

(1) HEFUU QU p S AGUERE] &AM HER oy S0y WHUEORE &l, Wy A
SOvFHAl TE. W sEA A, B, ¢, ¢, (¢, >0, ¢,>0) = smHe A dwA o A

Sl gE 6% Wehdl. ANUH HIfed TR HI @ STHAAGA] FIUIEREN fhEdl B wehdl.
e p A fohdd agod AL
(2) T Tar=n feae Afedet s fadT=n IR P vedeyis o = . anetE e,

ST 5 : WehT ATH JTHTAT Welicder URAETST URERMel Jige=ar fqaar=an aari=n uieen aikony
BT GRUTTH STOT0ATETES T Siifgdh &THAT STHUTAT |id SHEAW=T Teh fHe9l I @iefte
et Tehs hiUdTd STt 318 :

Ve diF faadrdar aem () | 25 | 38 | 30 | 28 | 34 | 40 | 36
g fassfacrer qoT 65 | 75 | 68 | 70 | 72 | 19 | 75

T WiiEeiae Jraea div fqadr=an aremre a1t uierd fefaeer ot amefier aedseria gien
STifur | refEe .

JY p = 7, ArEAI(x) FEN qEET GEEH X = %:%=33,§m(y)wa°famnw
5 o= XY _ 504 _
y = n_7_72
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IY IR AEHR x ANy YUl SHAAN p HUUE GiefayH fHesfaar a5a.

e (9 ) T x-x | y-¥ |(x-%)(y-Y) | (x-%) | (v-7)
x ¥
25 65 -8 =7 56 64 49
38 75 5 3 15 25 9
30 68 -3 —4 12 9 16
28 70 -5 ) 10 25 4
34 7 1 0 0 1 0
40 79 7 7 49 49 49
36 75 3 3 9 9 9
ThUT 231 504 0 0 151 182 136
(x-%) (y-5)

151

= 182 - V136

151

= f182x136

151

- 24752

— 151
157.3277

= 0.9598

r = 096

VSR -2 (-7)

Iy ATAT AT TsA I 4 < ThAD | = @Y 9@ A A a=E qF S0 0 A e 6
ey 3R, aed 9T Whdl i =90l g feaerd e de sifie sEdia a aied sfes

U7 YT Bl

ITET 6 : Tkt YA foemeat=ht et fawardtar smae onfur stichemmeTdier e amefier Hateman
e wuarEst wel faeneaten fevt o @retar wifedt fuesaet.

TSR 0T x

65 72 66

70 72

69

WW%['TJTy

90 95 88

92 85

90

o Wifediae faeneatar S fawadier urmeficr wedsis die.

X

I n=6, x = =

n

414
6

= 69,

n

y =

71

1y _ 540 _
e = 90.




Y R AEE x SNV y YUk STHEAH r Wieiaywr fHesd.

TSR |3TheSITeTde
T el x-% | ¥y [ (x=-%)(y-¥)| (x-%)| (»-7)
X y
65 90 4 0 0 16 0
7 95 3 5 15 9 25
66 88 3 2 6 9 4
70 ) | 2 2 | 4
72 85 3 -5 -15 9 25
69 90 0 0 0 0 0
ThUT 414 540 0 0 8 44 58
Z(x-X) (y-Y)

50.5173
= 0.1584
r = 0.16
AY YA T IEA HI 4 =1 hHd 0 =0 o R, g forneat=n =8t fowai=n oM +d e
¥ WeHeY R o UM I3l

ST 7 : TehT HITTE ScUTET ShiUTAT UehT ShU-IM Jiae=aT Hel UfgTa faeherel Hiemsed (&9} Tehd )
YT Al AT (TG T ) i dquvier Wielt faelen e

Taehelear HiEEerst U@ (&N ) x 3 8 12 5 7 5
Tw (@ T) y 6 | 10 | 15 100 | 9 8

Qe faehelcar Hiemgetel AT 3T ThRT ATdiel Ggdsielich L.

6 ¥ - =X _ 40 _ 5. Xy _ 58 _
4 n=6, x = — = =667,y = —= =% =067

AY ¥ M y STV TS 0T X 707 ¥ =1 fehmel! R Hiea THeAN ®Hes $T9vl » = fohed @refierdol
fiyese] wrhdll.

STHSIIMEA : WIT 1 : I 12
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fasrerean Hregersit wT
e (TN THA) (Fr@ ) Xy x? y?
x ¥
3 6 18 9 36
8 10 80 64 100
12 15 180 144 225
5 10 50 25 100
7 9 63 49 81
5 8 40 25 64
Lca 40 58 431 316 606

nXxy — (Zx) (Zy)

4 - \/anz - (Zx)2 . \/nZy2 —(Zy)2

6(43 1) (40) (58)

J6(316) - (40)> - \J6(606) - (58)°

2586 — 2320
1896 — 1600 - /3636 — 3364

___ 266

= 96 - 272

266

B /80512

266
283.7464

= 09375
r = 094

Y U] I8 Wl hl, r = fHHd 1 =1 S AR AH Hielger=l fashi S0 @reliel Twmed affees

e HeHeY 3R
IR 8 : I WA TehT IEAA TSI IAqH qudr ( Qfedaw ) T urar e eletat
HATeTelt faeht (IR THA ) AT Afgdt Wi f[eeieaTa® <Aau qudT 3T Fewen fasht neite

TAaw qua (Afeaad) x 3 4 6 7 9
Eet=lt AU (iYW WhH ) y 16 15 14 11
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s oy o ZX 29 _ y = ZY - 65_
aﬁ, n—5, X = T 5 58, y— " 5 13

Y TH HeAh AYUMehd 38 A0 x S0 p =41 fohwdt Gu A THedd A9 7 @reftayH ol fiesq 2.

=AqH qIHH feew=t ATl
(Gfewaw ) (IR WA )

X y xy 2 y?

3 16 48 9 256

4 15 60 16 225

6 14 84 36 196

7 11 77 49 121

9 9 81 81 81

TR 29 65 350 191 879

nxxy — (Zx) (Ey)
r N \/anz —(Zx)2 . \/nZyz - (Ey)2

5(350) - (29) (65)

Js(191) = (29) - |/5(879) - (65)

1750 — 1885
955 — 841 - /4395 — 4225

—135

= J14 - V170

—-135
139.2121

= -0.9697
r = —0.97

AY YT A TS hl, r = fohAd —1 = GU S8 3T, IS AqH arqd Ao grewet fasht
Y e KO FEHdy AR FH WUl I

FYUT IIET (7) AT ISR (8) HEA Wifeel hi Qe HEFh Uleh ead AT I x 0T y =1 fehwe
gu WS TRl @M@ SN Weld e Aedn 4w WSl wE el

nxxy — (Zx) (Zy)
r - \/anz - (Z)c)2 . \/nZy2 - (Zy)2
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g el I T fhaa @i enfor / fahen stquif s@e dwt xy, 7, ¥ Wt Al guw &
B ST e 7 = HISIOf heresarol B, e TeHaie < IS e BEe el Uk Wi gt
ST B & TSt gfar oW e (F. 4) )o@ oTR.
a1 UHAITER ¢ <A GAR x T TGS 4 Sy S TEST v SaH ededi o A g g
JgdH GeegH o a1 Jga
nxuv —(Zu) (Zv)
r - \/nZuz—(Zu)2 -\/nsz—(Zv)2
2 e 5 ksl e B £3) 4 e S BRSEA R e 8
SETEUT 9 : UehT VMesdiel faemeai=i St (9r) T aoie (Trur) Helfiet Geieme 1sard shugrarst
6 Taemeat=n fagt 9= Treia Wifgdt e, e faeneat=i St T aoTHeie Tedaish
JIe.

S= (W) x 155 | 165 | 158 | 162 | 153 | 160
aee (fewar) y 53 63 56 60 52 60

)y )y
A p=6 ¥ = —= = B3 5883 3 = =L = 3 _ 5733
n 6 n 6

I IR WEH x, y SAYUNe SARd oAU =e X iU Y = fhRAd] diew sRd e 9w o=
fhAa weuERl dfid ddian sTiHaT <,
U g aRedEESt 4 = 158 Sf B = 57 ¥ Al A7 GHOT WO SEAAEE g fhHd

foorelt & @M ¢, =1 ¢, =1 ==

u = x—A _ x-158 _ ¥ — 158
c, 1
y-B y-57

L R Al

Hig : I Fe IJH(GG TRAAT holel 3T8; T A= IReT helel @I &M A9 79 =l ¢ ST
v Gy SRR 6.

u=x—A=x-158; v=y-B=y-57

EE ) ESEl

() (feram) u=x-158 v=y-57 uy u? 2
X Yy

155 53 -3 —4 12 9 16
165 63 7 6 Zy) 49 36
158 56 0 -1 0 0 1
162 60 4 3 12 16 9
153 52 -5 -5 25 25 25
160 60 2 3 6 4 9

Ul 953 344 5 2 97 103 96
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nXuy — (Eu) (Zv)

r N \/nZuz - (Zu)2 . \/nsz - (Zv)2

6(97) - (5) (2)

= J6(103) - (5)° - \6(96)

582 - 10
J618 — 25 - /576 — 4

_ 5712

= V59352

572

B V339196

— 572
582.4054

= 09821
Soor = 098
Y A T Al I, r <1 fohHd | =1 GU OB AR, WMes faeneAt=t I A0 a5 I e
¥ HeHsY e I WU
FET 10 : TehT FAEARI T ST SAUTET THIUTTAT Tal SRT- A TedT thaedea AT Hifdeh S
IO (T ) AT thaela TeeEudes 2R 30 (T ) Wefier Helel QuSTuarandt WIeiieTgw ot
et fuefavara el oM. TaE SEd Wi ST M7 Sieerdutes Ut S Jraefe

Y,
EL 2011 2012 2013 2014 2015 2016
wWEd wifEe 39 (%) x 14,900 | 15,100 | 15,000 | 15,500 | 15,700 | 15,800

MEEEAHS 0N 3= (%) y 100 105 115 160 220 255

I p=6 T = =X = 2000 _ 4533333 5 = ZX = 955 _ 597
n 6 n 6

T AT A5 ki, X =1 fohmel 100 =1 92 ok W Y =1 fhedl 591 ORR AR e 90
4 = 15300, B = 160, ¢, = 100 370 ¢ = 5 ¥ .
S & =y A v EEAYHN FRARd HE 1,

o u = AZA - x715300 gpfy g = _ »-160
c, 100 cy 5

dig : x fFAdT 100 =1 U STHEM 4 (= 15,300) TU 100 =N UG THA HE AL AFIHE p =T
fFAdt 5 = TPEM AN B (= 160) @A 5 = UkEd ag .
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e | s
Sq= () [Fom s9= ()
x y u= %5(‘;’00 y = y_5160 uy u? p2
14,900 100 —4 -12 48 16 144
15,100 105 -2 —11 22 4 121
15,000 115 -3 -9 27 9 81
15,500 160 2 0 0 4 0
15,700 220 4 12 48 16 144
15,800 255 5 19 95 25 361
(TR UT 92,000 955 2 -1 240 74 851

nIuv — (Zu) (Zv)

g - \/nZu2 - (Zu)2 . \/nsz - (Zv)2

6(240) - (2) (-1)
V6(14) - ()" - Je(ss1) - (-1)°

1440 + 2
444 —4 - 5106 - 1

1442

= J440 - 5105

1442

/2246200

_ 1442
1498.7328

= 0.9621
.o = 096
Y I A Tsa HI, = ThAd 1 =01 GU TS AR, A TUE TG I AT STeeierea
S I e TR dedey e o9 UMl dsal.
STEOT 11 : T[S T T YTt Heiier st orar ( e <itt. ) 7T geey ( ufd &R )= 3tichs Wiettergdror

3T
T A B C D E F
qOdEr g9 ar (ufq =) x 200 500 400 700 600 300
TR (Ufd &&W) y 10 12 10 15 9 12

T Wl ias addret gar AT gey amefter vegseisn e
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¢ ¥ = ZX _ 2100 _ T - XY _ 68 _
Y n=6, x = = e 450, y = = . 11.33

MU § REA A 5 I, X =01 FRAdt 100 =1 7ok oTRd STfv1 ¥ = fohmd @eM TR e
S A = 500, B = 12, ¢, = 100 3700 ¢ = 1 ¥ .
M@ T I u 2 v TEAAYHN FRART HE 1.

u:xc_xA=x13803ilTﬁlTv—%=y_T12=y—l2
AT TN
(ufa =ttt ) (T ETN) w=200 |y = y-12 uy u? y?
x y
200 10 -3 -2 6 9 4
500 12 0 0 0 0 0
400 10 -1 2 2 1 4
700 15 2 3 6 4 9
600 9 1 -3 -3 1 9
300 12 2 0 0 4 0
T 2700 68 -3 -4 11 19 26

nXuv — (Zu) (Zv)

4 - \/n2u2 - (Zu)2 . \/nsz - (Zv)2

6(11) - (-3) (-4)
\/6(19) - (-3)" - \/6(26) - (-4)?

66 — 12
J114 -9 - [156 - 16

:«/FJE

54

N V14700

54
121.2436

= 0.4454
r = 045

A I AT AgA HY, =) fhOT | =0 GU T AL TS T T (o) S FIR
I FEFIUAT HH e ¥ Hedsy R 3T WU
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IEOT 12 : Thdl I SATE HIUTAT shuiet Taeht (hUS T ) AT T (TR T T ) HelteT ST=ATararer
fuefaeiett Jiaesan quish wifedt WreiegHTT 3T

fart (8 I) x | 16 | 22 | 19 | 20 | 23 | 1.7 | 24 | 1.8 | 21
TRT (B T) y | 4200 | 5500 | 6000 | 6200 | 6100 | 4900 | 5900 | 5000 | 6700

™

=
|
—_
oo
I

I

™
W
=
(9
=
S

aanzg,f27_7_2’y272T2561111

9 X = fohwdl sTquiehid ed. @@ WY oM T ofd AR &M 9o X = fhAdien

10 7 U (O 5 = 0.1 7 WA ) e @ fhEdt g g ¥ = fhedt 100 w1 o s

A4 =2 B=5600,c =01, ¢, =100 5% .
A 99 A ¢ 3T v WIEAYHY SgRSATEd hidl Aldia.

u:X;CA=10(x—2.0)=x6—?lf’aqTﬁ1v:%:y‘lggoo
faent SRT
(@0 ) (@@ ?)  |u=10(x-20)| v=20 | 4 | 2 |
x y
1.6 4200 4 14 56 16 | 19
22 5500 2 1 i) 4 I
1.9 6000 i 4 4 | 16
2.0 6200 0 6 0 0 36
23 6100 3 5 15 9 25
1.7 4900 3 7 21 9 49
24 5900 4 3 12 16 9
1.8 5000 i) 6 12 4 36
2.1 6700 I T T I 121
T 18 50,500 0 1 121 | 60 | 489

~ nXuy — (214) (Zv)
r B \/nZuz - (Zu)2 . \/nZVZ - (ZV)2
9(121) - (O) (1)
Jo(60) - (0)" - o(489) - (1)

1089 - 0
J540 -0 - J4401 -1
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r

Y A A UsaA ohl, r = fohAd | I HERO QX 3R, A I HiT] Wehal bl fefshl 0T

1089

V540 - /4400

1089

12376000

1089
1541.4279

0.7065
= 0.71

TR A GO S e 89 HeY SR,

et SR - 12 7 faetel quRiierar® 4 = 1.8, B = 6000, ¢, = 0.05 S0 ¢, = 100 37 T2l Hewsl
r AN HY AT GEHE A A hl 4 W fhHA WREE WUS (= 0.71) 9 fHed.

(W=t )

IO 13 : T IMeseaT uferd faemeat-it stiwewmem fuafaae 1ur (x) sufur stefmema frefaee
TOT (¥) AHAA HeLier HAW wOAESt el faeneatar feyt I wreftaymior quyiter

Tareare.

2(x-%)(y-¥) = 120, £(x-x)* = 80, £(y - ¥)* = 500

EaEd oot fdua givem
Y =10 N1 ST TURAA fooen SR QMGEMI 4 W YA AN SR

£(x-7) (4-7)
V2G5 -2 (o-5)

120

/80 - /500

120

/40000

120
200

S, r=206
T 14 : WA quviteliae TgHselich r el
(1) n=20, Cov(x,y)=-50,s,=15,5, =8

(&)

2) n=10,2(x-%)(y-y)=60, x = fa=mur = 25, y= fa=ror = 36
qugiter x y
AR HEAT 25
TR 40 50
HEARTUTT SAAAT e e et silist 120 160
TEIRTUTYA HAAT FTIeT AT TUTTehTi <t sidst 100

(4) n=10, Zxy =1500, X =1 Hedeh = 12, Yol Uedah = 15, X9 qfa. =9, Yo ufa. =5
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1) 3 n=20, Cov(x, y) =-50,s,=15,5,=8

o TE Thed Eea [ Saead,

Cov(x, y)

Sy-Sy

=50

- (1))

— =50
120

= 04167
r = -0.42

(2) 38 n=10, Z(x-%)(y-y) =60

X9 fem =2 =25 . 5. =5
vy= faamm =s) =36 . 5, =6

e fohed arg I e,

2(xx) (y-y)

NSy

60
= 06)©

= 60
300

r = 02
() A n=25 =40, 7=50, $(x-%) =120, £(y-7)’ =160 T L(x-%F)(y-¥)=100
o FE TR @eiial ard 9 SaedT,

2(xx) (y9)

T \/Z(x—)?)z -\/z(y—y)2

100

= 120 - 4160

100

B V19200

— 100
138.5641

= 0.7217
r = 0.72
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(4) 3 n=10, Txy =1500, T =12, 3=15, 5, =9 axfor s, =5

o gd fohud @relid arE P Saedd,

XXy —nxy

r = 5
n-Sy-Sy

1500 — 10 (12) (15)

- 10(9) (5)

1500 — 1800
450

— =300
450

= —0.6667
r = —0.67

AT 15 : ekl ShU-real Wl auiel faehl STUT AT AHEfier Haielien S1ag FHuarard @reiel wrfect
Tehd WA AT
X = oifider faeht (er@ 39)
Y = aiftier @l (@& TR Iq)
n=6,<x =58, Sy =40, Sxy =431, =x? = 606, = y> =316
TEEA X T ¥ ueftel wedsielich Jivem.
feeiean fohmd 1 @Mefial @ e,

nZxy — (Zx) (Ty)
\/an2 - (Zx)2 . \/nEyz - (Zy)2

6(431) — (58) (40)

J6(606) - (58) - \/6(316)  (40)?

2586 — 2320
\/3636 — 3364 - /1896 — 1600

266

= 272 - 296

266

T 80512

— 266
283.7464

= 09375
.r = 094
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wTel U= Ugdtel U7 3T wafer -
T
(1) =N 9SAIEN S FAiel HedsEi=n YR AT=GYHT0 @i S Sisedl Seie Fwsi.
(2) TH = @ TEHeY HSUIEeE g gadl S,
(3) N Tedeyl wsd (S, 9 fohar wH)E T S guifo.
waier :

(1) & g5, 8 YRUER STHIRd T8 i IF Jemed Y TeHe 3k e TF JaMed qiE Heddy
T T GFT & IS STANT HE HeHsHih INHUA JdT ST = YR Ferefawet stefoes
FOAE A R AT Tgws oo &

() TeHeyrEn fdmder sifan staee (Wald el fhen wafd ofem) =1 g 9Romm 2
(3) & YsdH fHeuR Tedsih GUe Heegde e B € AEvash 3R, Al W < wormHia
W 2.2

1. T 99REd @R 7 Seand Heced feuia faemt 3=t (F9) onfor q& w1 g S (9
el WAy 3le. E% Jedddich .

focamet S=i (|9) | 170 | 169 | 168 | 167 | 166 | 165 | 164
gATer Je (|Hr) | 172 | 168 | 170 | 168 | 165 | 167 | 166

2. TEd TIR ORI Tk T 8 SEN ha 100 T= Yohe HEd AR Yohed foehd, Wehl T WhRaAl
I fhAd ToR! SHOATETS! AT |6 AU AETO=T J1eifHeh ST+ hed™ @iefidl Yol Hifsd! e,

qEder g (3) 24 | 26 | 32 | 33 | 35 | 30
HAO (TSR Yehe ) | 27 | 24 | 22 | 20 | 15 | 24

7 Hifedioes awd=r 9a 7for &= Orelt Aniel Gedstie e

3. TH Wekdial 9 qF fawa qmn qsdl enf stishermea <e1 foeneaten fewiq faecresn e
mfedtered S fawaren TumeHiel Heddyis o

T Uegrit = 0T 60 | 80 | SO | 80 | 95 [ 40 | 70 | 40 | 35 | 90

ARSI T 50 | 75| 60 | 8 | 90 | 40 [ 65 | 30 | 45 | 70

4. T VEUGA WO SeiehiEl T ST q A1 ama Hefie Hey fHefauast wwh Sl deen
-SNTedl WM ereeiean wal fomneata 7o oiftn ek ook & fheued Hiefaramemel <.
N SAHEN B kA fHefoell EA RN HeuRAEl Hen foud .

T MR v THSTET STHA 9T FHeqgiet ST 128 [910] 8 |11
Teh ST SeheT HeBTCN STHS 19T HETTAel HEAT 1110 | 4| 7 |13 ]16

B HAIfediaed STkl QM YhRE HeTRE Hisfaudrel &mdl Weflal Hedsieis Qe

D
(&)




10.

11.

G feoean Afsdiaed aaues (e Td) A1 9% (ar@ I d) Al Hededie @l

HUA A B C D E F G
e (S ) 15 2 12 10 17 20 14
W (@ @ ) 9 12 8 6 10 9 10

Teh! oSt FHareatea I faeneat=n gfafes sreamar ar o1for Siu= 9O ard A= Jifed SrelieTq@ o) 91
TR,

INITET A 10 5 7 5 3
U ard 6 9 7 8 10

e ST a9 ST FUY 99 A Tedsis e
grefd foaet o (auid) wamEn g (Tt Aifedioes 9g o1for e amsiel gedstis S

g (ad) 58 55 65 52 48 68 62 56
Tearen  faeifeen

130 150 150 130 140 158 155 140
o (fatr)

T ENHeR STHIMREEA A-AMTedl haedd BIUR SceA ST Jfd Tehd Sded @« amdia gay
THSUIETE! el Thaedi Scdier (B5TR UshAT) 37101 Scarer=n 9fd Tohe @are ’ifed! Wieitaryqmor fiesfoett
TR,

S (TR ThA ) 15 20 35 24 18 31
yfd T SRR @@= (%) 95 90 75 80 87 70

e IeA N Ufd THH I T A GeEadid el
- ATTeed1 HET VR CAThi= STeTs Atk 3ca (3 ) STIOT Hram= Ferchichrent Hifed! AT Teds s v,

IR A B C D E F
TEE 34 (R 4) 32,000 | 29,000 | 40,000 | 36,000 | 30,000 | 39,000
WA=l GoAchich 120 100 250 180 110 220

THT Ve Fead e ATAuIl HESE H&A S W sTededral Uga arR (TR 7EH)
Tfie 3T RIS Gl Wifed! feoiell oTR.

FEATAIE AT ATATTUTTHT THTHETE ST 3 5 2 4 |31 6 1
STSASATE YSIet aTuv ( TieX) 115 | 21 | 145 | 155 | 7 | 225 | 10

1 Ao Feandiel s AUl HUTERRET §E ST Y o aHHie dedetie e,
T I fodRidiel TEamEn arR ST Fe Sded AHid ey G @it Jifedl T
TG 3Tl 3R,

Earenr arw (fadea) 15121109 |18 | 11|12
ufd 3T g™ 3ded (faea) 60 | 95 | 50 | 75 | 45 | 75

e Al IR M0 qore Icqied IMHial Gedetie Sl
o)
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12. TH fSeeria Soe=a a1 auid Teoiedn aede 9t (X) onfor gfd R S e (V) = Hifedieea
TeHe i M.
n =10, Cov (x, y) = 30, X = yaiorg fomem = 5 sufor v = fo=mor = 144

13. T Wexdiia foeneat=amyd <81 fomneafen feel s @t 3= (X) it a9 (V)= Aifediasd Qe
et el oTR.
X =160, ¥ = 55 Zxy=90000, s, =25, s, =10
IEEA I S0 o Hefie] HedeHiehi=l fohea e,

14. @cia Aifedioes HeHeth e
() Sax-x)*=72, 2(y-y)* =32, Zx-X)(y—y)=45

(2) n=6, Tx=16, Ty =51, Zxy =154, x> =52, Iy* =471
15. @l Afedaes » = fhma s

TRt X y
Hedeh 60 95
TEHRTITTA Tacied faaerean
920 1050

AT SRS

TERTUTTA TaeTed faaer e

A —545
%
2.8 Toai=i wuih Wg@euT=l dgdl

Y SF TGl Feds it IYUTIME Fa Tl I§drel ST ohall. < 378 i Sieal 9d
G&IHsh 30 degl U Sfegl Sl Jell HeAeHsh G5 WISl Agd deel 'l Ugdien SYAnT el Wy
eTehtd, AR ST wrTfSIeR faamren geames fhcdear oTeft IRfEerdt 30 ot <oren 19Ul T[uiesh =rell
(TETE) =1 ST HIAAT AFTAT IS WieH, TRy, ursdr, Sfaehdl, daqe, 6, T Hieed G, st
IRfEerdia Tl @erul (PR =@ foha TUIEH) T WEd| HISdl 3 ARl WG e e ER
HIET %A <1 Idl. & ISdH (HeU IF aavi=a Sieaed Hesfdeiedn = fod gafaciean feqereT=n

(1) T THETIe SAfmeier qriforehdr STfor dekean urerre FAfHaTER @ hH <% < TurEHHeie

(2) TH dicd THq A-N e TRl T T @are SR S fvfeit foeiem swHee

FTel Hifed! H&ATHS I A (I, T5H) T F§I ATAT STl fhad! STTHR =T 78 3 A%
THesforma Warst! shHieh Heda i fHeslauard Jdl, HRUT i S FHRIT SRS Shict TqaE-T= e et ehTaa
i Gedseieh S fXer (stable) TGl

©
@ wedey




gl : GES 3 T[UEH X A0 ¥ STecrei=a el eiagamn HHar fooe 31e,

ECIC] 1 20| e [ n
Xl MU hA Ry Ry | e Ry | o R,
Y= 3TUehd Ry, Ry, | Ry | e, R,

HHF HEHayith IMYUAHIS! Wield A= STN B,

63d;*
n(n® -1

r=1-

AV di =R, ~Ry,, i=1,23, ... n =N T HE AW 4, T 4 AN R, THSH R, (0
R, Uastt R, fog =
T Al TedaHE v I ey fafedr JEa.

63d>

—1-
: n(n® 1)

3 d=R —R,=X 301 y =1 SHHIHE! ISITeleh!

Yd? = x 3o y <A1 iR =AT STk <A1 eI SRS,

STeg] STTATRATAT 1 SIS HEATHb FATAT STHATEA eg] AHTIIY! Teh! FTATAT HaTd HiSdT STaaiieh-Ter A 1,
MR T e W ST HIST STach-Ier s 2, STIMYHR Fee STTATRATCA ShH SUATd T, THIHTO =1
Terre fhTdHT e 0T AT, AL I SHHETE e Tedseis fHefauard I,

YU S HE&ATHS TAMHTA HeY WIS it Hedayid wHal 9U Fie [qaETa] qedadish s

<] TR BU] ST 3R oh1, SHHich TeHaYoh & HL el el W & Tored| (e dereres =) o faetedn

Y0 FeRReT= YgdH fHesfacen gedsie st wrel fyads=n gdH fHefacen GedsisT fhaa
M 376 ATEL T el S Fetr=a fohmd! &N W n i HeAr=a Tl STH Tegl shiet [aa8T=a1 TEd gl STt
IETET 16 : THT hUATE G HASK AT hUId A 0Tl Sfeaue[ i<l fHageear |rd safdan

HIAAHATT UTAdSR WATAYHTT A adTd.

T A B C D E F G
TR 1 7 faeiem &u 6 7 5 4 3 2 1
TSR 2 ° faeiem &y 7 6 5 2 4 1 3

AY p = 7 M7 A ST TR, TS hHlish HeHaHih MHUAERS! ST WA TIHU hitedh TR HE 1.

(36)
SRSV : YT 1 : I 12 PN




TR 1 9 eS|
Seal GG feeer T d=R, - R, d’
R, R,
A 6 7 -1 1
7 6 1 1
C 5 5 0 0
D 4 2 2 4
E 3 4 ~1 1
F 2 1 1 1
G 1 3 -2 4
THIT - - 0 12
B 65d>
= n(n® 1)
_ . _6u2)
T T 7(49-1)
- 12
= 1-33
= 1-0.2143
= (.7857
or = 0.79

Y =i R | =1 SToles 318 US| Bl HT56 € HWaHeH Sfod] Hes Qlval S AIehdl hiom=il e
fecien saTed St |rIaT TeTeETe e,

IETET 17 : AT-3TeodT FSAT WAl Wit foehl ThIOT=T Taht fafael IIram STHuT=an gentT=aT WIeteht
WEEer WM oTa safea=T 10 STaTe HETEe WMl shid STUT el sed=t shreeudar
AUTHULTATS! ATAT ShH JUATE! ShTH AUt 3MMTUT T FS0TTa SafamgiT SiT-aiTedT Sig<ar Wi eTett
U Thil WICHAYATIT 31TE.

s ®wi A B C D E F G H [ J

HUTATS R 3 5 8 4 7 10 2 1 6 9
SISt 6 4 9 8 1 2 3 10 5 7
2 AIfgciaes HATSeTelT hall TTTUT Sede hraeTHaTHe™l shilich HgHselich Jire.
(87)
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A9 n = 10 01 FY o= AR, ATET FHHH Tedsis MNYTIERS! WIATATHO! hisesh TIR HEdl.

LG EC] HATTS Hqe{Erat d=R,-R, 42
RaE] R, R,
A 3 6 -3 9
B 5 4 1 1
C 8 9 -1 1
D 4 8 —4 16
E 7 1 6 36
F 10 2 8 64
G 2 3 -1 1
H 1 10 -9 81
I 6 5 1 1
J 9 7 2 4
T - - 0 214
__63d*
e n(n -1
_ 6@
10(100—1)
-l
= 1-1.2970
= -0.2970
wor o= =030

AY =N fohmd o 3707 0 =1 SToe AR e T STk o1 vewey uifadrd. @es Wi wehdl S Jahie
T A TAHCT HISTEe Rl A SR S8, R AT ded HHT HRIH T, Segl del wrEam o6 d
Tl HAT HHT HAEH ST,
ITEUT 18 : TehT IMitet TUf-aareti=t gimesdier aetehi=an Tl J1 it gfagra faaren qusiier srerma
SAUATETS= s ATUTUATETS Urel feremeat=n ue eyt S st - fawai=i us @ gaet.
& e faemeatr wfura, sfaema fawaia frefaerean TUTi=aT e WICayHIIT A qUATd 3TTel.
T AIiEieres I fauaTdiel shuTaefte hiieh Hedsielich YT,

@
STTRSIITEA : 9T 1 : TIAT 12




feramert A B C D E

TUTATA S Rl 2 5 1 4 3
gfagrardial e 4 1 5 2 3
AT p=5 A0 A fooioma AR M FHIE Tedayih HTAHE! WA Hieh TN HE 1.
feremeft R, R, d=R, -R, d>
A 2 4 -2 4
B 5 1 4 16
C 1 5 —4 16
D 4 2 2 4
E 3 3 0 0
TR _ - 0 40
_ o _63xd®
= n(n2—l)
_ 15860
= 1T 5025-0)
= 240
= 1=
= 1-2

or = -1

sremyeRR ur= fereneat=n wiftra snfon sfasmrdiel <@me Tewen foaws foRid 1R @Mz r=—1 fhedl.

AT 19 : THT Hid wWda arar MA& A, B, C, D 3T E Fi=it ©T=AT MUATT FHITAAAT TN

hH 1 2 3 4 5

futfae 1 C A B E D

frottas 2 B C D A E

®
q@ weEsy




Y p=5, 9= TEEHM Heed HAMER foeed Afsd! I=1 ooy ol T J5a.

TR A B C D E
THutigeR 1A fecer oy 2 3 1 5 4
THutiEeR 2 A fecer oy 4 1 2 3 5
TMah R, R, d=R,-R, d?
A 2 4 -2 4
B 3 1 2 4
C 1 2 -1 1
D 5 3 2 4
E 4 5 -1 1
TR _ - 0 14
_ o _63d?
r n(n® -1
|- oud
5(25-1)
- - &
= 1-07
r =03

AY p < fhAd o9 AT 0 =0 OB IR A STk eEey SEifodl. e T TEU] YAl hi SIEl
ForfaehT= Terd! wH TS I YHIIG 9vTes UedTa.

ITET 20 : Weh TS STTeh STYTTEA ST ATHT Uagelt fuam=a RTeTeni=it <At JTlexiiet faemeatneq o1a faameatan

feremeit 1 2 3 4 5 6 7 8

AhETPMAR O x| 78 36 | 98 25 | 75| 8 90 | 6

THT Yageital 0T 84 51| o1 60 68 | 62 86 55

(90)
ARSI : U 1 : ST 12 \_/




AY =8 M AU &S 9 (et fawar o) feoret 1R, e Tedverd Sl fomam Tumganr
%A TE AR

STTHSRIEAT I -oR 3 = foeneaienn Hafq < 98 07 e el Y | T0A e 3718 =y e
FeR 7 = fornesian 90 U1 STUCATES AT HH 2 STRNYHR THHM Ueh fqeneafan o Suard STel 37, =91y
FHT GG T SER Qe faenefa w9 v el R,

ST WA TTIHI hiteeh o 4T
I TSI T geget
d=R,-R, 4>
EER T ®H R, | TOT w4 R,
1 78 4 84 3 1 1
2 36 7 51 8 -1 1
3 98 1 91 1 0 0
4 25 8 60 6 2 4
5 75 5 68 4 1 I
6 82 3 62 5 -2 4
7 90 2 86 2 0 0
8 62 6 55 7 -1 1
THUT - - - - 0 12
63d>
r= n(n? -1
o812
8(64—1)
- -2
= 1-0.1429
= 0.8571
o o= 0.86

Y =N fhAT | =1 G 5o A8 e FHTAT A5 hi STRSIT ST A1 Fgd = [oneed fHesfderean
FHHAME TME 99 TeHaY TR, WIS Tl WY TERl faenedi stiehermed e (FH) o fhafoe s@a ®
A1 T Yt g T S (FH1) Hesferdl. (AR goden fereneat=an sredid o1 B4 YHE! EL)

@ =
q@ aeEsy




AT S (Tie) (&M TR THT TTATEA )

Sieg 9a X fhar v fohen Sl Sem=n sTaeie e SRl fhAdt THM o e ST STaeeh T
FH TOATE FEET SAUME ISHAd. Siagl X fher ¥ Fel Sgeiih WHE STl deel SAaul e (Tie)
I[YFA! TH FEUL AL SN bl GAAdid oo Had STacehA] &=l SIEY A TEd (q2h) el
FH T TIH ST QUA Adl ATV AHR AU SATARA TEI A SN Beredl
e M Al HH Q0AM dl. AU Th ISRUON WIS & GHSEH WS, FHSl ThH A= Al
37, 60, 42, 78, 42, 50, 66, 42, 60 d. IAY FAd WS ATk 78 3, TS & MU HH | T3
I, A STFERT 66 T HH 2 <H AL AN AHGE TacdT 60 o T Ja3 TR 8. Aes Tl

STIEY HHT (A 3 oMM 4) = wued %:3.5 B TAE e (60) T <. A TR 50
3R M AU 5 HH TS AL HRO 3 M0 4 =1 1 e ST Foien AR, A Adeiiea 42 3 fa
I3l A B, ATEl STEY HATN (FH 6, HH 7, FH §) TWHA @:7 B Y& Aaarda (42) @

T FEA. AT YaSH STFATRA 37 T HH 9 TUA I, R HH 6, FY 7, HH § AT IR B

FAT STeg1 TS U (hTET ST Th T ST ) TR1 ShHich Hedseieh= HISTull HudT=A FATd YL HL0AT=
STEIRAT 3T, 3TeM FHRM “CF’ (Correction Factor) ¥ She@= 3TH,

CF W T TR s o W (%) Wz’ Y e A 49
m:W@wmmmmwww(ﬁ%) TeT=AT SRetelt ‘CF’

3
U, WU CF = z(%)

STRIMYHN ST ShH SUATA NS 3cd=1 el (HTRT TR THM STHATA ) o8] ShHih HeHsHh Y W faTqH ol
fafed aga.

6[251’2 + CF}
n(n* -1

m3 —m

Y GYUROM (CF) = X (T)

ST m = SATATRATE A &AL
AT 21 : SCTEWT 5 Hed fooiedr quolicna®s shfich Hgdsielich VL.
U] TR THSICATTHIY Q21 FAAT S <3, AT Y Il STa@rhd 75 & I da3 T erel 3.

T T S ST 79 o FH 1 fewer @ Ao st 75 @ % 2 e 3 = wwed 22 =25

FH TASE .
(92)
SRS : YT 1 : I 12 N2/




ST WIATTIHO! hieh TR & 4.

e X = &u [T Y = A
(A=) d=R, - Ry d?
X Rx y Ry
25 7 65 7 0 0
38 2 75 2.5 -0.5 0.25
30 5 68 6 -1 1
28 6 70 5 1 1
34 4 7 4 0 0
40 1 79 1 0 0
36 3 75 2.5 0.5 0.25
THUT - - - - 0 2.5
‘CF> Toesfomart Hrevfl ErefiergamT 1R,
gAaafdd AAATHAT fehelt AT 3
m —m
ATeTATRA Qe e ot WA (m) ( 12 )
22| _
75 2 ( > )_0.5
CF=3{™5m) =05
- - = 12
6[2512 + CF}
ro= l-—
n(n“-1)
B 6[2.5+0.5]
- 7(49-1)
336
= 18
= 1-33
= 1-0.0536
= 0.9464
~r = 095

S : JY I I ] (RG] i Tegey YGdid (Heafaetal! » =t fohd & 3ere 5 7l fHesfaeiean siet

Toad=a g5 fHesfacen » =t foma amrel o1,
. _
qrE wedsy




ITE0T 22 : Tameat=h refyTreT=ht Tust YT Tt shetHelier Galel qusTuarardl 311a faeneat=n eyt a wr=it
HEE AUATT Tl AT TR eTeTet TUT WIETTHHTOT 31T, BT Wi tere qral fersratdiet uIHeftel shich

JTAYTEATA T | 60 30 | 10 | 20 [ 30 [ 50 | 30 | 40

T FHerdter qOT | 80 20 | 60 | 40 | 12|28 | 20 | 15

ST U= STER A feeamd Fafd S 0T 60 T8 el S8 1, 50 Tl 78 2, 40 SRHTE 07

3 B Al 30 Ui iR de TAedd eiel ST W SIS HHl (FH 4, HH 5, A 6) o T
B0 _ 5 71 WF 30 TN FH S W 20 O FH 7 SO0 Folld e Jee=A 10 o FH 8

SEA. AEYAT @ Fwadia qUT=AT ATYR Fafd Sd 01 80 @1 HH 1, 60 UMl HH 2,

40 T A 3, 28 TN HH 4. @ IO 20 © SRl FAUSK ol 8 AHDS Al HIET HH
(%95, ®H 6)3”[‘&@%:5.5 B g 20 T[T hH STHE. HaAT 15 T0Te A 7 S0 Yee=1 Fard

FHHT O 20 1 HA § A

ST WA AT Tl ehIedh a4,
FAYTEAE | X MEHA | JAROdt | Y wH |d=R. -R, 42
TOT x R, Ty Ry

60 1 80 1 0 0
30 5 20 5.5 0.5 0.25

10 8 60 2 6 36

20 7 40 3 4 16

30 5 12 8 -3 9

50 2 28 4 -2 4
30 5 20 55 —0.5 0.25

40 3 15 7 —4 16
e _ _ - - 0 81.5
@

SR STIME : U 1 : I 12



‘CF> fresfauar= WSOl @refterq T,

LRNEKILS TR fohdl da
m3—m
TR Qe gATelt ot S& (m) ( 2 )
30 3 (%)ﬂ
20 2 (%):05
- - CF =25

o 6[Zd2+CF}

~
I

n(n?® -1

6[81.5+2.5]
T8(64-1)

6(84)

Y

_ 50
504

1-1
=0
Y = 0 fHesdl A 3T TR I3 i fawi=an =1 HAME @ HedeHiE Sve TR, WosE
ST THETdiel foeneafq stefemes offon Joeherd 9a <@ (performance) YW@ HeHT=AT SR w&ad 1.

IETENUT 23 : ekl Soiaich GIEMIel WTehfeTl i TGl LED fRféra=an faent sufur =t amsier deier
TUSTUITATS! AT-AMeedl Felaeich ehUATeaT faent 3MTUT TUIT= Hifed! Wieiequror faestaet.
TN Aifgdiae faeht (&SR TehHTd ) SATFUT T (M@ % ) Weliel hiich WeHsielich JITe.

fasl (TR ThT) 25 58 | 215 72 58 25 | 90 162

Twr (em@ ) 65 140 | 500 115 65 65 | 220 340

Y p = § AT foshi=l STAARA 25 MU 58 TF6edl TREA BIdld. TR STAARA 65 TTeieel T
BId. T AT ISR shered] F=yamol a4 Tt ST o= fhaedi=a1 STER H <3 ST GTeay= o
FILH TIR HE,

&
@ weHey




faent X <1 & RT Y <1 A
(39T UeRH) R, (@ ) R, d=R, -R, d*
X y
25 7.5 65 7 0.5 0.25
58 5.5 140 4 1.5 225
215 1 500 1 0 0
) 4 115 5 -1 |
58 55 65 7 -1.5 2.25
25 75 65 7 0.5 0.25
90 3 220 3 0 0
162 2 340 2 0 0
TepuT - - - - 0 6
‘CF’ Thasfauar=it Histft WiefiergH ol .
QA JATATHAT AT AR
(")
. 12
TR QA0 aid of W& (m)
20\ _
25 2 ( B ) =0.5
22\ _
58 2 ( B ) =05
3
3\ _
65 3 ( 12 )_ 2
- - CF=3
6[Zd2 + CF}
r = 1- 5
n(n®-1)
B 6[6 +3]
= 1T R64-1)
D

SRS : W 1 : TIAAT 12



_ 4
B 1_504

= 1-0.1071
= 0.8929
L or o= 0.89
I p =N AT | =0 GU T AR A FHTAl A5 ki fashl M0 TR AW Te & oY 3.
g :
(1) %% R, M1 R, = WM oS TeHl I Bid wor Xd =X (R, - R,)=0.
(2) SR ¥ x 0 y = YIH SIS Wl R, = R, A W d =N Y&F AT 0 B AL £¢> =0

WA p =t fhma 1 3
(3) SR x M0 y FAT FHHIGR WA Il hHh ATA (T [T 18) W r = —1 Tgal.

(_wt )
N AL
TH=A ST e eseh YgdH erecied] Shivas! <al forneaiai stishemme afifty stefeme fawar g wdea

Toasfociean o=t Aifed! T ®&T @I Sl fawar= UIHE Fie e ST feqere e gedH
Hedayie Tyl ST &= qo .

T 24 : T FUUR hUAAIE! AT AR SATATTUATET WS (FHid ) MU ATHGN FTeie
JETATE BT AT HelYl SUTUATHIST S AR e areAtquaran AqHa (99 ) A1for
AYITATEl AT [T huTaR hHichT=aT hich[=AT aifiet slisl 126 U ATa® hilich

Y p = § MV HHHMT TR AT = ST 126 BIN Y42 =126 3R,

_ 1 65d>
r= 1= 2
n(n~—1)
_ . 6020)
T T 8(64-1)
— 156
= 1= 504
= 1-15
r = 05

ITET 25 : Wl fSTeRlcdie aNT-ATeedlt IMeimeA Hagerear gar faameat-i = Werean yg<i T |
A RV ATG® hH JUAT 3TAT T HUTaw hiich HgHseieh 0.2 fHesdl. wav aamd el

i eh! faameat=an S TuTemi=ar shuichral aeiateht 2 TAST 3 Sacil el ¥ shilich Hedseidhrar
Gy fehua vitem.

(97

D

q@ wehsy



A9 n = 10
d =i Fehr=t fhad = 3
dSiEd fdma =2

- _ 63’
r= n(n2 -1
B 63d>
02 = I-15000-1
_ 63d>
0.2 1= 7590
65d> _ 4_
o 1-0.2
63d>  _
= 0.8
52 _ 0.8x990
6
¥d? = 132

ST Tleh 2 =T oISt 3 Hael el @es Sd = @l fhAa @reftay ol fHesd

guf@  =d> = 132 — (F&H d)? + (T d)?

132 -3% +2°

_ 132-9+4
- 127
HHw TedsisrE] G fhma Ereftayaml fiesd :

63d>

= 1-
r n(n? 1)

6(127)

= 1= 15000-D

_ 162
990

= 1-0.7697

= 0.2303
wr o= 023

SR SPMTE : HIRT 1 : 39T 12



forrniean wuis WeHein Ygdel T 3T WAt

T

D

(1) & Igdl THSvIE Wes 3R,

(2) HHH FeEsHihT HISON hie fUET=a Hedseihr= H=oiien i .

(3) T wifed! fooiell A deel WedsiHih WHvATEl € ThE Usdl AR,

(4) S wifed=n JER oAk st fhen oifqw efecii wifedia sTEdel W HIG fEET=n gad
st Foqerd= vgdren Syammen ifimd Svaa 3.

i

(1) STociRr=n Hes fohden Uash = HHr=l ST 8 STaea™ HeHt Aifedi=n @ 2l &

(2) SR STEqrREl H@ S STHd ST A foolel THA degl %A QAT WA helesarul Bid.

(3) wifedt fgma oot famor wETM e Tl w1 Wsdie ST i AL (@0 aRferda s
TooeT=a ggd=l 3TN Bl ST =R hEmed QR ol SYIE A, )

@ 2.3

ST A B C D E F
favewer 1 g0 wW 5 2 1 4 3 6
fagerse 2 g wA 6 4 3 2 1 5

e el TR i Teia Hededish S
Th! TeeIia feeed av-aTesa =% MaHT ‘ wreadl STiaE’ o7t ‘et s=mE SIfaam’ AR sheledl sl
YR Tk AFR T GIETIH T HH <.

ma

1

2

3

=T MU=

4

8

7

o ST U= A

6

8

5

TEEA Tl AIHA HIRTHE T Fedseie 9,

3. T TSO=AT TS WA G sholedl Hdeed @il difedt e

M

A

B

C

D

TTeh ST (T )

57

45

14

18

YA AT S TEAREAT )

13

20

10

15

7 Aifediaes eU=l ol 9e STfUl a9t el Ui Wedsidish e
(99)
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4. TH GEH wioer fomeamya Sacen 10 fomneaten frewiaes wefter mifedt fiere,

feremeft 1 | 23] 4| 5] 6 | 7| 8| 9|10

Tttt T[0T 39 | 65 62| 9% | & | 75 | 25 | 98 | 36 |78

ST ST T 47 53 | 58 86 62 68 60 91 51 84

Ao faeneait faesfociear for nfor STheRTET=A YEHET Hedatis e,
5. Teia fooea 9fq enfor 9o 3=t faweien aifedioes <= Seididl i Tedeeis M.

gfde S (9Ht) 156 | 153 185 | 157 163 191 162

Ueirelt St (9H) 154 | 148 162 | 157 162 170 154

6. TH TXEIHHIA IHCARMN <@MEl (Performance)=1 STER SF $eXeey VAT Wiefiergaml o7 feera,
e e BRI QM ARl HoAihAIe Shiih Hedsdich el

AR A B C D E F G H
Juw Afedgr fgeter T[oT 28 | 44 10 | 28 47 | 35 | 19 40
Tadta safaagr faeter ot 32 | 45 25 | 32 41 | 32 | 24 38

7. <A foiiaes, ge1 T e Hied wEd W A, i e i shHish T HEhTe Sl S
214 THesd o A HedsEE Q.

8. @ faeneatft A fawema fHefaciean Tuieed ®HHAle Tedeadie 0.5 fHedl, @R @@ Id
e foeneffen wEEN W 7 ®Al U1, WG GHM 3 Al Al W OwHS Gedadiel gURed
IECENICIA

*

2.9 FEHSRTAT T sadTel Shiessit

HehaYie ¥ I Jodid GuE Hedayiea S Teds " TR, o 6 1efEed S Jendia deentase
MU TEAS IO HE YAl FEYFl WEIM Weld Rl . @&[ Sad

(1) YeHsHit & Thed G e w3l <R O19 ST W Hed T Jeldiel hid-hRoT Heienfasei
FEE Aifedt fHeed R 0T e @MEE SEieh! HIod I wHe (FE @EY) ST R
e fRUe (R0 wew) ' fawe wifedt fiveed L
ST Skt =it QX [ STH0I STEvde 3718, ST ST IR0 Sl AdIel ohi TG GIF FATHEN SHIvIATe!
YUl FaY THAl Wy M FcAade sTEacheE Aol HeHedid || = fhEa 1 = Sow
ST, FHFIIU I - hRoT Fe T qul Aifsd! THeard r = "SI Shodrd Id dea] ST Hed.
e = fohmd | =0 Saw (e HeEsy) fHeg vrehdl. Ty 49 A= TEel Aol Heiy oy wehd
AT, S T Teh=a] HeGsiETel 37dfeT (nonsense) fohan yme (spurious) FEHsY U

STHSIIEA : WIT 1 : TIAT 12




(2) FEED S TAHHTA ey HeumEl A sl e SR || = fhHa 1= Sew e

TR 341, diges ST IATAT 3CRAN e U7 FeHeY Teea™ Hedl, WG Y&l &1 SF <
ey TEl 3T B FRU Il TR S8l Heh 3|1, MM, RN Usd, @d sl 9

HE ST WA,

(3) W& r = 0 A deRl AV Ha TASH T Vehdl HI M FeiHH Y@ HeHay AR gEA
YRR TEU] Tehdl hi Y@ FeH 9@ 3, 90 g wonaed guE fremen (fgerdt foher gE=n

YhRAl) TeGeY 3T Wehdl. 3al.

X

-4

-3

-2

-1

1

2

3

4

y

16

9

4

1

1

4

9

16

e 3SR wE T qSdn 4 MY e W @l R g ed. @M s e
FfET FE® IHRAl F, A T HeHad TRl W § AAES Thid AR, =G@ X S Y=
At weT e A T AW Y = X oY eTeedl. o WeY g Tgd fEunl R, STemIei
T T fgErdt dey ST a1 AU = 0 fHeed. S BN STEMEEA AU HHS] Ihal
FH =0 7 HH YW@ HoUay AR ™ TEifod. W SHEI @RI YhREl HeHeY ST Wehdl.
(4) R fomr, ot fohen Femast sam Afed Heamet s/@d amEeE gegsyism=n fhade st
Tifcd AU ANG A, & AdEeen o famr fhen o fohen swemaiien aRda Afsdrrat

A FHER FAMEE TR I T4 3T TRAAS I BIdie.,

FIAEHHR ST fedd @9 6hed gl e ol @ % 8 ARl geamnie sfedd-
Td Nl fommed WMMMY e ¥ Heddy weedw fHedl W HEl deM@ s Hed
TE WUS Sifewd @ oNfUr fawmEd Me v9 wWedsy SME 1 dEed @ wenaHte
TR WifedEel AN ged AL

TR I
I|EUT 26 : Wield faeiear uRuTHER Agdseichr=an ferudt girer.

Cov (x,y):s.>=3:5 aTfur spi8,=1:2

A9 Cov (x, y):s,>=3:5

a5, s, =1:2

Cov(x, y)

©

q@ weEsy



IR 27 : Tkl fgoet Aifecdtasd @reital aRomy fiasrera.
n =10, 2(x-%)(y-y)=72, s, =3 MU T (y-y)> =160 A&7 TeHsilich Tirel.

foctean wfedlers wom s, ¥y AL

_2
Y DOIC ) S [T _
s, =\ 2L = (g = V16 = 4

ST ETelld o STewdeh fhAd! Saed,

2(x—x) (y=y)
nsysy

72
10(3) (4)

- 12

120
r = 0.6

IIET 28 : TehT Rreruraa™ Aiage wimed Tta fafgarer ama enfur ufe= uRum ai=n ey
JILUITETS Teh WANT shedl. &M FHageiean 10 faeneaf=n aqem =it Jiae=an ieasa Weaga
T Wt fufear’ s ardderen 9 x (A ) ST AT TR Sdetedt 50 TOTsAT
TREIde TOT y AaEA @ieitel URuTH e

Yx =133, Sy =220, Sx? =2344, 3y? =6500 3T Zxy = 3500

S AT A i X ITUT y ARl Ueh SISt (15, 25) =40 oSt (13,20) Sdelt 2.
EAEA X MUT y Aefiel WeHaieiehtel @i fehud vitem.

A9 n = 10, Tx=133, Ty =220, x> =2344, Ty> =6500 MU Zxy =3500
TaEr Sl : (13,20)

& Sier ;o (15,25)

S SUYH WA guReied fhAdl g fiHese @

Yx=133-13+15=135

Yy =220-20+25=225

Yx? =2344 —(13)% + (15)* =2344 —169 + 225 = 2400

2y* = 6500 —(20)% +(25)* = 6500 — 400 + 625 = 6725

Sxy = 3500 — (13x 20) + (15 x 25) = 3500 — 260 + 375 = 3615

A GuReed fhAdi el FE[ - Seedd,

nXxy —(2x) (Zy)
\/an2 - (Z)c)2 ~\/n2y2 - (Zy)2

10 (3615) - (135) (225)
J10(2400) - (135)% -1/10 (6725) - (225)>

SRS : YT 1 : I 12



36150 — 30375
24000 - 18225 - /67250 — 50625

5775

5775 - /16625

5775

\/96009375

5775
9798.4374

= 0.5894

SLooor o= 059
I]EOT 29 : (1) S A oA X M1 Y WA Wghedish 0.5 WA o Wieiter fehudl  Iilem.
@ r (x, ) (i) r (=, p) (i) r (-, -p)
G 7 (v, y) = 0.5
Tedeyis TUEE (4. 5) T,
@D rlx-y) =-r(x,y)=-05
i) r(=x,y) = —-r(x,y)=-05
(iii) r(=x,—y) = r(x,y)=0.5
2) <X r(x,y)=038 WA W @reftd  r(u,v) TE.
() u==x-10 =T v = y+10

G) u= %3 amfor v = 2y+7

Gy u = 223 anfor v = 100

10 100
(iv) u = 5% sufor v = 32

) =205 sufor v = 20

I r(x,y)=08
Hedauar= e (4 ST 5) y ST v T HRARA hed™ r(u,v) = RHAT XS
Y SR STHIRG T9d WS & r(u,v)=r(x,y) fhal —r(x,y) BEA.

(i) r(x-10,y+10) = r(u,v)=0.8

(i) r (XT‘S 2y+7) = r(u,v)=0.8

2x310y

(i) r > 700 ) = r(u,v)=-0.8

T T)— r(u,v)=-0.8

23 — )—r(u,v):0.8
(103)
\]93/




IETET 30 : T MBA 3fReee=an faeneai=n Tent Tg e shard 3ifaw Juia 1T Tidaeh shere 3ifan
T 12 Fa e I[UTT=IT Sahard (x) TTTUT EATdeh shald Jifaw quid (Heaerear TuTie edehart
(v) <A1 Hifgd e @reliel Ui fiesra.
n=10,%(x —65)= -2, Z(y—60) =2, I(x —65)* =176, Z(y —60)* =140, Z(x — 65) (y — 60) = 141
TTEEA TATT 12 & T ATk HE=AT 3ifam aui=a U= cachardl Heliet Gedsielien fehaa giter.
I T(x—65)=-2 %0 o A=65

S(y—60)=2 # 0 5. B=60
(A2 fogemr=t sOs Y AR - 65=x SO 60=y)
S u=(x—65) 3 y=(y—60) AR HeIM.
TS S(x—65)=%u =-2, X(y—60)=2y =2
Y(x—635) =Zu’ =176, Z(y—-60)> =Zv* =140
2(x—65) (y—60) =Zuv =141
Fd R @refe g Jae,

nXuv —(Zu) (Zv)
Jnsu? - (su)? \nsh? - (sv)?

7 =

10(141) - (-2)(2)
\/10 (176) - (—2)2 . \/10 (140) - (2)2

1414

= 1756 -4/1396

1414

= 2451376

— 1414
1565.6871

= 0.9031
ro= 090
IATET 31 : ToRgTRaET=AT T8 ATcTehi=an a9 auid (X) AT W= af-eh Sayehdl AU () ATHEfT
AT HITATHTS! THTAT R faumm frafaetean fragtiqa wrefter Afedt fred.
Yx =140, Ty =150, Z(x —10)> =180, =(y—15)* =215,%(x —10) (y —15) =60

TEET x IMUT p Weliel WeHaielieh L.

g o5 = XX = 140 _ gy y:%:%:w




ST AT I3 1 =l x WIS [aaer=n qeaeh (X = 14) T Seial A8l e Sl ot
u=(x—A)=(x—10) M v=(y—-B) =(y—15) AR HU IHdA Bl

UG @efta Aifed! fooel o1

2(x—10)* =Zu? =180, Z(y—15)* =Zv? =215, Z(x—10) (y —15) =Zuy =60

S ¢ = AFY A TN HOIER! AU YeH  yy, STy, TMHE AR,

Yu =2(x—10) = Zx — 210 = Zx — n(10) = 140 — 10(10) = 140 — 100 = 40

v =3(y-15) =y - 215=Zy — n(15) =150 ~10(15) =150 150 =0

{v Sk=k+k+k+.. +k =nk A% k 3=}

n 9ol
Tl fohudHT @l A Saea,

nZuv —(Zu) (Zv)
\/l’lzuz —(Zu)? -\/nZVZ —(v)?

7 =

10 (60) - (40) (0)
\/10(180)—(40)2 .\/10(215) ~(0)?

600 — 0
J1800-1600 - /2150-0

600

= 4200-4/2150

_ 600
/430000

— 600
655.7439

= 09150

oo o= 092
T 32 : YA AT-Teeat foroarinefict Helel HASTUATHIS! THT IM=AT ATcTehIq ra farmeaten e et
HUATA el & ara faeneatft e fawama fuafaciean ot Aifediass @i faeear swaren
TRTERT=AT Gt St 25.5 Thesd. anfyrama, Secarad Uent fawama 9 faemeatsr ur arg emd
T AR | TOT AT-ATMSS AT AT hflich HgHa(elich Pive.
A9 n = 7 AMT $4° =255

M foeneafti wh fowam OR@ O STRA. (.o m=2) HS YU G Whdl I, STAATHAA
méwamq@ﬁwgé(%) WA 342 9 T el A @nd, @M ‘CF =
fhma fhesd.

@ weusy




6[Zd2+CF}
r= l-——
n(n®-1)
B 6[25.5+0.5]
I TP T
_ 6(26)
T 7336
- 156
= 1= 336
= 1 — 0.4643
= 0.5357
r = 054
p (_amier )

® TEHEY : TF Tod Uehid dedl Wik Bld Yl S ML Yoaal fohell Y&l wRihRom
oy a9,

o U@ WEHeY : M ForeA fhudia BN W ST YHIUIA STHW, TeUS Wi S wedsied
U TeHEY : Hedeyd =ore fhAdidia e TehE foRia STl

faferul omerdl : gu@ weday ST ®=1 YR (¥ fhal H01) FHESOARN T W TS5l
Tt TUad=T=t Ugdl : To" Wik STER HE g TomHie g Hedeyr s ufsa
Y () METIAEN IS TS,

o fawiw=it wHich TEHeUT Uegdl : UM FeTvElel Tt U= T5dl. Sieal HEATHE
e <N TAMH FHREGRUTET Hay T (ffg) it Id T8, W a1 TR B GAES[ TAR

® =07 BN QT TeEeuNl A9 TR, ¥ GAfOd, W IR THRAT TeEeH 3T Ik,

To)
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((rrosit e i) .

I
lw .
@E{ e TR Tehs
et
I
! T |
faferuf armepdret degedt hrel fuard==i gt e
A ST e T <A
J
it et
et fuadTel wegt
Hedsitis = r
e Cov(X,¥)
D 7= GEsmoE T~ sy

JY Cov(X,Y) = T(x=X)(y-y) _ Zxy-nxy

n n
N -2
s, = \/@ w5, = 2(yny)

Z(x—x) (y-y)
V=3 257
nxy — (£x) (Zy)
\/an2 _(ZX)Z ~\/n2y2 —(Zy)2

nXuy — (Zu) (Zv) . A ’
@ = \/nZuz—(Zu)2~\/nZv2—(2v)2 AW u=x-A fF@ , v=y-B Téen

2) r=

3) r=

y-B

Cx Cy

(5) r = Z(x-x) (-¥)

x_y_ foRa: @eM g,
©) r = Zxy —nxy

n~sx~sy
o=t wHih TeHsT=l Ugdt :
2

@ -1 S s e T

6[Zd2+CF}
@) r= l-——5— =1 FE SEEFITE TREAA e SR,

n(n® -1)
9 d=x FHA - y AFA= R, R,
3
cr— o = 5 (731
m= TEEN SEAAFAC SN del GREd 2 qFe

(i07)

— r—



e 2

wreter facieanr derfeuss wyaidTet O fasmeu fHaer .

1.

TEHIYTAT HeHld 1 A@™ Segad (x,y) SRaed dad o STl gl i wod ?
(a) =@ (b) =g et (c) faferol smepd (d) smafa =

SR X 3T Y HE Wield SRaeayH Il ATehd! fHesd sT8a @ o 3F =0 wdl deday qfaand ?

(a) €Yl o9 Hedey (b) oA o\ Teday

(c) HqUl kU1 HedeH (d) sifder Rl wedsYy

R X 7ot ¥ gl wretteyHmr fafeot stehdt fied o189, R <t Ied SV Fedsy Seedl ?
i, (a) wyot o9 wewE (b) sifers o7 ey

(c) EqUl kU1 Hedey (d) oTiferer Ho1 Heday

fafertl strepcdia weiw foig T PET o SEdd ™ » =1 fhAd &E dRa ?

(a) o (b) 1 feham —1 (c) 05 (d) -o05

Tedeyie =1 fowR w@ o' ?

(a) -1<r<l (b) 09 1 (c) -1<r<i d -1d0

R = geH e ThH TR enfn 9 S En uewe Ol oed, W AW Sede e ThA
foeell @ | ?

(a) fem (b) @i (c) fensit (d) whH TEA

SR TF SO STEe YHIUTG e foeg fRid W B 3Td, W 1 SF dJaived Sl
TR Fedey Ygead fHesdr ?

(a) oTifSrr oM wedsy (b) Hqui % HedeH
(c) ¥qul &9 Hedey (d) oAiferer w1 Hedey
Fe TTaET=a Hededis AN 6 S w1 quifaar ?
(a) X smfor v = fo=momsn TomehR (b) X enfor ¥ = wafo=ro
(c) X = fa=ron (d) v = fommm
Qreftedent » = wU fhAd e AR 2

(a) 0.99 (b) —1.07 (c) —0.85 (d) o

108
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_ -B
\_rRu=x._A,v= . , €0, ¢,>0 3EA, W WEaUH! Hod faum ¥ s ?

10. - cy
(@) rex,y)#r@v) () r(x,y)>ra@v) () rexy)=rwv) (d) rx y)<r,v)
11. SR r(x, y)=0.7 3®d, R r(x+02, y+02) = fFma f&d e ?
(a) 0.7 (b) 0.9 (c) 1.1 (d) 0.7
12. SR r(-x,y)=-0.5 3W@d, W r(x,—y) = fhoa & sEa ?
(a) 05 (b) —05 (c) 1 (d) 0
13. SR 34*=0 EA W HHE FedsuiwE fHaq fed s@a ?
(a) 0 (b) -1 (c) 1 (d) 0.5
14. HHA® FeHaYh=A TGl S YA® Faalhr=al SASEe Jaferd Hehdd R, =R, 378,
W r = fhEd wE eEd ?
(a) 0 (b) -1 (c) 1 (d) 0.1
15. Hi® HeHsur=al qgdia SF FemHie HehreT SISiell e WU 2
(a) 0 (b) -1 (c) 1 (d) =ToTdie! ameafass e
16. HHS TEHEY Tgdld S oF 9 ORI SdAST $hAd e, @ 7 = fhad w1 BEd ?
(a) r=0 (b) r=-1 (c) r=1 (d) r=0.1
17. A% FEHeY RO BRI Geh STaciihTaIe! Jafed Hhd y 2 e HIvd 98 fHesfamam
I ?
(a) 2o (b) o () 2= (d) n(*-1)
18. el v feeR sTadial qeal foeiean UewAT WA ST e BOTR 391 ITd ShIvfel Jehid
HeHeY WA ?
(a) ol e (b) sifees o (c) Hqot &7 (d) sriferss o
el Yyl TehT aTeRId SUY ol :
1. Weqeyrl =Ared .
2. ERHEHRE] e .
refiel feetel 999 3 37fi1 6 7ed =eir=a SSMed o Wedsy e %1 R HedaH AR d Wi
3. Sfed fomm=n we den wrelt fam #eade Ui garen sfaad o e Sste o faftem,

(109)
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9.

TERN W e wWiehd e Ve Ue auidia aifies okt smftr wmeda g A,
TETE SR AT Ao ST FeeR 3T qegl Horeearen X ST &1 QI il | Aok
T wf.

5 GO e I S gediel sHifeEsE gHn

%S Fleardl e ST MU @1 @M BRI A=l S AL STHed] FeHaHa
& 1 R ?

X anfor Y neflal SeEedeh 0.4 378, ST X =01 Ideh sTaaieda 5 fHesfauam ot smfor v =
JId STaARAHYT 10 IS FOAM Tl W & FEhHR Gedadis i ssd ?

forentol eTreRdt=n WAl @i,

10. azn(nz—l)%ﬁﬁma s42 =N fhudien 6 T2 o8| W r W fHua fad ?

11. SR Fefoaom= o H0 9d, | Fedsdis r o o @@ ?
Qrefel Y=t 30 &l
1. 3ICEOMHE 99 HeqaurEr U GHSE.
2. ITECMEE KU FeEeHE e gHwE.
3. @ fEETen dsd=t uRen @i ?
4. foferol sd= =men =
5. 3fEH TeEdY WUN & ?
6. TR Ty WIS HF ?
7. 9HSE : HYU o9 HeEey.
8. TESEl : HYUl KU HEEe.
9. HUHh TeHAHTE AEvIhdl %hedl THd 7
10. v IR i fTaET= 9gdH ST wiis Fede = 9gaH Hesfacel dedsy THH
B ?
11. SR Cov(x,y)=120, 5, =12, s, =15 @« ® r = fHwa i
12. SR Z(x-X)(y-y)=-65 5,=3, 5, =4 01 n=10 HdA, W r 4L
13. STl 10 SIEME 2¢% =120 T FHi® Fedssinr fGhaa s,

1100

110
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Wit gy=i=it SaY & :

a W N

e

e ® 2

11.

12.

13.

foferol smehdl gt HHsTEn.

foferol smepdl wgdl= or enfor Hafer @i,
Hedayier Toed  foa

Fd foes ggde o ST wEier |

r=1, r=—1 37 r=0 9 oA .

fopdT=n wHi® weday ggdd U AT HAR |

. SF = Uy gt (X)) snfor fue Saed (fadeaRax) (v) fowei wreia mfedt fooed o,

n=10, X =120, y =150, s, =30, s, =40 301 Zxy=189000 ITE&ET TEHaHEH e,
FATARAAT 9 TS Wieltd Al THe.
Sx=51, Sy=72,5x> =315, Ty> =582, Sxy =408 T TEHeHH T

T T WHde § e gF fofasr feden swameed @refia mnfedt fHesd.
5(R,~R,) =126

A9 R, AT R, =1 S ORI Sefh foetenl a e, e foqee = s s Hin
e

RIS A Ie SHGARM! SR =A1 SR o Moiameki=t fooiem % (3, 5), (5, 4),
(1, 2), (2, 3) 30T (4, 1) A& OS] HHG Te@aHw w4l

el Sehell {HesaT

1.

TenT T=AT 1efd ATehTaR Araraar=ar Akl fhadl offor = ArTon ardia TeY Tohal shelal
Hfed] TTeeIHo 3T,

ga (%) 38 45 40 42 35

UNTOT (TeRd ) 103 92 97 98 100

e A= 91 7T AFTUEEie el foedT=a Usde Gedetie e
(11)

~ o weHsY



2. o SEIh hEreAl STV faene i 7 SEre e A1 saforica forepramame fawamd =
AT ey qHsoaEre! ue foeneatsn el e @l Afedt fHesd.

feremertt 1 2 3 4 5
e HHIYA G T[0T 45 25 40 20 45
feried ferehTaTd 0T 47 23 17 35 48

& Aifedtoed gt fasameier qomaeia we freden ggde dedeie e
3. TUH fohal -ed dew fAuRie AlGEdTOR wheREd yefd e sfesdl. e
- fadfeshen %9 v °F fwma Yoa swifor fefien ewfa sl

iGLIsicy A B C D E F G
Yo foeren & 5 6 7 1 3 2 4
ot fedem ww 5 7 6 2 1 4 3

Faeq grel Fomar feden fofamdia Tqma 9esoaEe sHie Tedetie e
4.  TUSEIS Y& TR TG ATV Hih = 9Ta HEfe Teie) THSUITES! Teh SR Siee=q1 Tel Afe-ard el
g1 3TfOT k= “ranfawel Wreie Afed] fHesfarr.

TR Wi Utd e T 9 340 370 450 320 300 360

FHIGRET W qfT 100 T T 9 190 215 200 180 163 175

e =@l ST RGBT WETaNA A dedeHic .
5. T focEf wesrel e SSRM @9 AMEd AN 9eea Heed, el Tw foshal @

Tl vE AT Eel amHia Hey qUuIEE! WelegH Tl a2l Sal Aie=aral Sl
a0 qeEel Fren queiel fHesfol.

WET YT uE Tq 65 | 68 |43 |38 [77 | 48 |35 |30 |25 | 50

ST (FIHTHA ) 52 | 53 |42 |60 |45 | 41 | 37 |38 | 25 | 27

o Tifediaed TUEd WE S GREel A shHih Tedsie e

6. dIST-UIed doo foeneat=l Ufket Sidell aX 3Tl UM Ardiel GeY THSvadrer T fetem
Y= N STETSId Saciedt < uier=n aRomdees 9rd faeneaf @refieyHm wy - foan.

feremeit A B C D E F G
YH uRE=n wH 5 1 2 3.5 35 7 6
fgda ufeen wu 7 1 4 6 5 3 2
e el uie= qRomHEeie 9rgd] SHSUaTEe! e Tedstie e

STIHSIIMEA : U 1 : TI 12




el Iohell fHesar :

1.

3713 foeeaTdier @aren aTwR (A1) 37T Seareehdr (AT )= forsei= mfedt Erefiaymm feeeft sTR.

Q©d () 15 18 20 25 29 35 40 38

3ATgehdl (2d) | 85 93 95 105 115 130 | 140 145

Fe fadT=n usdH dededie S,

TehT HIST YU Tel SeTehi {3 i- T WosTATHIS! Jqietel STSaSdTd TUEd a9 Teh R it
Tesfarctet Fediehe 70T (Grade Point) JT=i @ieiiel facien Hifsdiere shiel faE-=a1 Tgd Hedsdih
G

fZSiai- TR YU TS T ehetel TEd are 43 47 45 50 | 40 | 51

afera frasfaeter Teaie T 52 | 49 |50 | 47| 54 | 43

Trefie Wifediaed aehge s=da (9fd =rd foer) onfor gogee (ufa geR) wefia et frad
IS5 FedsYie T

RIS A B C D E F G

GRS TFelT ( wher =i feredt ) 750 600 | 350 500 200 700 850

TR (Ui &) 30 20 15 20 10 25 50

Qreflel Hifedt Tehsl HI0ATd ATell. & Alfediaed saran sifedd @@= o7for fas! afia geddsis
e fyad=n ggde e

O A B C D E F

e @@= (er@ % ) 140 120 80 100 80 180

oltaeeh U=l faehl (wAg T @) | 35 45 15 40 20 50

Teh TraX A=A YN HEAEES A=l STA6E! dietsd S0 =l ATd=a1 asHTAEie
oY FHSI0ATHIE! Toh! ORIl Srel el BMHAYT |a Hal ST AT STeiehl=A1 aeriasar
fedt  fresfadr.

Hrad a1 (feRam) 59 72 66 64 77 66 60

ARt a9 (fomam) 2.5 34 | 3.1 2.7 2.8 23 3.0

& Oifedioed O 7T SeTehTeal oSHEe $hHieh Tededith .
(13)

~— @ weusy



6. 3R feagr aoaE enfor TR = fash Meiel Heie THSogEeT Wiela Jifed) faefavamg
A IR HHh Tedaie el

gy dauE ( Afeqaw) 35 | 42| 40 39 44 40 45 40

MmgEhim=t faent (fuT) 600 | 680 | 750 | 630 920 | 750 | 900 | 720

e i TEHeih Al

7. ORQYIA STWATHIEIE! SEvdeh Yovl URET A ale Huamd ad. (Jd @il Iaui o1 07 fHesdra)
e feeE farsciean ar foeneafan sTdisg &T9aT (reasoning ability) STIUT S7efie SrcroaT=i
& B Hesfaeiel 701 WIefiergHTl SR,

feremertt A B C D E
STTUTSY &IHT T[0T 5 5 5 5 5
3RETT SeTuaT=it &THar T[OT 2 -2 -2 0 2

e SAISTY &THdT 707 SAeTeT SicAvar=t &Wdl Jmeia s dedsieis M.

8. TH & WHA A, B, C, D, E, FIM A oAl &= JAGEA Qreagdm o7 e,

= 1 2 3 4 5 6
JUH & g B F A | C D E
TEAT Tw F | A c | B E D

TEET IR e AR FeEe i S,
9. TF ¥@ TEA (X) S NI (Y) IWE @ea Hied! Hawel,
n=>50, Xx=500, Zy =300, Zx* =5450, Zy* =2000, Zxy =3090
qR I A DT (10, 6) T SN Fep ST Hqed] Tl & STaAhAr=AT SISl dadigd
HTGT T HeHaHhT= fhAd .
10. <@ YeE fowl (X) ofr @< (Y) wWiel @ieia Hifedt el
¥ =58, y=14, Z(x—65)> =850, X(y—13)* =32, Z(x—65) (y—13)=0

o HeHeHie e

11. 10 =t FF Felt (X) ¥a| =9 aoq (V) 7. o Hifediaed sy dedadis
0.6 fHeadl. FaX &I Aorell Wehl Afda=an X oo Y aar=a wumEHid Wenten 4 Udst
2 Iqell TAl, W HHG Tedeuiedt T fEEa e

SR SRME ¢ HIAT 1 @ T 12




12. 10 FfFEEt SREA 3 (health index) x ST sTdfar@ ™ (Life expectancy) y fawet
et foesfovam ote. wie Teddyls INYvAEEST BN Aifsdien %9 <A@ SN omfor wd
FHIRT WRRT=T oFTe olST 42.5 fHesd. oTRMG stk 70 Wifedmed ddeer smifor aTafard
AT 45 Hifedd Se@ qAUEdd Bid, T & Wifedioed A GeseHie .

Charles Edward Spearman was an English
psychologist known for work in statistics, as a pioneer
of factor analysis and for Spearman’s rank correlation
coefficient. He also did seminal work on models for
human intelligence, including his theory that disparate
cognitive test scores reflect a single General
intelligence factor and coining the term g factor.

After serving army for 15 years, he went on to
study for a Ph.D. in experimental psychology.
Spearman joined University College London and
stayed there until he retired in 1931. Initially he was
Reader and head of the small psychological laboratory.
In 1911 he was promoted to the Grote professorship
of the Philosophy of Mind and Logic. His title changed
to Professor of Psychology in 1928 when a separate

Department of Psychology was created.

Charles Edward Spearman
(1863 —1945)

His many published papers cover a wide field,
but he is especially distinguished by his pioneer work
in the application of mathematical methods to the
analysis of the human mind and his original studies of
correlation in this sphere.
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“Prediction is very difficult, especially about the future.”

— Niels Bohr

3

Qi Faadss
(Linear Regression)
)

3.1 e
3.2 qwafaadsy arsd
3.3 fraddsy W= e
3.3.1 faferut strepfagrr
3.3.2 gFaH St gt
3.4 OGS STATETT SUARTT
3.5 wEfaeruT IfuT HeHsdithas Haagsish
3.6 frgrasmd=n 3w
3.7 TraadsieRm ToTeH
3.8 THaaEseT=aT SUART ATaEETEt Qe
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TR STITEA : U 1 : TIAT 12 ~—



3.1 YEE

MU AT YT 2 e TeHed=] ST Shell T IV UIfeel hi TEHeiRIgR SF FemeEia
Tay o fhal ¥9 ARd AT Hedd Ad. e Aremia Meeds Aad! e, g SedeuiREE
T AT 1A FRAAETES el STed gE=l Jamel fuferd fehen ST{ATa fohwa fHasfoar 3q el s=amder
S T A TER HeY THdl. degl Wehl JolreA fohdioed gEl JarEl e fhan st feRea
N G ITAN HE  THesaedTel  STEvdehdl .

I, AUTE Hifed TR hi, TWTE IRqal Sedd @ ST o axqel fosh! I Heday e, STl
Sfed Gatean TErEn fohedien SAIEq sqea foshifors=il STTHM FUaam=l sT8a ™ Fe Hedeameaed d fHesfaar

FraqesiETT (Regression) INfegeh 31ef “Uferme’ fohan Tt fdhmdiene WRa 20 o741 Brl. /e STaehd=n
FITHRTIH T HI-HE Tieed o=l SiheRmeRH qagad ‘faqddy’ qgm=n swm s fuar sufor aso
= 1000 Srear=t I Afed! Thsl Hed &H @eia s sk e

() =¥ Toom 93 sifysws 39 ot &t 39 fUe= 99 H1 39 3T

(i) 39 focrsn el wwad I=ven e e qued 3= SR e,

(iiiy wHT 39 Tocai=n wEEl SUEd ISNET A gAE SOl 39 SAfue ST,

e Frepviaes T8 8d &1, T So e fueren S5 devia fieee ouifad. smges Arasd
o o Y I AU A A AT favmrelt STa el sy Hey Ssifauardt w wifeE  Mee
fraqeey o T foo. faqdey § 39 weddfya gomdia faderers ey TR, STl ou F Herded
FE-HRU Ty TR T YHURI UA A "o FAqHeyEl S S,

3.2 | fraadsy wise (Linear Regression Model)

HIVATE! Hoit fohel THEA S HM Tk fohon ifeen HHiehum=a o Aied 319 FUMN. hidi-
FHROT oY TROORT S FdEe dey SRifad siherneiy Aisad fEddey Aied [, |rE=ao!
FE-HU GAY TR Fer=dl HR0 el X Fod Sufada S @rern A fRue fhar R
(explanatory) Il UL I, T HAEEY TN ¥ 7 TG AL A AU Foe fhar TEFgH (explained)
TA WU A Giefd 3QRONIEN U 5 oo |e Seren S §ESed U
(i) ‘Sifewa @<’ suftr ‘fas Aefter Heuma Siegr ‘Sfewd @< amedr (FH Eal) ™Hes fashiau ared
(st BId). @M AOU Sfewd TEiA Ry =a X W i fasren wie = Y WU
3,

(i) TETEn foandia A’ STt ‘diger S HEfld HeUd TIF STIE i ‘digeerd S § CHreErey
SR 3T, e ‘gremmar e =@ X offtr ‘diger a1’ ® 9hel 9d Y WA R

Fraqesy A= e =a Y fRus = X o e Iy o fae9amgn e oA 3d. ST
U @ HaaEey Aieddl WEAagHe AR ®E

Y=o+ X +u

i’r?}, Y = N =d
X = oy =
a = AIdh
B = AEdH

u = HigeHn fa&d (disturbance) =
A%y §IF FA X A Yy efia gr@ deymEia oquiar I Suifad. rkfae fos™ (Natural Science)
3q1. TG WYl e HeY I S8, @ oReR Ul @l seHed fasd 9e o = fRHd 0 BEe. gEe

@ Freadss




=M HEE Wl W SH Fd X A0 Y A Hqul Hedey SHe T fedEsy "ied Y=o+ SX BEC
T AR, e ST s foama SF Sames JMrd S0 giE Hedey qeead fHed A6 R
F Hedsyd Feler s UReen IR SEld Bl WS i Seal X S Y odeed At Hedsd
A degl ey Afee™ W®Y ¥ = + SX +u Bsd. S0 THae QU@ FEaqEsHTe ¥l v @Iei erg= ol
AT HT sl

M Fegsid e mivae fhan fagereres @ dey S Sag FRus Tt TEmEn feden (9 )
fhAdtardl gy wue =ore fhade STAM B Tohd el guE Feddsy womdre.”

3.3 Taauey W= 3/ (Fitting of Regression Line)

F1, T T @ aqddy AR, 9 SamHid dey Sufau oTeh W fieseremren ugdien Haadsese
SIS FEUAm.
fraqgsy W STERISEERE §F USdl R ¢ (1) fowmmt sefaet gsdl (2) =Aaw G g

3.3.1 faeniul epfa=i ugHr

AT 6! FEFsa oA X A0 Y =1 A== o HiHw e (x, v,), (%, ¥,)s e (5,5 3,)

3R, 71 Wifedioe fafeot stepfa wrevar 34, star fafwol stsfaa Staesiaes wdw foagea we daea Siae TarR
BN T T hTeUaTd 3d. SR Y el 9 ST X fRUsT =e1 318, ) STen Well Y+t X ol Fraagsy
TEUTATA. AT Tae e =i X =1 feeiean fhadiass @ sTI&y 9 9a ¥ = sTama fohma fHesfaar 3.
1 YR T HIGUATHIS! FHIVIATET FehIE! HISTO ShvdT= STevdehd] T9d. @M FMaadsy W= stamarsH = &
T ST T TGl AR, T 3TH FH0A Teh FHE 3ATe. SNTelTeod] ST SfTaTed {91 g Wehdiiel. STT07 Fuet
TA X = THE AT of-dieedl At due =9 Y = fhAdifasel an-aies A fHaedia @i
faferul smpfaaes ® weamd a5
THE HAlfedlosd TR Feledl Ss  fafeel spfad 9 Smeren wafe <9 aeRTed I
M7 [, Fedd. I9 AW A3 K1 RO TG X N TRl fFAG ‘@’ Wi e SEd |
wel Y SEEa fhwa oy, e
W [, g8y, e srenyer FRae
A X = A fhAdEel o SAIEY quE
Id Y= AN-edl  {EaEd AT-oie
sTAma fhaa fied. @mes & 0 safwast
(subjective) SR, 3T Ul UsA. ' TS
e foaddy Wen 98 sEmifa W
: WU A9 ARl HROT HT A T e
5 —— X 3y o fem ey owmt @t . 93
sty Faadsy W fHefarame =g
= gEdiEl STERT O Al

SR STIMEA : U 1 : I 12



3.3.2 gAqu aEnel UGl

TS HI S Hegetud 9o X (FRoer =) onfor ¥ (Woet =) =1 STl =l n shideh SiTe
(xl,yl),(xz,yz), ......... (xn,yn) foafoean e, =Faw o=l qgdl SHSvaEd Ul ' wifedre fofert
SR TG, SR X A0 ¥ AL
y 4 Q@ fFreadeuen ffaod o
W FHROT § = a + by 3FHA, R
;W FFAh a 0 H =AIH
AT Igd @Iyl ShTedl
A -

RESI KN X =

Y =1 HAgaifead  fEod
Yo Y25 Y3seeeenn Y 3R, S X =1
e fhAd X =x, 1 FAIEY
> Xy = sgAEa a5, =a+ b
N BEd =a ¥ = sTaaifed fohmd
0T SrgHTa ferra 3, Heffer sva
(vertical) 3 (y-ST&Tell FHIGX 3FR) o1 STTAFIG I (error) FUMIE 1 ¢, 7 SRiferdma.
e =y =Y :yi—(a+bx,»):yi—a—bxi
Y, i=1,2,3nt
T R HI WA o arpen fagHel & uA A ST WeA Wietta as faigHel T HO s
afor & foig WoeR ofedia sten feigEdt & Y TEd.
M SFEEING W §=a+bx (V=01 X 90a Faaday W) 9 =i ¢ A0 b =91 fhAdt smgesr
frefauam Ja a1 <age IEen o 9i9 FHdEH =S AaE eEe.
EOIG] Zeizz Z(yi—jii)zzf,(yl.—a—bxi)2 ATH Blga.
fosTforar=n Wes gsdid A9 g A b = oFen fhAdl fHeee ¥F 1 Wedddt ST (suffix) i@l
TETTH I AYHT 3.
)
£(x-%)2

N
N

nzy—(2x)(Zy)
nEx’ —(Z)c)2

afor
a=y-bx
B USAH W §=qg+bx Al sTpfda Te foig o doed SEed TOR VIR W AR, Feadey
o foefadin Jfeen ot SRS =Fd9 FOAE A, AHS Il <IAdH STl ggdl T,
IS e p = fopvia ¥ = X a%d Faassy = fHaassHia (regression coefficient) FEUTITA. el
Fraagsy T 3R (slope) SETA RUMIG ST S{=elisr ¢ @1 Faadsy W= 3d: @< (intercept) TEUMAM.

q@ faier




s p 9 3refaed

b =<d x = fhmdld Th THH Wk hedH 9 Y =N fRAdd SR W RUS i Sedl b >0,
U 9@ x =0 fHuda Te UEeEl 9@ Aedd duel I9d Y = fhRuda b Tee sigifeid 916 grRd.

Sl p<( TRUE = X oA fhwdld T Ueheh oG el OX Wel = Y = fohmdia |b| wehenrs
C ISR AR
Y Al TR I AGH A JgdH Hefaere Faadsy We 98 =mifsd W™ ®=UF siieed.

g :(1) Faagssi® penm b, A IEA oA, AoRTHal THeIH  FEdEsin AU weR
b= T,
(2) SR faferol sepfaa wd= fog T W WA W Fo= fogEm T2 I R M Je 9
y =i STIAMI fohid § T @I U STaeilehd fohed Bid. Tes Faaess We ©&Y § = a + bx
TS y = a +bx ST faAfedr Jgat. T8 AR 1 &N IR b >0 38 | TegsEis » =
foRid 1 B1Sa 301 pp < 0 TR HeHsHih= fhwre —1 Brge.

(__ oo st wheht )
[ FraaesY =1 TSR SN Wekd <IAaH el dgdrard ST Sl Mgwﬁlﬁo’tfnﬁﬁ'qaﬁﬁﬂ

WS IR IS YT 1 TS e “STaTFifeId W7 3T Seoid hivdrd A4l

st oA Fraadsy W fHefauarh wEl IeEw uw
ICEWT 1 : Tent T Hui=ar Tt Aiser=l &R Y (AMURuATe 98 ) ST e |Juad aifveh
Frume weaEr fusfaee sTadeh EIeeHToT 3Td.

I A (9 ) 2 4 6 8
TEd At frvme @+ (swR ) 10 | 20 | 25 | 30

e e et wRe gsEdel faadss Yo et SRR s 10 99 318 @ fama
Tt A fes.

Y ‘R AT U = 3. e AT 9 X A SR A1 (v @ § Ae 99 3R, e
W Y A M, Aifedl difecard STome faadey W Hefauamadt @refia wime a9,

Eate ST e @= Xy x?
(@) x (& 3)

2 10 20 4

4 20 80 16

6 25 150 36

8 30 240 64

ThUT 20 85 490 120

)
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T4 ’ n 4

4(490)-(20)(85)
4(120)~(20)*

= 1960-1700
480—400
_ 260
80
= 3.25
. b=325
A X,y S peR fRHd o = T ST,
a=y-bx

=21.25-3.25(5)
=21.25-16.25
.a=5s
e fume T= (1) = #wRE g (X) ol fEaEsy

$ =5+3.25(10)
=5+325=375
. $ =375
STMYHR, HRA AT 10 I8 /e, dea1 Al A fH9E @+ 37.5 &9k T o8
g : h=3.25 R TS ™ WAl I8 &I @S (X Tho Teh) A, HRAT 9@ T
3.25 &SR =1 W 9@ (Y Hed BN WER) el
3CTEOT 2 @ UehT ShUHI=AT ATT-aiTedl Ueh=al eiUeiu=lt |ifdeh faeht (91X Ueheh ) MMUT IT=m TRt
(V@) giel ydesn 6 uieArel Wigdl WIeielgqror 31,

afgr 1 2 3 4 5 6
faeherean wueia=i

T (MR TEE) 5 7 5 12 8 3
IR (@ )y 8 9 10 15 10 6

e Y St X i fFraadsy W fheer. wiidEm X = 7 @6t Yo fdudtder SrgAmTdter

FET g
T Fraadsy




forehorean efuea=it T
TEAT (99T Teheh ) (7@ ) xy x?
X
5 8 40 25
7 9 63 49
5 10 50 25
12 15 180 144
8 10 80 64
3 6 18 9
T 40 58 431 316
F= I = M - 667 = L =3B~ 967
s Faqgsys b= fohda @rcliagaml e A
y any—z(Ex)(Zzy)
nEx”—(x)

6(431)—(40)(58)
6(316) (40)*
_ 2586-2320
1896-1600

— 266
296

= 0.8986

i

0.90
b = 090
A x,y S pe fEAA a=N R Saed™,
a=y—-bx
=9.67-0.90(6.67)
=9.67 - 6.003
=3.667
L a=3.67
SRR Y X afe faadsay
y=a+bx
5 $=3.67+09x
A x =7 W I TYTIHEE], HaUyH el AIEd AAFG fhHa fhese @
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X =7 9™

$=3.67+09(7)

=3.67+6.3
S $=997 W@ X
sTar fooioon Aifedioed SOVl 9% ¥ehdl ol X —7 @ 3Tg®Y ¥ = sTaalfha fohdd 9 .
L T e=y-

=9-9.97
e=—097 «@ %

I 3 : TehT HU R Afad HeWeA HUTdieh el R&il hIHMEE AR 96 T &<
Ireiter Helel THATITATS! WeTTehiY Hiteedt Uehal hUATd ST

HAT TEEIAT qS
(wrelt )

e @d (TR ) 25 35 18 2 28 46

JqEEA Y (qEEier @9 X (Texten de) aba aadsy W fiegar. SR gewaer 50 a9
AN A, T Fodran @l Jive.

ﬁﬁn:6,f:%=ﬁ=34, y:&:%:zg

32 40 25 29 35 43

6 n
(ATET ar) (R %) x-x y-¥ | (x=%)(y-Y) (x_yz
X y
32 25 -2 -4 8 4
40 35 6 6 36 36
25 18 -9 —11 99 81
29 22 -5 =7 35 25
35 28 1 -1 -1 1
43 46 9 17 153 81
ThUT 204 174 0 0 330 228
2(x—x) (=)
b = )
3(x-x)
330
228
= 1.4474
=145
b =145
S X, y, b = fofHd ¢ =0 ¥ SaTTN,
a=y-bx
=29- 1.45(34)
=29-493
Soa=-203

e —



STWNYSR, ¥V = X ola froaesy T
y=a+bx
$=-203+1.45x
X =50 SIeIH
$=-20.3+1.45(50)
=—-20.3+725
. $=522
ITMIFR, SRl O Al d 50 TH FHA degl e @9 FAFE 52.2 (FIR T) BEA.

e 3.1

1. Ul &= 9@ (T 9) o701 &=l Jrmelt (3R Tohen) ARl @relid feeiean Alfsdioed JRmoi=
gaadia fraqdsy W fHeear onfor St W@ 3 20 A dee AR STEM  fiyesn.

g (%) 12 14 15 16 18 21

HATOT (g9 Tehehtd ) [ 18 12 10 8 7 5

2. SR S FOTA THl U TH ASA™E FR AR ded Ao el fve @ ameia
T A HOAME] GTAegATY Hifed! THesfaoama  STet,

& 1 2 3 4 5 6
ST ATURUTEN dcs (a9 ) x 3 1 2 2 5 3
T aMfeh U = (R T ) p 10 5 8 7 13 8

FEEA ¥ = X aid faadsy W el S wR armuart 9 5 98 S8 deel e aifes e
TEET STAM ST T WL

3. T TH auid 9 fSegdm el aUE use (S we) onfor fye e (W) fomeh
et WAy 3T

TG TS (At ) 25 | 32 38 29 | 31

fuer e (29) 84 90 95 88 | 93

e TR e qreEEel fHaddsie I S ST SR T 9 35 9 3| W) BT
fyepr=a SR STHA .
4.  IER A KO HERNET STHE S0 = H-Hieed 376 (performance ratings) ATt Afedt

WIATATH 377,
HTTR 1 2 3 4 5 6 7 8
sy (T ) x 1215 [10] 3 [18] 4 |12 ] 16

T -SRI I y 83 | 75 | 80 | 78 | 89 | 68 | 88 | 87

TUEE HE-HRGT ST VAR FrEadey WGS9 ST TEEn SR Sye
7 utEl AEA W AT FR-HRGT 3R oW SFHH

*
SN
@D

STHSIIE : W 1 : TIAAT 12



3.4 TaqusuT=t Su=tTEar

(1) 37 weddfyd wamete faserees ddy wos] ok,

(2) T TaEaTeTs HeY YR SeaH@ FRus =9id X =1 9 fhadiaed 9mhe 9a ¥ = S|
fohmd oTAE fHesfaul vk ote.

(3) 3TUE FRUsT =t X =1 Tehmeia SIoTR e =it ¥ Hed BIVINT SieIfSia hich THl.

(4) sy Wee qie werEl SAMG fhaa wuvad 2o g% () TEee.

SO, TSR, HS1 FUM, TEigehdl, Teed AREel fFaaddy gaa ITErt ST,

TraawsidieRT=T Uil |ieTe Ut

SieE1 X o ¥ = fehwdt S Hiesn stedie ofifor fohan e sTedie @ 12, xy A U_HE
TSt e B, STeN IR derfedd g5 AR a4, § §F Foadeyi=n JEd TUEmeR SuiRd TR,

Ut ;. FEdEEY ST G A AR, W A (scale)= URERATONA @ds AL

SR Y = X ol frerasy W fadgsieis b=b,, 9, T e TorHies & S Eo S egH
fefea 22a.

() R u=x-A 30 y=y-B WA W

nZuv—(Zu) (Zv)

b=b, =b, = ————>— TEd.

nZuz—(Zu )2

@) W ou=2A afr o2 s@m w

Cy Cy

_ _ C_y _ nZuv—(Zu)(Zv) C_y : f
b_byx = o nZuz—(Zu)z ey '

38, A,B,c, M ¢, FFA® Ted A ¢, >0,¢,>0.

IITET 4 : TehT WA cllehTal HITHeh 301 (R T ) 7fur wifaes @ (TR % @) amefiar g
HASUIHEE! T GHE | SAfdaen eyl I @refiel Witedr fHeret

e 1 |2 | 3| 4 | 5|67

ek a1 (39 T) 60 | 70 64 | 68 62 | 65| 72

e @9 (FWRI) 50 | 59 57 | 50 53 | 58 | 60

N Wiediae SHfeaean Hifdeh Teisl Alideh SA-TTadel Hedaustr T fHesar. S aqg TEren e
A 75 TR I A T wiideh @ear e e

e el HIfGE I o fHeaeaE! s Aifgs =t 9 ¥ S At Scre
Ia X 7 <9 AL

@ Faadsy




¥= =X = 4l =g586 e y=

WM AU A=65 3O B = 55 3= y STy o Glayde AARd HE dl
u=x—-A=x-65 \3:”-&-[ sz—B:y—55

Xy _

387
7

= 55.29

e 3= | Wit T
(R ) (T ) “ Y uy u?
=x — 65 =y - 55
x y
60 50 -5 -5 25 25
70 59 5 4 20 25
64 57 -1 2 -2 1
68 50 3 -5 -15 9
62 53 -3 -2 6 9
65 58 0 3 0 0
72 60 7 5 35 49
TehUT 461 387 6 2 69 118

A et ugdd b = fFEa @refiayEel Y I5d.

b=b

nZuv—(Zu) (Zv)
nSu? —(Zu)2

yx — Yvu T

7(69)-(6)(2)

A, a=y—-bx

=55.29-0.60 (65.86)

=55.29-39.516
=15.774

" a=15.71
SYHR, ¥V = X kel faadsy

y=a+bx

$=15.77 +0.60x

TR STIMEA : W 1 : TIAT 12
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X =75 399,
$=15.77+0.60(75)

=15.77+45
=60.77
$=60.77 TR T

e S @ Hfkfd Hifdeh 391 75 TR % 39d W A1 IS Aifes @ 60.77 R R BiRa
I 5 : [T 1 qed feeren wifediandt, frama @< (V) = &+ o= (X) afe Faadsy

T G Uegde e
wE AT (TH) x 2 4 6 8
Ay == (WRI) y 10 20 25 30

AY, X = gow fhEdEn 2 7 ot ¥ e wew fEudien 5 A4 9w 9w vem e, enfor x=5
M y=21.25 3 @M ATA™E A=4,B=20,c,=2 MM ¢, =5 ==
S, u ST vy T CIENAYHEY EREG HE 2.

u=2A4 = X4 oy - y-B _ y 20
Cy 2 cy 5
X y u= xT_“ y = y_TZO uy u2
2 10 -1 -2 2 1
4 20 0 0 0 0
6 25 1 1 1 1
8 30 2 2 4 4
TWehUT 20 85 2 1 7 6
b= b C_y _ nZuv—(Zu)(Zv) « C_y
Cx nZuz—(Zu)z Cx
4(7)-2(1)
4(6)—(2) 2
_ 282 5
T 244 X 72
_ 26 5
T2 X2
b =325
(17
@D

Sw——



AM a = y-bx = 21.25—3.25(5) =2125-1625 =5
Y =t X =fe faadey o
Yy =a+bx
$ =

5+3.25x

Hig : A U AW FEA H, b, = %—8=1.3,q11€@12—y = 3 o T S T AT

b=13 x %= 3.25 (3T 1 e fhasfacamyam)) fied, @me STaur Tos] Wehdl i, Sieel 9a X 3if/fehan

Y%W(scale)%mwmmbﬁmbww%%gﬂiweﬁlﬁ.

IITET 6 : WA oI Toar=aT Ukt feramdiara =ime] et freruarardt simetean faemeatay wra fermeatsn
Teh fE9l I e dfgHn oidh (1.Q.) STIUT it 75 T[UTeAT Ueiq fHesferetean Ut witedt

WATTgHToT faerett o1
feremeit 1 2 3 4 5 6 7
1.Q. x 85 95 100 90 110 | 125 70
T y 46 50 50 45 60 70 40

EEA p ot x afie Fraagsy W fuear onfur waweEn feneatar 1Q. 120 3« @ @@= Ui
ITAM /T AMEE LQ. 100 A R I T Jrem.

A, n=7, ¥= 2= = 85 -9643, 5 = =L = Xl = 5157

FY X Ao ¥ = Fhed] Hiow STHea™ ™= Hemdh SqUieh SAfU1 X = |e fehwel 5 A R vwm
I AN W TS ST FE

A=95, B=50, ¢, =5, ¢, =1 ®FT WU y A y A HADEN FE

_x=A_x-95 _yB_y=50_
u=""=73 oy = o o =y-50
L.Q. R u v
2
uy u
X y = x—T95 =y - 50
85 46 -2 —4 8 4
95 50 0 0 0 0
100 50 1 0 0 1
90 45 -1 -5 5 1
110 60 3 10 30 9
125 70 6 20 120 36
70 40 -5 -10 50 25
ThUT| 675 361 2 11 213 76

STRSIITEA : T 1 : TIAT 12



nZuv—(Zu)(Zv) o Cy
nZuz—(Zu)z Cx

_ 100 | g

7(76)~(2)? >

— 1491-22 1
532-4 5

X

_ 1469
- 58~

W |—

— 1469
2640

= 0.5564
. b=0.56
A a=y—-bx
=51.57-0.56(96.43)
=51.57 -54.0008
=—2.4308
L a=-243
e, ¥ < X e faaddy
y=a+bx
$ =-2.43+0.56x
X =120 <9I,
§=-2.43+0.56(120)
=—243+67.2
$=64.77 T
e wErEl fommeatn 1.Q. 120 8d del ™M iR O 65 3R
@ LQ. (X) = 100 & Ffe wWHTAER! FeuyH ¥V =t FAAEN fhuq 5 fHesemel @wa.

§ = —2.43+0.56x
X = 100 =qeag,
j = —2.43+0.56(100)
= —2.43+56
y = 5357 W
™G X = 100 @ 3EY Y = FAaAkAaEd fwHa 50 oM. (oo mfedt wen)
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L e=y-3
=50-53.57

. e=-3.57 T

dig : Y TG 39U AEYIR AR I, RUN FA (X) =N Hed A fRAdD WE JqA wEe e
3 IS el 3TEY W 9 (V) = WK SAdelfehd fhAd @ S,

IY BN I[EOMT X =120 &1 3TIEY ¥ =01 fohoci=a AqAH qfe e I T8 R0 &1 X =120 &1
STEY ¥+ W STaaifha fhma w@ TR,
IIT 7 : YOG HEHa TehuT SIEN0T 120 Wit 21T Wistuitas Tearsht fashiay freassie Yo fhear.

St faht 3 AT T WA W AT THRTS A Hl.

N SCEWNEE AU qEd 38 I,

x—A x=2 sfor v = y-B _  y-5600

=T 1 c 100

s, =0.1 o ¢, =100

A9 T T BT HISOA TATEE (x— A) @10 7 O Bd W ¢, B (x—A) = DA AN
¢, & fFEd 5 = 0.1 ¥

(- 10%@&1@[@1@?% = 0.1 9 WrOL)

S b = nZuv—(Zu)(sz) y Cy
nZuz—(Zu) Cx
_020-00) 100
9(60)~(0)* 1
1089 -0

= S30-0 X 1000

_ 1089000
540
=2016.6667
b = 2016.67
A a=y-bx

=5611.11-2016.67(2)

= 5611.11 — 4033.34
a=1577.71
M TR (V) = ol (X)) e Faassy
y=a+bx

y=1577.77+2016.67x

TR ST : U 1 : AT 12



X =3 S99,
$=1577.77+2016.67(3)

= 1577.77 + 6050.01

$=17627.78

sy fasht 3 wUe T BEA el ST W 7627.78 (3SR ) TR
( vt )
=/

TR 39 12 dq 19 i S W 57 d fedeR Afe SN A AifgE digae Scd S
Hifgesr @aE=l Aifedt Toha . AEe qiids @] Hifgs c-Teid Haqdsiy o fHean @meaes Ja=n
IEEAT AN A= IAEE & Hieare e SgAM 64, MRl Afe=ar= Iad BUeR fohdl
T e S d qUEl S0 GHE ATAM et qE S

3.5 WeEfaeruT NfUT FedeUihEae Maddeis

=1 T 9 X anfur Y fguet mfedienst wesen yanforg famem (fohan fomron) wefomrur, e IRt
TRE= A=A Fhadl a9 deal HaadsEie ST fHeqess o STeiayH Tl Sy Jga.

(1) S x,y,s0 (fFar os,), sf (fofam s,) o701 Cov(x, y) WRET AU Hifed & deg],

b - wgfarerr (x, y) _ Cov(x, y)
x= faeror 2

R € M (g)l D
Y n n n n
Q) S=®@ %, y.rs, (W 2), afn s, (fFa s)) arel 7 wfed sw@ea™ e,
_ y=aufa _ r's_y
x=ufa S,
M a=y—bx

a o1 p =0 fhAdt o™, V=t X o0@ faaddy W =S j=a+bx fHefaar A

ST SO Te! Y= HIY (Summary measures) feota om@a smfor faadsiy 10 SNemeEm=T 3/
ST ISR Ug. AL
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ST 8 : T AT TaaNIdiel Uradleedld USeiell Ursd 9t 7ed (X) 3fuT deiiel 3dre faeed /
TR (Y) Uefiel Heleme S1eamd swuararel fuefaeielt oifedt Wieietyuror 31e.

n=10,x =40,y =175,s, =12, Cov(x,y): 360
TEEA AR Y = USHE X e Haadser o fiesar,
ED] Cov (x, y)=360 sufor s =12 .. s> =144

Cov(x, y)

2
X

o
Il

- 360
144

b=25
T a=y-bx
= 175-2.5(40)
=175-100
soa=75
SRR Yl X aia Fraadsy o
y=a+bx
$=75+2.5x
IIMEUT 9 : TehT IR Fearal aMfifer 0= (x ) AT ARSI Fearat affier faauis (V)

;I TN A wuaEE fhafaeear 100 gEarer et wifed=r wwivr Ereftaywrer
TYifae 3Te.

X = At aiffew sa= (qrE X q)
Yy = Gearel WA Theldiel difteh Taaule (TR I 9)
X=55,y=405,5, =12, 5 =128, r=0.65

;W AEHTET FHearen RHAA Theldied  [adulehie geare dafie Iaeda  fraadsy
Yor foesa.

J4 n=100,x =5.5, 5y =40.5

s, =12,5, =128 7fr ,-0.65

Sy
A b= p. —
S.X

12.8

6.9333
b=6.93

®
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ST a = y—bx
= 40.5 - 6.93 (5.5)

=405 — 38.115
= 2385
a=2.39
SEYSR Y=t X ola faadsy
y=a+bx
$=2.39+6.93x
X =45 S9N,
$=2.39+6.93(4.5)
=239 + 31.185
= 33.575
$=33.58

e Segl Feard a3 4.5 TR I T8 qeal WA e alfteh SAIed aaue 33.58
R T TR
3GTEOT 10 : Teh AU SFGUITRAT ShU=iA STl dui=a Y Ufgar=an Jaet stea-e=n uig (3 )
YT &M Ao AU YLESAT (TRHTA Yot @it feeiean wifediae Siegl aieaTen \re
40 % 3T AR ATAT TESATA ATHA il

R W& (x) TS (y)

qad 30 500

faremur 25 10,000
r=108

J8 ¥ =30,y =500,s; =25,5; =10000 o1 r=0.8
s2=25 SHAM 5, =5

s; =10000 THEM 5, =100

I x =40 TR qEel YV = fhAdE SAE e SHead ¥ e X ada W fHeed,

N
v
b=r- 5,
=08 x %
b =16
a=Yy—-bx

®

Ew——



= 500 — 16 (30)
= 500 — 480
a =20
SRMISR ¥ = X =l Foaesy
y=a+bx
$=20+16x
X = 40 oI,
$=20+16(40)
=20 + 640
$ =660
M 9@ T 40 3TIET qESAE FIAHE 660 Theh .

IETET 11 : FETUT URATATA ekl AT Ueh kil WU TR 2I0TAT SHEIS AT ehidl. ATUReATHaT
U AT AT T L. YTATeh T Teht AT <1 SH=ai=T {aeh (ATt Saeiet 3118, Yiae=ar 9al
ifg=ren QUad ot (3 1) MU =i JrTut $iuR (Ueheh ) 9% @ieitel gy fiesdra.

n=6,%x =45,%y =122, %x’ =439, xy = 605
T Hfgditera SrHeArel AUl () o |ie (X) el fraaesier T 9irer 3nfor ura T 10 3/ dJeat o
TS AT T STTHT .

— P
Wy =2 = Pogs, y= 2 =12 =003

any-—(Ehj(Zy)
anz-—(Zx)2

6(605)—(45) (122)
T 6(439) - (45)

— 3630-5490

2634-2025

_ 1860
609

= -3.0542
b = -3.05
a =y—-bx
= 20.33 — (-3.05) (7.5)
= 20.33 + 22.875
= 43.205
a = 4321

®
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SEMYSR ¥V = X o’fa foaesy
y=a+bx
$=43.21-3.05x
X =10 o™
$=43.21-3.05(10)
= 4321 - 305
$=12.71
e Sl 9 % 10 A el STAM "AF 12,71 (VR The) ST
ST 12 : TehT UGN SATGd YaTaarhigl oeld SATETean Tehl TehHTd oNT-aNTedl dedl ari=n
(Tt /) enfut foera-sareT (afe) fawdt urer eraeien Agfauara 3trell, =T @reftet
Tt frarett.
AT o = X fohelt /a8
ferg[d Seare = Yaie
X =20, y =186, Zxy = 23200, s> =50
;W Wifedtaea forla sarea (v) =i aramen an (X)) of@ Fraadsy o frean s amm=n an
25 fortlt / A 3@d @ I ferpa Scrg e,

A9, n=5, Txy=23200, ¥ =20, y=186 A1 s> =50

Cov(x,y)

AT b = 5
X

N

Xxy-nxy

= 2
n-sy

23200-5(20)(186)
- 5(50)

— 23200-18600
250

4600
250

S
Il

18.4

a=y-bx

186 — 18.4 (20)
= 186 — 368
“a =182

®

S —



UMYHR ¥ = X aicd foadsy

y=a+bx
$=-182+18.4x
X = 25 3999,
$=-182+18.4(25)
= —182 + 460
$=278 @i
@Me Seel aFEl o 25 fRdyae s desl siaiea 278 die ol Scaed g

e 3.2

1. s fYeer @aren agEn aRom fefavamadl Faen sragaes @it Aifed! et

aren aw (10 fem) x 28 35 25 24 20 25 20
HUETE SAEA U gael (faEed) y 128 | 140 | 115 | 120 | 105 | 122 | 100

FEEd ¥ = X ola faagsy W fHean it 300 fon @dmen SR Bl deel shiaEreA Yt
I SFTAA  THosd.

2. fuyar enfor 4 aen SEwdiel Sey qureuarEet fadr St Hie O A 318 e Hed Wieliel Aifadiaed
e ST e Ieka Feassy T fHeeE

et St (&) x 167 169 171 168 173 166 167 165
AT S (W) 158 170 | 169 172 | 170 168 164 | 167

Sieg TEmEn et St 170 9 o¥e qee g 39 SIAN A

3. THSHURHRH et 9 (altitude) ST T Teresr=AT Bodel SUGH SIS YRV ATfasRit= Wietd
Hifgdiaed U S eRTsH=AT A= (Y) ST FsadeamT= 3= (X) e Faassy o fiesar,
(305 Ht = 1000 %2)

Tt S (305 W) x 0 1 2 3 4 5 6
wuge it (%) y 209 | 20.1 | 194 | 179 | 179 | 173 | 16.6

S @R W SREIEaRd 39 7 ThE (1 The = 305 HiR) oHd W & gadd Suge
SRS THRhAN= SicSl fHesd,

4. TH HIST IS SIS ATROIME] ST 3707 JifHeh e ameiel Hey qUravaErsl Sieelgqmor Jrfedr
THs FOIT ATl 3TR.

AT AW (= W) x 55 60 75 80 100 120 140
A gy 18,000 19,000 20,000 20,000 25,000 30,000 50,000

e ¥ = X 9 Faadsy o e, SR @R sdid arRegrEl S 110 =L EL T8 ) A
are fRdl o8|, ®m a4

TSI : W 1 & FAT 12




S AT Wh! HIGHES Treehi=l e offor fasht (ST &R %) amefiel Hey TusoarEe! WieieTyH Tl
freet mfedt figesd.

TEwTe W& X 50 70 100 70 150 120
forent (q&T &R ) y 2.0 2.0 2.5 1.4 4.0 25

IEEA y A x WA FaaEey W Al S wErEn foewt 80 el Hiee ¥ Rell o et
faset fodl oelt oT¥a @™ ST{AM .

TH VeI HUS HATIEME el Uedial TUE AR (AR %) St el anfves aded @
(ar@ %) =t Aifed! @Ayl 3R,

quster qHT afEadt @
x y
U 60 25
yaTfuTa T 6 3
TEfaeruT = 10.4

Y = X ofe froaesy o fiyes.
TSI S-oTeod] AIaTd geerall S Tl (FHY) 3Tifor 7ol 3ca=1 (fodiea/egaR) ardiel dag
TAHUAEE! Tehs sholed] Hifsdiaed @eftel aRkomm  fHesdrd.

qugfier Ty (9H) TRl 3=
x (forevea=) y
LR 82 180
TareruT 64 225
HehsdiR = 0.82

T UE 60 T YA deal el Sca=rEl STIHM  fHes.

TA= TR ded (Fe)= wE (X d) (X) 9@ ST | QREel (3R Twhem) (Y) 7
n =10, Tx = 130, Sy = 220, Tx* = 2288, Txy = 3467

& Aifedioed ¥ = X oic Faagsy 3o wven ot 9ra 316 WA deel qESArl AN AL
SRS AT T8l feadrdial Tt Il Head arqa (X) snfor stEenia=h fast (Y) =&n fawi=h
et WIelaydm .

Tequ auH = X (feft afeaza)

et fawl = ¥ (@ T q)

X =40,y =1.2, Zxy =306, s> =20

1 Afediaed AEGhm= fasmi=l Hedqq qaMl oie fHaagsy W fHear. SR w@rEn feaa wead
amEE 42 feit dfegag s/, ® o foomren sk fawEn sie fHea

*

(137)
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3.6 TagmIeRd=m 3f& (Coefficient of Determination)

U Hifgd 3TE i, Faadey & 9 Teddiyd Samdia fagares day o o fRue =@
@R fRATETS el AT |Hel a1 fhad=n STIH hevdrdel SugH STHd. ST STIHMMET faad= i
THSUIMEE Tehl Al (He@ehd=n 3is weoram.

ST & Y A X a9 FEaEsy W j=g+bx AR W TN TA Y AT SEABAGET HBU

sTEqlfeha foptd y oTfoT e STI®Y oaeay Maes fHafdae! @@=t STgAMa fhadl § A¢id

TRHehT= I Ag®ehdel 37 WU, ™ R? 9 <Rifadm.
R = [r(y, &)]2

TES(qU qUW Al I, AY T HAHTA HeHl @ g2 W Hed o (x, y) WU w2
T .

R =[r(y.5)]

=[r(va+bx)] .+ RO e AT AT S wed T
=[r(v. )] r TG AR, TS §(=a +bx) FAHYT
5 a 1 ST hed M b = WIRTae! STEaT 7 =
=[r(xy)] fepvia SIeeTom .
CRY =2

STMIHR, R2 —,2 STHIM AU HF] Ihdl 1 HUE I ¥ =1 A fohad=n fagadaa qera
X snfty ¥ Afiel WedHedih o STER oA

T p=+] WA R =,2=1 TRA SWOT X A0 ¥ AL AUl QU@ TEHEY THGl @HS A0 G
SRl &1 Fraadsy Weed fHeeace ¥ = et fhAd 100% fagaa o, wWg SR r=0 @d, ™
R* =/ =0 S0 X o701 ¥ 9&4 1@ HeHay TRl @ AU | Wehdl i, Fadadsy Waed fHesecta
Y =it et forda fooigpa fagwda e,

e TaEd WY R w1 RI A feHd <9 =amHie wf s e Hedsy SIifaal e e
3 (R?) o%d @ Foddeyrt oRom 9rg o &t ARl O quEar agd. SRR W feHd 1 = Soe
A W X o7 ¥ wefled dely i@ oTe ofef ¥Rom AWg Hel SEd ST sk R? < fhHa 0 = S

A R X oTftr ¥ wefir g faqdeu=h orom drg el SR AR
e 9 Y HEA BI0R o1 Reeerme fohdt =o fraadss W oSt 38a 1 Memehd=n sismee

THeed, 3. TERN Aifed@e »=0.9 ¥ W Fameaar si® (0.9)2=0.81 BEa T A 12 x 100% =
81 % EIEe WU WAl A i = ¥ HEA B0 THVT TN 81% <eret Foed! foqess Weae fies.
e YU | Wehdl, &1 faeced Maqesa™ @ e gl Aifsdiae amg R,

IEOT 13 : AT hIFhTA AT ShUAId ehTH IUTAT SoTehel SIS STWE STTUT e |ifkeh
TR (TR Z °) faoren o :

AU (T ) x 12 8 16 20 5 14 10

TR(TR ) y 22 15 25 30 12 24 20

T WiiEdtae FYTaeha=an Tl WSO HT T FIHST o TRl Gra Faausr= awon
AT

SRS : U 1 : TIT 12




W on=7, 7=2==8_pn14, =2 =914

CRAC] I TR

(=) (&) xy x" s
X y
12 2 264 144 484
8 15 120 64 225
16 25 400 256 625
20 30 600 400 900
5 12 60 25 144
14 24 336 196 576
10 20 200 100 400

TR 85 148 1980 1185 3354
2
o nZy (%) (By)

lJan2—(Zx)2-lJnEyz—(Zy)z

7(1980) — (85) (148)

J7(1185)(85)7 - |[7(3354)(148)*

[13860-12580]
[8295-7225] - [23478—21904]

(1280)°
(1070) - (1574)

1638400
1684180

0.9728

o R* =097

R? =t fRHd 097 @, | =0 U Jd Q. e AUV HR] ¥hdl i TIHAM a8 0T TR
I quE fEddey SR g ¥Ren A Al A5

AT : A STEOM u=x — 4 M y=y — B (IF 4 A1 B sHFA =9 fhudl) Il g2
TMEAT Ag.

q@ Faadsy



IATET 14 : AT AT o= W AT Afera=i T AT Heiel THIAUATHIST HET IS Sreasdt
(vfa =it ) ST = A st (ST ST ) ATauet WITTwHToT Wifgdl fHere 3e.

qreast (ufa =hfed. ) x 12,000 14,500 19,000 | 17,500 13,500 | 16,000

Tt AT (FEAAT) y 80 60 90 80 40 30

a1 Hifedieae Y 3nfuT X gl faadsier fiesar. ST u@ren yra=n e aun 15000 (wia =i.fem. )
I AT STHUTAT AT W A=At W AT hiel faauae Aol faga-iadr qurT.

AW, n=67= =X = 200 _ys41667, y= 2L = 380 _ 4333
n 6 n 6
YU g Wehdl i, = X =1 fohwdt 500 =0 e TR oMol =« Y = fhEdl 10 =N e eTRd.
HS 4 = 15000, B = 60, ¢, =500, ¢, = 10 ®F A0 HE< Fgdr=n SN H&. A ST ¢ A0

y & WA9e EEd S

x=A _ x-15000 gy - Y=B _ y=60
. 500 [

u =

y 10
qEaE rgT EWE=A u v
(g =h. feneit) (T &=mren ) _ x-15000 | _ y-—60 uy u? 2
D 10
X Yy
12000 80 -6 2 -12 36 4
14500 60 -1 0 0 1 0
19000 90 8 3 24 64 9
17500 80 5 2 10 25 4
13500 40 -3 -2 6 9 4
16000 30 2 -3 -6 4 9
TWehuT 92500 380 5 2 22 139 30
nZuv — (Zu) (Xv) Cy
b: —_— >< —
nZu’ - (Su)? Cx
_ 5029)-(0)@) . 10
6 (139) — (5)° 500
~132-10 1
= 834-25 350
- 122 1
= %09 ° 30
_ 122
40450
S.ob = 0.003
SRS : YT 1 : I 12



a=y-bx
=63.33 - 0.003 (15416.67)
=63.33-46.25
L a=17.08
Y X e foadsy o
y=a+bx
5. $=17.08 +0.003 x
X =15000 Soca,
$=17.08 + 0.003(15000)

=17.08 + 45
5§ =62.08

e @R e a&i=n R9UT 15000 6, T @= A= SHa §& R FRe 62.08 = 62
3T,

@ fraadsy Aiea=l fougaar Fg@hd=n s R? o UMl Fgd, @ v fHee,

nZuv—(Zu) (Zv) ’

\/nZuz—(Zu )2 -\/nsz—(Zv)z

R*=r*=

___[62)-(0)F
[6(139)_(5)2] [6(30)—(2)2}

S R*=0.10
R> =t fRHA 0 =N GU o sEedH feadsy Aied fageE e, @ Wil AU el
3.7 faagsigisme ot

(1) weday® r 7o FEqEsgs b &= o F9F STHd.
[ smoms wfed o H1 i foeer o, S s, RH RO SEAE S ~1<r<1 3 e

N
Y
b=r- =

Sx

(2) THqHsYi® B IHfcge IRAHURE @as 378, Wq AHYRE (scale) @A &L
(= o foega == ey d@ia gede SESpa el #AR.)
e : ¥ = X gl faadesy W Rd@ (x,y) fagE @R g,

(141)
@D

TET TS B, of o o 9 99 fHw b 9 @@ 1.

o e



ITEAOT 15 : Tucr=it =it Aeftued (X) nfoT a&ur qur=n gAre S At (V) Hed Hey guSiuare A
JATE TRt fegtia 6 fuargarsa siren fasuama stean. @ae fiaumy aioma @reftergamor
A

x =1020, Ty = 990, = (x —170)* = 60, =(y —165)" =105

2(x-170) (y —165) =45
T Wi Iae q@uT garean gaAret 3t (¥) =i faarst 3=t (X) st Faadss Yo fiear. @r=egEmot
Traadsiy Arger=t faga-adar qurar.

_  Xx 1020
—_ 2y 900 _
y=== =20 =165

. 3(x=170)* =2(x-%)’ =60
2(y-165)° =2(y-¥)’ =105
)y (x—170) (y—165) = Z(x—f)(y—i) =45
_ Z(xx) (yzj?)
I(x-X)

- 45
60

s.b =075
a=y—-bx
=165-0.75 (170)
=165-127.5
soa=375
SWYHR, ¥V <t X e faadsy T

y=a+bx
" $=375+0.75x

sl Fraagsy Alea= fogaoa queoamEE! FHamemaa sl R® ey,

Rz:[ 5(x-7) (3-7) }
VBT 2057

_ @y
~ (60)(105)
— 2025
6300
= 0.3214
S R*=032
R? =t fH¥d 0 =01 Vd= A9ca & fTaadsy #iea fageg o 19 Wiar IR Rl

ST STITA : U 1 : TIAT 12



IR 16 : (i) W Y A X Tl Faadsy W oj=12-1.5x S 3MUT X =M WeHh 6 3G
AT Y = Hedeh YN (i) SR Y =t X el FHaadssr Wi § =11.5+ 0.65x 319« 3mfur y =18
IWA W x = ferdia vivem.

() oToTE Hifed e H, @ Hed (X, y) fga e weR g @ feddsy S x

= TSt X g™ d § fHesdl 9=y otEal fher § WSt y I St x fHedr @ x

$=12-1.5x AL x =T TGSl x=6 a0IH,

S §=12-1.5(6)

L $=12-9

L P=3 WS y=3

SMYeRR, ¥ =1 AeTeh 3 379l

(i) I0F TEFET §=11.5+0.65x A& § TSl y=18 3gcd@ I x Heod d= X oT9a.
$=11.5+0.65x & H=y=18 oM,

18 = 11.5+0.65 x

5. 65 = 065x
©ox =10 WS =10

STWMYHR, X =1 A% 10 379
IAEAT 17 ¢ () W x=5,y=11 M0 b=12 WA W Y = X e Faadssr o fasan (i)
ST X=60,y=75 3MMUT 57 :Cov(x,y)=>5:3 @A W ¥ =t X =it Frraasdsier W firesan

JMUT AEEA X =65 WSt ¥ = fehmciier e fHoze.
(i) ¥ p=12 TE x=5 MO y=11 T=.

Y =t X s fraqdsy T @eiagdn fHed.
y=a+bx

S P=5+12x

@) -
@ sy



(i) ¥¥ x=60,y=75 &AM 52:Cov(x,y)=53 M.

52 Cov(x, y)=5:3

=75-0.6 (60)
=75-36
soa =39
@ Y = X ala Fadgsy I @eieyEn e,
y=a+bx
" =39+0.6x
X =65 <IN,
$ =39+0.6 (65)
=39 + 39
L9 =18
SWMYHR, X =65 el Y = A feda 78 =r.

ITEAOT : 18 : (i) ¥ <t X Jfier srardifeia fHaades Y §=50+3.5x X Y= AESHd Th
TR (16, 108) =1 SUANT hell 3, W x =16 WS ¥ = AME T 9. (i) SR
$=22+0.8x YU FATASHA Tk et (10, 30) =1 ITGRT hell 3A, T x =10 W&
Y =it srqurta fehwedtelt 2 oien. @ Swaea qRt e i @ ?

(i) $=50+3.5x 4l X =16 SoICIN,

- $=50+3.5(16)

=50+56
5§ =106
Mo sTacifehd Wifedia®s X =16 @t Y =108 TR,
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Sir Francis Galton was an English Victorian
statistician, progressive, polymath, sociologist, psychologist,
anthropologist, eugenicist, tropical explorer, geographer,
inventor, meteorologist, protogeneticist and
psychometrician. He was knighted in 1909.

Galton produced over 340 papers and books. He also
created the statistical concept of correlation and widely
promoted regression toward the mean. He was the first
to apply statistical methods to the study of human
differences and inheritance of intelligence, and introduced
the use of questionnaires and surveys for collecting data
on human communities, which he needed for genealogical
and biographical works and for his anthropometric studies.

He was a pioneer in eugenics, coining the term itself
and the phrase “nature versus nature”. His book
Hereditary Genius (1869) was the first social scientific
attempt to study genius and greatness.

As an investigator of the human mind, he founded
psychometrics (the science of measuring mental faculties)
and differential psychology and the lexical hypothesis of
personality. He devised a method for classifying
fingerprints that proved useful in forensic science.

Sir Francis Galton
(1822 —1911)
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“Imperfect prediction, despite being imperfect can be valuable for decision making process.”

— Michael Kattan
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GUE HEETE . Weld SRV HMIaeh Joi=al STemaren Hew Wd ol ST,
(1) T Aifediaes Soften ferddia gomn s feen onfor =1 e
(2) goitemn feadmed fhdt yAmmG W Sl TEed ufasrd o e i fHefan v
3.
(3) vifasam sicrisa fordd= Heweme Mo =% Sehdl =Yl SR fohall TR il Taehl hivard
a9l ad.
(4) <A fohen snfies eEiTafoT fohen weemrl Teurn e gN fHefacien Wit Soften Aifedt=n
TS Y hadl U3 el
TR SIufi=t e
WIS Sof=l AT eyl wdl Igd
“fafyd 8 BrEa TN STaciTRTe HEIel WTHIEeR  SIuft T,
ESIE e e B o 2 st B e o M L | S A

e Sofid Feamen e 9a WO BA. e S0 ¢ SR ST ARl Heefia wer e
y, 7 e, AAGHR FHATA AeNTed] THAES EiettergHml feeten amifass gofien awifoet .

|Hg ¢ 1 2 3 n

el Y, Y Y2 Y3 ey Yn

TSR SIUTel STET

FTTIHTY ST I o= =ad JUR ek e fafire wrome e @l amifas gofi=
T T IRE@ER STacied A S & FauRea= IRumM Feer Bid STHdl, 361, Hedh aeNd TTear=l
I fhdl ool @R aed gamE, fdun e, dhadl aqee oo wren fafay aeten afomg
B 3T9al. o9 ufeerEn uRome gmifas guien g fEHdeR ai- oty Bid ST9dl, el S
FO SAEh AR, WHIUHR A=l &N YRR foqa A Suam ofel R A AHigeh Suie g
WM. d WICHAYHnl §F THM oA Ad.

(1) S o= =emer aRomm o) fafay aRees s

(2) T URESBM e Hed AT feoiedl Feler Y= 9Romd fovd! gAomd 8l O Tkl &

& YR A ATl HETash Suie gerhtol SR, foqH, Wit st Isiht &5 Sty ot
IT W

(1) Terreria IR THS] ¥Rhd ST Eed 9=l YR Ao J79 fHesfoar 2,

(2) = vfosdia feude sidermeiy ugdH ou fhesfaar Id.

(3) THeriea STgAMG fRud=n SER vfa=mee arg o od 3 ehdl, E9HT0 SEe ™S
FHT A4

(4) AT-HTeea WA Tohar THam fooican e Som= Rl qOHlc e SR Rl I Sk,

(5) e fersdiaes fHesfaeret sTIama fohea o1 adae fRed=n o w%d S ®El weh
Iq FHA W AT RO ML A Iehd .

HTATRIR SYutt




(_ggt )
e foetewten wefed quen Wekdial Siaeen 10 9§ g 12 o u gomen faeneatst
TFRAN] Aol Hifed! Wk U ST A AMIige  SUigh e .

42 WEIges AUl gedh (Components of Time Series)

39U Tifeet i W Juit=n =eeR oHe URees=n e URumg gl STt @es weren feHdia
T TREAE fHeadl. ATl A goiea fAReonas dad Ad i @ garen feHd= wen fafirte
TR 3T, A=A TR GHIfgs Jofiell @refiel Seshld faumrar asa.

1) drdehTel Ueeh fohdl aesuT (Long-term Component or Trend) : S guiten e
U I bl Med[d 5 =o g™ fHed @men feswiad ses fhar Ja@umen aRom 1R, Smr=gol
TR VIR T YA od, HERd BFEl dRUR AR, QU deud dehee], Jeidid B g,
IV S GHAT dTe-Feal STV hid STHedM HMIeh Jui=al WM ®Hl §Haid a6 s
A U Ad AL Y guften fRAdd TSl El W Sl O W8I SUA Ad. SR IReesraret
I Fh B ST W AW HRMT [ TP ATl Q. VR gRafaai den ded SRa w1
B FcA AT 60-70 I TB-T@ B AL THEMIYY TN Fehid! HRU FHNG  IGAU e,

Y S FHAH GHeh S0e 980 T Bid. el (S de’ quid: §Hel Sed AR, Ui 3
foen 3iifafiter ScAEANIT 901 HSOA™ET 10-15 I=1 <1 SAET AR ) SoidRieh SUshome fasia
4-5 TNfaE JeU TR B, AU SR Gad Sdese STHd ale fhal e Bd STHA ST Fesuiell i
@V WM. S FEHHRII0 HISAIHI S ia geE fHesd. 9o stefunes enifor Aoy sAman
EET S G HH ST S 8e3-eg e Sl ST oJear Juiren fHdt feer g stadia oo ®ea
TB-T Hed Sl oTen uRfRerdia Svf geur sTgwa fohen =kl R ¥ RN

s AU WAy, HEA Seoul SO SR AU T 7 <€,

(2) HIE@Ht ge& (Seasonal Component) : HMIFH U= =@ GH HH THI MG SR STABST0S
frafia ae-se BId 3T8d, W &M AGH St IR UM, S, A1 e s GAedEr el
ThT TN HH STEAL AT ATE-FrE 3T HOAME! AMHETE Jui=a HH Meoaren fohadt <@ Aol
T . IS S0 HIEH Seh WIeery ol GiRumd .

(i) “afiten ufeeren ufumm : gmfas uien fFuda wy e samEmT W o are-9 2.
3 ATE-¥1e Seeae Fafid e 2id 3Tad 3al. Seleedld U@, R, 31.9L= ANl ared ™ feerear
TR HYSAET AEON ded. 9de A9 fo ER e deel deR9E wE el o

SATHSTIEA : W 1 & TAT 12




(ii) UG gieesrem aRumy : T guiie wH THIHe VN Sdeede Mafid ae-5e §u,
TANTAA RAIReTs], Tehr=A1 FeRl A1 RO B 3THd, 3., A= i QA= el ared. Sauom=

I YHRA Ale-FerEl STE hied STaessiaed 3 THdl A e Hafid are-se weuram. &N wehT=l
Tl AT U0 Jd AYA, T IR 01 IcqCehten] Aed®d Bl 7o § HUer a3 o offeer T
W & b,

I A=A T SeqhIe Skl 90 S 5 qRe AL

3 weh i USh (Cyclical Component) : 916 i ThIUET SR I BV Sidesiaes At
-5 Fh1F FIHMET UROMT TR, HIAH! FehTUel a1 Hehes SN =eid wHt Fafidar sTad a1 are-sei=n
ST hles 2-10 NT=T 7% vkl aifor fafdme afifeerdia @t 10-15 ai=n <@ o7 wehal, YUl Sofien wremas
40-50 = fehan @mdeT STfYe STEE R N YHIONG Fohid SIHT=AT Tl HIBEe HH! T & Th qul
STCUHRTCAH HIeh TV S3EUa Idid. Heifend afad JuR st < =5k € 7N T S0 AR, §
TR 9TE, VR SSRGS AT Hd, [aaves ahR i Juiia a1 Yt are-5e wgrea fiesd. & are-
T ST SeseAl STIHMMAT SUN AR A ST e ¥hdl.

g Soften = Heshen ‘C) A SRifaan.

“4) arefwsw fahar ifafua geew (Random or Irregular Component) : HHIIH guiten =er=
STCqeRIieM aTe-Seid HIEH! fohall Fehid TN Sawside afqa sewivem Afafa fhar acfess wewm
g oo YeeE fHedl, W Scuwdlicd GRUM SR, HIEl STAMeh fohdl STIUMM  hRUMHes Aot
frdd acoicaE W GG ARfe9e 9od WU, @ dodrl dleEdt  ohfr ufomm fAfam e
1 IeME FeeU, HIGHI T, T FeHh AT HIUAR] UhMEl RY Al IUR AR @1 =erel
Jefoosw FehEl URUM oFHdl. B de-ue HYUYUl Tufed, SAFEfHdun oEd. ™eEd AR §RTdl
R IERE A@fiie A fher gy, WU, TS(RT GCmIEl JERE N Haitd Giee g ST,
I THME AHIG  fRHda I I

T EHT ‘R A SRfAm.

T (T SEING Soften =l p, = fhwd deau (7)), HEGHT S (S,), WhiA Tk (C,) AN Aefwh
uSh (R) =N WYH qRomE e €. weiEes goiten AnHE wied (Additive Model) HEH B HEY
Greaqel srafadr I3

v =T,+S8, +C, + R
SR\ o= werea aiftie fhedl footedn s, T | HEH e (S) forum T g
HehT URUTH YOS waved foeedn y, = fhHdede 9eu (7)) Ineva Ad. @y, HYH oS Hl
SRl T IR BEh (S, C,, R,) SR, @ HEH o2 (SR 39Ty STHdlel @) M0 =ehig
BT WA Aq. WS, R, =y, — (T, + S, + C,) 7 Ffowh wh AHUA A, Wi == AT

frsd (9,) MUUIERET Fdeaum= @ qHATH A fhHd SMYH, @ o SRifereny o Y ek feeted
TEAT (f) W YRUMH SvATd Il

a1t e i
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T = foRE foemqm e g soiedn fogd oo giedt araeh i TR A 'l

U= T AT dle-92 AHIgs vt Hive wehi=n gRomd <vifadr ?

4.3 GHUT HISUATEAT Ugdt (Methods for Determining Trend)

TBU T GEIfTE SUiE & uewh oTR. el feudr fheforaradt wefia usden st &
4.3.1 STe@r=l Ygdl (Graphical Method)

U TN € Hald e Usdl o, A9 fRIYM 9o TeUS WHATEl (1) X-STeTeR oTifor W ¥
y, T Y-3ETOR S oeeod] foige fefEd $oar Id. § e foig o WEsH Sievar 3w, oeed
FJAre ferrdia aTe-oe TeaaE fHeed. @F@ @ S fogHyd TuR BN Weds SRS e A,
B Ok U STeushTei dTe-FeEl UROTH I dedul Sl

HIgied] TshTell disie  wfaerdiel S{AM  fHesfordra.

WW'TJT:

(1) & Ysdl TESvIE S aTRud Wes ST,

(2) v T g fohen Aol R gen g9s] wed.

() @ TV THA TGS S TSl S Ad.

(4) T THS AUATETES! HIVT YRR Tk STAM™ISH &dd df QN a1 dgdq fHesfaar It

A Ueglt=a wAa

(1) - sAfeRd STT-ATed sk Gl & YRl AR, THed Fod0 YA STIHM  TeHEddl
@[ el

(2) & Tsd MR THEN ATA fREd Ffaa owa T e @t fogedar fed se d
HHS L

[T 1 : THT FRAE difties AT (SAA) WENAHNT 3 daed @ Ugd G
Ut fhesa.

L] 2006 | 2007 | 2008 | 2009 | 2010 | 2011 | 2012 | 2013 | 2014 | 2015
3dEH (29) 20 23 20 28 32 35 30 40 45 47

T Hifgdien 39U Wielid 9HEges 901 gR oed e 4l

g ¢ 1 2 3 4 5 6 7 8 9 10
IR (27) y, 20 23 20 28 32 35 30 40 45 47

X-3F&eR ¢ o V-3efel I y, = forwdl oo ' fage emeien w% . foge o= wieed staan
g Fu AR I e

TR SR : HET 1 : 39T 12




THIIT HIY

Y X-3787 : 1 9t = | 99
T\
o+ Y-3187: | 9 = 5 A
5 4 H@W\A
0 1 \
o3
35
= 30 T
E ol
Er 20 +
10 +
5 -
~ L] } } : } : } L] L] L] /t
0 1 2 3 4 5 6 7 8 9 10
4

“— g\ —>

foiq=an HyF TR SO G 9@ gRifo.
3T 2 : Ueh hUHIAT U [t (TR Td) MRS Wl Shiteehld fdotel 3TE. ATAET=AT Tgi

qesuT THesar.
e I | WeEd | WE | e | B | SE | S | SR | "W
fawt (@ T)| 13 14 15 20 [25] 35 47 49 57
o Hifed=l 9mifaes goft EreftayEel U A
g (¢) 1| 2|3 | 4 5 6 | 7 8 9
famt (™ 3T)y, |13 | 14 | 15 | 20 | 25 | 35 | 47 | 49 | 57

X-31&TeR ¢ =1 SAIfOr y-neer fasnt y, = forddl S foige ofoiEd & AL oee A1 Aifed el
T AU SAMYH AT A,

(163)
©,
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THIIT HY -

Vi X-3e7 : 1 9 = 1 A9
0 F Y-387 ;1 9 =% 5 &SR
5 4
0 +
=
~ 45 1 e 9t ——
E 40 | «—— T
E 35 41
‘L 0 |
5 1
0 |
15
0 |
<
: : : : : : : : : > 1
0
1 2 3 4 5 6 7 8 9
-~ g —>

setEr= fogryd TER BN Fe3u qifad.
@A 4.1

1. R I8 BN A U] ThT Sl el (dg o) faweEr mfedt @l fooiel o, sTeraren
T5dH §@ Feeul fHesa.

ad 2008 | 2009 | 2010 | 2011 | 2012 | 2013 | 2014 | 2015
gHar (g e7) 90 97 108 111 127 148 169 200

2. U W W= YA A YaRiE W@ (F9R) Wiell fooielt 3R, A sTeEaH 9vie desu

Tiyezan.
a9 2010 | 2011 | 2012 | 2013 | 2014 | 2015 | 2016
yamgaTet W& (§9R) 5 7 10 14 30 41 50

3. T AW 0-6 = areieriaed 1000 qeriskisk Hefi= §e (y,) Aifed! Qieiaa ol S e A
q@ Fau e,

L) 1961 1971 1981 1991 2001 2011
Y 956 948 947 928 883 890

SRS ¢ YT 1 : 39T 12



4. T HUAA ST deHTETE <8l feadrt difed! @Tefial s ool o8, STer@r=al Igdrdl STINT
Hed deou] THesd.

feaw 1 2 3 4 5 6 7 8 9 10
wReEEr W (%) | 297 | 300 | 304 | 299 | 324 | 320 | 318 | 324 | 329 | 328

*
432 JAau et §@ (Method of Least Squares)

M@= Ugdra HAfel RUA ST90 ifgel ohl, T U= ST Svard offen Al @ fHesfaeret
U S0 = AR fHesfaeiel sTHM =afed wue s|aoad. ST =T faamead §9s] Thd @l SK
e S0 qR@ Fesu TR TS e STEe W AU gev <eifaurn ffyd g st
FERTRd 3Td. fad HeEm=a Yo A foean Aifedie] R FHIumE ST shedifed =AdH
AT gdtal AW hell 38, SoT=l SN AU T Ui @ T80 TRl & 1.

TS T TG ¢ X SAMNG T 0fen =t p, =1 fhwdt 9 R, @ S ey ifavamaret
@ A y, =o+pr+u, (9 u, GHTR AR) U A E FEESH FOIMEE FAE T
Tgdl AmEd y, = sgAl fREd §, WY A W WS TR0 3 " SRifercied dEdl WHIOl HHEiEO
$, = a + bt = IWM FE.

TSy, AYA ST (suffix) ¢ O TGT ST § = q + bt WA A AW, WHE = p 07 TR

_d ¢ TR,

AqH AT USAH g SO b GieeyH fHesdwd.

nZnth(_Z(t)Zt(;y) A 0 =3 -bL

AN p = SECARAE HEA

;T TR g e § o= o + b fooiew wifedieet g gy wHe TR

;N g g vfasmEel gevmre suH  fiefarar .

Hig : Jov HfaramEdt =R Fie gEde giE GHRunReE S HHE 34

TGS HAeh A FHIRWE Q@ TS hdl dgd.

A AT Uegedtel TOT :

(1) & ugd dguiver Mt sTea vfawrdia ST AN afdd 9mdel aged e,

() ¢ =0 feoem g AR geume aegRd STHM ' TsaH fHefaar aga.

(3) o= fRHdT ST fHafacie sEea gHAEEl 9u g@ue SAE fHesfadm 3.
I I S0 fow=n auten #e AR WEAME! £ = 2.5 e A HHATAT Jeeue  STAH
fasfaa 3.

AqH AT Uegd el WAial

(1) =M 95 Ja301 SNYvIEE! diderad HISo el .

(2) SR FeoU] TGUIAT Fohte AFd &Y ST M T8 FHIROTS  STamaSH wvdr 3ol ATl
R Hefacen smfa fedden faamedaa & 2.

[T o




IETEUT 3 : HITH TR HUTAT Teh HUATET AHT (AT T d) WICTATHTUT 3R, AT Wi G JesuTarst
FAAH AT Tegdi G THROT Jer. a6 2017 |1t Towr= 1 e,

EL] 2011 | 2012 | 2013 | 2014 | 2015
T (erE %) 31 35 39 41 44

A p = 5 AT TR TRET oo SR, e Ao feetedn i 4= 1, 2, ..., 5 FTYHOT <Y 4.
@ T RN HOAE HIS

ELl q® t r ty
2011 31 1 1 31
2012 35 2 4 70
2013 39 3 9 117
2014 41 4 16 164
2015 44 5 25 220
ThUT 190 15 5§ 602

nZty - (X1) (Ty)

nzi? - (1)
5 x 602 - 15 %190
T 5x55-(15)
_ 3010 — 2850
B 275 - 225
_ 160
50
= 32
a =y-bt
= 38-32x3
= 38-9.6
= 284

TS FHERT  § = a + bt

$ =284+32¢

STTERETIE : W 1 : 3T 12



I 2017 &S ¢+ = 7 WS @,
$ =284+32x7
= 284 + 224
= 50.8
$ =% 508 W

STOMYRR a¥ 2017 TS TR Fume STHIa fhdd T 50.8 TE SR,

AT 4 : TenT Foegrean wrafier yemelia ga=m 1 o 5 = faeneafient 1vam drgum=n faemeatsn
T (dropout rate) WYl 37TE.

] 2009 -10{2010-11|2011-12{2012-13|2013 -14|2014 -15|2015-16
A Wreum=n faenetar & 3.24 2.98 2.29 2.20 2.09 2.07 2.04

TRSUTHIS G THIRUT TS w&T a8 2016-17 9 2017-18 =1 8ia ga«n 1 ° 5 foemeaia
e wreut=n faemeaten T st fhe.

AT p = 7 Iuren Afedr ool TR @M evme feeied gt = 1, 2, .., 7 9% AL

Y@ TSI ST haudr= HISTof

- AT HISUTAT / 2 "
forememt=n < y

2009-10 3.24 1 1 3.24
2010-11 2.98 2 4 5.96
2011-12 2.29 3 9 6.87
2012-13 2.20 4 16 8.80
2013-14 2.09 5 25 10.45
2014-15 2.07 6 36 12.42
2015-16 2.04 7 49 14.28
WUl 16.91 28 140 62.02

- Xt _ 28 _
t—7_7_49

F oo ZX 21691 _ 54157 L 24
n

nxty — (Zt) (Zy)
nzi? - (1)

7 x 62.02 - 28 x 16.91
7 x 140 - (28)

©

[t groft



434.14 — 473.48

980 — 784
_  -3934
196
= -0.2007
= -02
a = y-bt
= 242-(-02)x 4
= 242+0.8
=322

TSI FHH  § = a + bt
§=322+(-02)1
=322 -02¢
a8 2016-17 €St + = § = AT
$ =322-02x8

322 - 1.6

1.62
g9 2017-18 @&t ¢+ = 9 ¥ A1
$ =322-02x%x9

322 - 1.8

= 142

MR 1 fSfer@ o 2016-17 701 2017-18 A& zomn 1 o 5 wefid snaqg drevmrn foenest=a
T STAN STIRH 1.62 3T 1.42 319,

IEWT 5 : THT AR D ks (TG ) Wil higawld fdad g @eaed G i
HHIERIUTTS ITATAISTT R4 T fectedn Ucieh Suiarar Saurret TR 9ivem. 2021 Sui=a Sediarat
FuTrAT foRtdt=l A qEiter Tiesa.

L 1951 | 1961 | 1971 | 1981 | 1991 2001 | 2011
ek & () 15.1 16.9 18.7 20.1 21.6 25.7 27.1

Iy AR e fooiel THIH YA ol auidrel gefud TR, fooledn goieh auiEndt TqswH
t=1,2, ..., 7 %% q @HS n = 7 B

JTHSTIER : U 1 = T 12




@ T SRS h0aTE] ISt

[gleaetely Foutrea feRut
ad t 1 ty
(em@) y $ = 12.66 + 2.02 ¢
1951 15.1 1 1 15.1 14.68
1961 16.9 2 4 33.8 16.7
1971 18.7 3 9 56.1 18.72
1981 20.1 4 16 80.4 20.74
1991 21.6 5 25 108 22.76
2001 25.7 6 36 154.2 24.78
2011 27.1 7 49 189.7 26.8
TRUT 145.2 28 140 637.3
- Xt _ 28 _ — _ Xy _ 1452 _
= =2 =4, Y = S5 = 5= =207429 = 20.74
nTty - (1) (Ty)
nxi - (1)
7 x 637.3 — 28 x 145.2
7 x 140 — (28)’
_ 4461.1 - 4065.6
- 980 — 784
_ 3955
196
= 2.0179
= 2.02
a =y-bt
= 2074 -2.02 x 4
= 20.74 - 8.08
= 12.66

TS FHEOT  § = a + bt

$ =12.66+2.021¢

®

e SIof



yo& fooean auiErel deeun= fha snyvaEEl wE = 1, 2, ..., 7 ¥ AL
t = 1 T
$ =12.66 +2.02x1
12.66 + 2.02
14.68

$ = 14.68 <@
IqYAO £ =2, 3, ..., 7 SOCAH SRAT G fehTdl whiewd I,
JY AAM Ad H1 § = FRAGG FHE: 2.02 TEE A6 B .
a9 2021 9 1 = § JFAH

y = 12.66 +2.02 x 8
12.66 + 16.16

28.82

$ = 28.82 @
STRMYHRR 2021 IuT= AhEE=a Fer=al Jau=l qAMA fhad 28.82 @@ M.

ST 6 : TehT hu-rel AR fasht (TR Td) =t HIfEdt WIelel shiteehld fqoiell ST, Gia Jeum=a
FHIRIUTTE TS vl STTTUT ATl M aiar. fHereiear THieRum=T SUERT hd 3RS
Hfg-araa fahtel AT Jie.

ufgaw THe | e | §E | Ul 7 A
famt (™R T «) 80 85 90 76 82 88

AY p = 6 Hfear= mWiedt foorel TR, e v feciean Afe=madt o s =1, 2, ..., 6 9% .
@ THRUTA TS Aol

S
(@R ) ! 7 ty 5 = 8179 + 049 ¢
e 5 ! ! 80 8228
i ® 2 4 170 82.77
il 0 3 i 270 83.26
R 7 4 16 304 83.75
i ® > 2 410 84.24
kN 88 6 36 528 84.73
Thul 501 21 91 1762
D,

ST SIITEA : U 1 : TIAT 12



FBUTE THIHIT

Xo_ 21 -
= = > = 3.5,

nxty — (Zt) (Ey)
nst? - (Zt)2

6 x 1762 — 21 x 501

6 x 91 — (21)°

10572 - 10521
546 — 441

SL
105

= 0.4857
= 0.49

- y-bT
83.5-0.49 x3.5
83.5-1.715

= 81.785

= 81.79

y=a+bt

y =81.79+0.491¢

o THEOT B £ = 1, 2, ..., 6 SIS y oA Woid fHEd fediel S HIeewm <@ Al
& Jeoumre fREdl emfor focieen Suften fhudi=n Teie WieliayH ol Siedl Jga.

JHTIT HIY
X-Ag: 1 BH = 1 99
Y-3787 : 1 9H = T 10 9K

y
N
T e it
» 0 T+ /
5 e
‘L 70 T
0 1 4 5
v < | >
A ST Hfea™EESl r=8 Saedd
$ = 81.79 + 0.49 x 8
= 81.79 + 3.92
= 85.71
$ =T 8571 X
SERY
@

| Siuft



STMYHR AT dfgard & o= faswi= oTAM T 85.71 &SR 1.
Hig : W@ THROTER G FRUEEE! § oA ¥ fRHdT Suamt sEvdeshdl AR = 1, 2, ..., 6
Yt IV <9 foRrd=n Heme § =1 fhudieT STevl GRe Jeve THshu ST Sead.
ITEUT 7 : WehT WM JUHIS n =8, Ty = 344, Sty = 1342 U, T TS0 Y& AHIHUT ez
n=83WMAM =1,2, ..., 8 S0 Xf=1+2+..+8 =236 30
52 =12 427+ +8 =1+4+...+64 =204 B

xt 36 _ S _ Xy _ 344
P 3 4.5, y = = 3

= 43

nIty - (1) (Ty)
nTt* - (Zt)2

8 x 1342 — 36 x 344
8 x 204 — (36)

10736 — 12384
1632 - 1296

—1648
336
= —4.9048

=~ 49
¥ - bt

a =

43 — (-4.9) x 4.5
43 +22.05

= 65.05
qrE GHieR

y =a-+bt
= 65.05+(—4.9)1
=65.05-491¢

W 4.2

1. T T - ATTeedl o=l JoJel Welel It feien T8, o0l INEUATaie ie THIwue STaTarsH
FO A AEed a8 2017 = G AIAH  THesa,

B

I

2. HE TERA IR holell e TRRM e (CI) fowht mifedt @reliaudm oe. ' siem
1981-82 & YR I8 ¥Iqel 37, &N Wifedioer gad THIHUME STaRse &ed a9 2015-16 &N i
FATAMA THez.

2014
6.9

2015
6.9

2012
7.3

2013
7.2

2010
6.9

2011
7.1

2009
7.6

T4

2007 -08

2008 -09

2009 -10

2010-11

2011-12

2012-13

2013-14

2014-15

cli

551

582

632

711

785

852

939

1024
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3. U Ve NTofTeedl ISl QU shotedl fgeTR! deAl e (FSINM) WISyH ST, eed
2016 HTSt FEYHTI 2017 HIS! AEATA AUl HEA= STIHN MHaUdTETe! 8@ FHIhu =St qgar
ST Y. IS U FeueAl TR e,

a8 2010 2011 2012 2013 2014 2015
qrEATet WEe  (ENW) 69 75 82 91 101 115
4. YRA TeTed] SV fHeseled AifediqaR oides R Sl o9 (9uid) Jeid shiseshld quifact

3. BN Aifedioed i@ Jeu=al FHIR0T RS Sed STa@M Qe 3@ FHiwmmesd 2021

el oo = STAE  fHes.

SO 9y 1971 | 1981 | 1991 | 2001 | 2011
TS e wEd 9 (aw) | 177 18.7 19.3 20.2 222

%

4.3.3 wfetda WUAAET Ugal (Method of Moving Averages)

3T FBAIA de-Fe IRUM X HET TG0 TRl RIS Afeqd Tl IS gad  SqAn
. 3CY @Al dle-F gal AfHaq €d STEd ST e RekE! BId TEd. ARl STMEM
fohan o1 WUAMD ' STe-E=Al [Aeen SEATE] Hifed! fHeed el STEd WIS STkl
qUEd WHTAd Ad qUE foRHd hERATl HUeAH  STeUshlele  dle-SegA e e feHd  fHesd
S T Feu gRifen.

s, feoell Gt SofiHed S99 ¢ = 1, 2, ..., n R SN ==l TReat Vi Yoo s ¥y SR
T = Sl STeUshTe| (Thid) Te-SEE Fl@Edl 3 aurear e, YW faq sTeeied Vs Yo, Y3 W

w200 g @ @ A e S wo v, WK S R, e s T

fREA Yoo Vye Y4 S @l memm 2B TN gen oo wme Sy, w1 9ER SavEE 9,
3

;N g ware oo foarudiqa Yeeen fahude=n Taee Bea df Tdd gaiar Aeudh S adl. STen
el 99 ag afed FEd W[ S Fesu Suifad.

Y% AT o< TR T’ STHeE 318 STEvdeh ARl FoireAl fhHd=A aRTeAl AuadTe SHEe
IEA guEE S0 SAEYIE AL THATSAT THHIGHI S0 Fold SR ¥ A | 5 feedg =fad
TEd, Bmfas Wad, 4 gaeEl afad GEd 9. g SeEel Y 9uare Uheh a8 B Al

TR SO AT TEHLH T T eATe S8 Feirea fhud= s wiemard ad, o aur=

T e 9gH sl Vit Yy Ty fHefaearm qEid sS S1gid vy + Yy + Y, THuEEe SuE sl

Y @ S e Vs ol fHesfaudrd Ad. B YRR HAL: HE oS T YAwen 3 d Wiiidea faq et
=eia el e
g : ot wEdd gom Wy, = guR fodvad 34 enf ey, =0 gEr =fad wed
I @ dosA Tl fRHd HeR A |y, = God deeunet fhua fHefad aa A
ICTEWT 8 : WehT Scheal UehT TR S-Sl SMTSASITd SSeiedl WITst WA WICeguTol 8. i
SIS AfeAd TUHT UGl ASUT JiredT.

O ICE 1 2 3 4 5 6 7 8 9 10
JUSACT WA= §&AT | 26 | 27 | 26 [ 25 | 22 | 24 | 25 | 23 | 22 | 21

By



T feerdta aferd woad=f Hrsoft

g ¢ TSl WreTei i ST = gt
& y aferd s aferd qEd
1 26 — —
2 27 26 + 27 + 26 =79 ? = 2633
3 26 79 — 26 + 25 = 78 7?8=26
4 25 78 — 27 + 22 = 73 773 = 2433
5 2 73— 26+ 24 = 71 % = 23.67
6 24 71 — 25 + 25 = 71 % = 23.67
7 25 71 -2 +23=T72 7—32=24
8 23 72— 24 + 22 =170 ? = 2333
9 2 70 — 25 + 21 = 66 6—36=22
10 21 — —
T 9 : Tehl hRETATHA dlitieh SAIGT () =T Wifgdiaew Uoasia afed JUEd dgd
TBUT THeza.
L] 2006 | 2007 | 2008 | 2009 [ 2010 | 2011 [ 2012 | 2013 | 2014 | 2015 [ 2016
IareT () | 112 | 106 | 93 | 90 | 114 [ 159 | 170 | 130 | 108 | 113 | 115
Ueasg wfed UEd=t Hson
L ATy t UeaHig wferd Ueasiy wted
EES| AL (BT )
2006 112 ] — —
2007 106 2 — —
2008 93 3 112+106+93+90+114=515 552 =103
2009 90 4 515-112+159=562 5T6Z=112.4
2010 114 5 562—-106+170=626 % —1252
2011 159 6 626-93+130=663 % —132.6
2012 170 7 663—90+108=681 %:1362
2013 130 8 681—114+113=680 %=136
2014 108 9 680—159+115=636 % —1272
2015 113 10 — —
2016 115 11 — —

SR SIPMEA : HIT 1 : 39T 12



- (oo el ol ) N
IYF qGd Hafoelel Jevl THSIUaME! SATIUE <= fehed! STfor 9= aeitg afad e

3N fHeeiel o0 STeRaTgRT S9ie 2l
y

N

YHIOT AT X 37T : |1 Wt = 1 99

Yyt : 1 9t = 10 oA
10T

160 +
10T

40T

130+

10T

100+

«— g —>

Y, e TEIHYT SR a5k G0 Seifedl

R Al TEET T Ul G&A SQL 3, 5, 7, ... 3A9d, W adAYHl 9edu IHvA Ad. qol
Al Medl T HEAd 3¥d, W dfeld TUEdEl HiSOl Hieu B

TUST 1 IR I Gfed SUEd et ST, YuH 9 aue 9y y1+yzzy3+y4 HIELICEOF R
o =R frdda Fseam oy, oo y; = A UM e SuEden o W fafedr AEa. @meyE wEen:

+ y3+ Y4+ + y4+ Y5+
Y2 y34Y4 Y 2 y44y5 Yo .. Iferd T, WMYT SFIHH y; A0y, A W, y, SO0

ys = 7 ., fofevaa JEd. a1 99 SEd S auie I A4 STHeaH IRl ]F dodl S e
TMYTAT A, ST e SN afeld SUE=IEE 39 A, STOMYR Suded Suifacie weH sTfur fgfaa
TUEET fREd y, = WA SavE Ad. Asde fHefaeed arEden =R auiE =fad wed W, 39,
TEG YAl fshan SMe@ wUel @F. @ ANl W HUaEel 9R g S fHesed e
TE-SF ANl S90S A I, BSOS 8 fRTdea Ted e 8 0 WRidedrd YU SRy Hl 9’
Tty =faa aed e,

STCqeRTie aTe-Sal GAadTal 99 HIVdEl sl Tl e, | ol Suifaeiedl I Jom =fed
oS, @E® SEE oS fHeed afad Sl Y| 3.

[T ui

J




T 10 : ThT oM Aifaer fael (M@ Id) =1 Wiied|el Wieftayw el o) wig-aren afetd

TAEI TSUT JiTer.
e e | e | A | SE | S | oPRe | W | TR | A, | fed.
fawmt (@ )| 5 3 |76 4 8 9 10 8 9
TR Hig=ren afad quad=l HJrsroft
s faat t R Afg=ar=it HERC G =R Aig=amei
(em@ %) y wfed ais EHE] wfed Jad
e 5 1 — —
Ty 3 2 — —
5+3+7+6=21
| 7 3 21+420=41 %=5.13
21-5+4=20
_ 45 _
S 6 4 20+25=45 < =563
20—-3+8=25
I 4 5 25+27=52 2-65
25-7+49=27
FTE 8 6 27+31=58 %=7.25
27-6+10=31
oW 9 7 31+35=66 %=8.25
31-4+8=35
SRR 10 8 35+36=71 %1=8.88
35-8+9=36
BIEER 8 9 _ _
fedsr 9 10 — —

IR Afear=l Afdd 9Uad 9mifgs Svie e <vifad
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afetd T Uegetat 0T

RUALLINS

(1) =T ST FEA & IGaId Al Meodral RO HiSay=ond g gial S7for Jofie geeur fiesd.

(2) T IS GHOTG hE ST W HISUN SFAECAN o FHSUA |dt SR,

afeld \Ed=AT A

(1) SR =fqd = el drgqul feear & ® & Usdn fHeface dgew fafya 2@
.

(2) gEan= 6 SAfdH oTE THaEe @ Ysdd deume gHH fHed TR

(3) wfasar=n STHAMME! ®ivael fAfya wifordies 3 fHesd =L

eI 4.3

T Sy fasmi=t (S8 @@ Td) Wiefidl Hifediaed di9 aifte afed SEd e fHes.

ad 2006 | 2007 | 2008 | 2009 | 2010 | 2011 | 2012 | 2013 | 2014 | 2015
faet (g1 @@ ) | 3 4 8 6 7 11 9 10 | 14 | 12

ThT SHYA=AT SR a9 2016 M S @G s el Jifedt @refiel shiesa ol TR,
=R Afearen Ifad W Jeeur fHe

verer uE (%) | 253 [ 231350 | 261 |262 (266|263 | 261 | 281 | 278 | 278 | 272

Teh! IR AT auidia q% (@ T d) =1 Aifed! @relia feeieameed =esy afed S
IYINT HEA FeoUl e,

EL] 2007 | 2008 | 2009 | 2010 | 2011 | 2012 | 2013 | 2014 | 2015
wm (F@ %) |15 14 18 20 17 24 27 25 23

aue ATeaTedl  BHEEE (Q;) MM Hied  HEl YEeh b @ieleydn  fHafaeen e
=R rfaes afad Tuadd Soii oo e

g 2013 2014 2015

L O | Q| D3 | Q| Q1|9 ||| Q| D | 95 | Y

ek 3k | 110 | 110 | 125 | 135 145 | 152 [ 155|168 | 131 | 124 | 132 | 153

@ -

qrTae Sof



e (owwr ) N
® TIHER THOM wheledl A0 TEoieal Hifedien HEIwh 407 FEUrdw.
o foiea Jamen fohwdt=n wfosrdia sTqaH fHefavarare! amifas Suft= 9ol Ul STavdes TR,
o TMIfa® vt wemen ferddior IRomg SO g&F IR Tk ST

(1) drEiepmedi T2k (Feeu) () e T

(3) M T (4) afs (st o
e HIHHl WMe-®2, FH{ de-H AN ARfwsh de-Hdes AU SR Feh BIw.
® THH 3T T dE-¥e Sa@sae MAfdaqul Jaed grerdn.
e UM Ivie deeul Hiowa=A faM Usdl SR

(1) oo ggd  (2) <AaH el ggdt (3) Ao SRl e,

N\ J
p (Wﬁﬁqmm) N
|TaeR o
I
! l
refenTet™ STCRTAA Teh
o oo |
! '
| ae A
l (Fref=eh)
! ' hilsid
et ThT
eh ek
(g V4
@?ﬁ'ﬂ@'

oo Afediadl =ae o= Ugd™ Q@ THR0 y = a+ bt A SFEEISH FOAEE

nXxty — (Zt) (Ey)
nzi® - (1)’

et faetear sgfaeshen ggEET ¥ fasken faer .
1. ¥ SCH= HROTe AHIe% 9ald vl YehRel ek =l ?

(a) SrelepTel= (b) sifrafaa (c) frafaa (d) T=@ vwmm
2. 'Y’ TEREN HUAAT IRAM SO FE’ R0 YRR de-Fe q¥iad 2
(a) acl=o® (b) s (c) g (d) ==
3. W@ 93U IMYUEE @ GHERUTE SRS HEare Ygdrd e |,
(a) Ter@ETET TgH (b) =g eI gt
(c) afera TUed=h TGt (d) =iferer SO ggd
SATHSTIME : T 1 : T 12



10.

qmifaes guie AR Bied SITYeR Srafaard 2

(a) y, =T, +S,+C, - R, (b) v, =T, +S,+C, +R,
() vy, =T, xS, +C, xR, (d) y, =8, +C, +R,
e gften fRUs 9@ | ?

(a) », (b) s, (c) ¢ (d) ¥,
It Guft=a Sioe Sesht ST AE fHesfaul s o/ d ?

(a) acfea® a2 (b) T (c) TraHt wrew (d) =% weH
WIATTIR! RV ik 1 FHS BIal ST TeU 7

(a) feaTeama aTEU Thew=t wRTof

(b) TSRASIRIAT STHUAT HEes HHT AT USTA o1

(c) SAfarEET e Id=a 3= SO B

(d) & =RUR g

STHERT 2016 @ fedsR 2016 wHae qifae Juiny e deumre weie y = 30.1+1.5¢
3 W THA 2016 TE=A Feeum=l fHHa v,

(a) 30.1 (b) 34.6 (c) 36.1 (d) 33.1

GIeleTdeh! HI0AT HieEee HIEH! Feshi=n gRomg TR,

(a) TEIIA AAMRTE TETHS BIOR TIATT

(b) VU= AL AU aTeArEl &

(¢) wTo= GANS Ul wewt e

(d) wamen faftre M= didqs e gosis

BT TNTATAT RV TGAH 3T6q Hleeld TAedd B0 STe-Fer= URumm Fafd JrTea Ugd
Tl ?

(a) Aor@mr= g (b) =\ ST qgl

(c) =t foada= ugdt (d) afaa Gued=t 95!

Weitel Ugiel Tahl dredTd 3ax & :

e 0 I SN N A W N -

(S
S

R U AU AT HHMIHR A= ISR L
qrtaen S wOS ®wE ?
g Ui R FeHMe IR Te-FE BT 2
Mo 9ufte 9ol RUS S 7
I U=l Fehid SIChTal IOl HohdM Suifgan ?
e Sofidiel Jee0] Hisioar=al Ygdral e fora.
TehT guTden HH! ded AIEE SIUIRAT STe-FC hIvTe Eeshral uRomm <uffaar 2
qrifass Softe seshren T fora,
U WHIAMES! Afed FUEdE TSl el S S9Er oW ?
T@ y = 7 AT Hifgdioed SRS heldl 3@ FHIRW § = 25.1 — 131 3¥A ®
STeAT ASaeandia y =1 fehwdiel STIAM T
(179)

~— AT S



WAt Yol SuY @

1.

A L ol

qtas il G "ied guian.

THA H US| w2

AIEH ek § TAh1d HHUAT FIMGRN A& Ted  ?
AFFHG Tk FHSIE.

3TerE Igd=a TAfe GHsEl.

afcd TedEn A g
qmifae gofi=t =men =@

U WS Afeld HUEdeA ggde o foa,
Ul WIS ST Tgdl S,

WAt Y-l SuY &

1.

- W

10.

11.

oI Hof= HEw HHSE

TR U= g HOmE IYANT |

IR S0 920 U HE 7 ISEUMEE HHSl.

Tt TR ofredrd a9 foa

<A e ged fooen mifsdiaed g SR SRS SOl TEdl sl
IATH oAl Ugdre o1 A0 HART WL

U AHOATE Al HUEE Tgd! AT

Iferd wuEd=a ggdi= qafeET =@= 6

el |as 9ol Thl HRE IR SRifad SferE Ugdid fod Sesu e,

feaw 1234|5678 9]10
SAreT (Tahah ) | 21 | 22 | 23 | 25|24 | 22 | 25|26 |27 | 26

T TS =1 = (y) FeE @l Alfsdioed i@ TS SamEey &4
n=4, Xy=270, XZty=734

Teh! IR AFTUAHIE] TRl RRAYT Ui shelall Hifed! @Teid JH01 3T, T Afe=arean afed
UG e e

SR STIME : U 1 : AT 12

e SHeR | WeEr | W | wfue | | S| S
qrTuit (Tehdh ) 15 16 18 18 | 23| 23 | 20



Wt 3STETUT |iSa.

1.

Th! HIS IAEHE] q9R swyedr=r fafd (e Td) = wifedt @l <wifaet 3w,

EE 2010 | 2011 | 2012 | 2013 | 2014 | 2015
fae (w3 | 22 25 23 26 20 25

T AlfedEel @ Jeue TS &a ST 2017 auten FEideel geure feudE

SFATHM THesa,
PITAT 5 Uit Ul fgam Sud foam gam el gammen SEAfgwdt @i wnfed!
T IR, Y@ U ST w&d a8 2016 AI&I Jeeumeal fhHd= STfAM .

e 2011 | 2012 | 2013 | 2014 | 2015
U9t §&T (&IT) 45 47 44 40 38

T Wieh T HEd Aigfaeied Teh ool ST seuren fawi=i am-avean afe=mdea mfedt
Gela &iesn foe R, oF Afearen afad Tedigh gau e,

LI 2015 TS | | | | St | ST | wfem | TraTeR | e, | fedi, [ 2016 STHamR
= v (%) 76 7316568 | 67 | 60 63 | 67|65 66

Telta Aifed! TR a1 fas! (89K % ) SEifael TR, STo@™ desul fHesa,

e 2007 | 2008 | 2009 | 2010 | 2011 | 2012 | 2013 | 2014 | 2015 | 2016
famt (89 T) | 200 | 216 | 228 | 235 | 230 | 232 | 236 | 235 | 230 | 233

T T WE-JT AR TS G 3 Qe hiseshd fGoiel 3. o autg Fferd
HUG= STHR 80 Qe

e 2005 | 2006 | 2007 | 2008 | 2009 | 2010 | 2011 | 2012 | 2013 | 2014 | 2015
g 3k | 115 | 121 | 119 | 120 | 117 | 119 | 120 | 118 | 116 | 124 | 125

WA 3eTeul | :

1.

THT M= R SACATE AW 6 aui= @ieierdul digaeie Hfedias Ieae devm= =
= g @ HR fHesdt. o 2016-17 ST 2017-18 =1 SHGATHE AT Tl STTHA
Tiyeza,

EE 2009-10|2010-11|2011-12|2012-13 {2013-14 | 201415
e 3dEd (g 29) 29.2 342 35.4 36.4 33.6 37.7

qeaul THesa.

L] 2006 | 2007 | 2008 | 2009 | 2010 | 2011 | 2012 | 2013 | 2014 | 2015
faemelt wWeAm | 332 | 317 | 357 402 | 405 | 410 | 427 | 405 | 438

392
Sroft



3. Teiia SeE Th Tome of-oiTedl au Shel feoren o1fe. &N Hifed! Hier g3 Jesun
SRS U g8 2016 ST 2017 = 9IS & STIAM  THesa.

EL] 2009 | 2010 | 2011 | 2012 | 2013 | 2014 | 2015
ST | 222 | 21.8 | 213 | 209 | 20.6 | 202 | 199

4. Y= TH TA9TTA SFT-STed aNid Aol HiarE! | A7 fawee mfedt @refayr feee
R, @ HIROME =S hed godsh aur= A ferda fiear ad 2016 =01 foadd=

STAM W,

o 2011 | 2012 | 2013 | 2014 | 2015
Hrewet F IMOT(ST) | 180 | 192 | 195 | 204 | 202

5. e dar Hraieew e (USD gfd siter=) wifed! EreiiayHm fade e, =R stededr= =l
T YA HEA G0l VI

e qri 2016 TYe 2016 72016

g 1 2 3 4 1 2 3 4 1 2 3 4

FEaerer |35.92 |38.50| 39.44 | 39.46 | 36.79 [39.72 | 40.36 | 43.73 | 45.92 | 44.66 | 46.21| 48.45

George E. P. Box worked in the areas of quality
control, time series analysis, design of experiments
and Bayesian inference. He has been called “one of
the great statistical minds of the 20th century.” He
has been associated with University at Raleigh (now
North Carolina State University), Princeton University,
University of Wisconsin-Mandison. Box has published
numerous articles and papers and he is an author of
many books. He is a recipient of prestigious honours,
medals and was the president of American Statistical
Association in 1978 and of the Institute of
Mathematical Statistics in 1979. His name is
associated with results in statistics such as Box—
Jenkins models, Box—Cox transformations, Box—
Behnken designs, and others. Box was elected a
member of the American Academy of Arts and

Sciences in 1974 and a Fellow of the Royal Society
(FRS) in 1985.

George Edward Pelham Box
(1919 -2013)

{
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)
(@)

.

wrea T 1.1
ST SER I 37 : 100, 103.27, 105.09, 106.55, 108, 113.82, 119.27, 125.45
TRA STER = 37 : 100, 103.27,101.76,101.38,101.37, 105.39, 104.79, 105.18
TG A=A SR =k 37 : 91.36, 94.35,96.01,97.34,98.67, 103.99, 108.97, 114.62
I SHR FFh 31 : 100, 101.79, 105.36, 107.14,110.71, 114.29,121.43, 128.57
TR SR I 31 ¢ 100, 101.79, 103.51, 101.69, 103.33, 103.23, 106.25, 105.88
T TET= STER e 37 : 96.55,98.28, 101.72, 103.45, 106.90, 110.34, 117.24, 124.14

I AN = 37 : 100, 108.70, 112.78, 115.19, 119.44
TR SR | H1GT= = 371 : 100, 108.70, 103.65,102.26, 103.71

n T HER 3 : 126.45, ST TR 96 S0 26.45 % 916 A 3R,

(183)

—/



e 1.2

1. 379 STER IS 3 : 100, 110, 104.5, 112.86, 135.43, 143.56, 157.92
2. OURA STHR = 31 : 117.4,100.51, 102.80, 103.13, 102.64, 102.49, 102.28
3. oURa SMER = 37 : 100, 99.63,99.26, 100, 103.73, 101.80, 100, 103.53, 100, 102.05
4. A AURGTH 37 : 110, 123.2, 134.29, 145.03, 152.28, 169.03
@A 1.3
1.  1=307, @@= 207 % 916 @l 3TR.
2. I=123.80, ¥ 23.80 % 1€ S 3T
3. I,=12672,1,= 126851, = 126.78
4. I, = 141.13, 1, = 140.15, I, = 140.64 5. I, = 14257 6. I,=1152,1,=115.14
@A 1.4
1. o AT U5 =k 31 = 135.64 STV TRl @A 35.64 % 91E el 3718, T G A1
3T % 20,346 TR
2. I 3k = 128.53 301 28.53 % Tpvl @A A€ A 3.
3. IS 3Tk 1= 132.51 3707 32.51 % THU WA o€ A 3L,
4. I 3R [=213.20 307 113.20 % THU G o1& AT 3Te.
5.  idfosh SIS USAN gAd 3k = 129.64 STV UHU WAl USAH GEh 37k [ = 129.64 ST
YR 3R HHA SR
@ 1
 fawm A |
1. (o) 2. (a) 3. (@ 4. (¢ 5. ()
6. (d 7. (c) 8. (o) 9. (¢ 10. (c)
11. (a) 12. (¢
12. fouM 9@ R, dam=n o9& 3% 500 3.
7. ardfas dad T 16,392.85 U HETRN e TREM T 1642.85 (WREI HHI BI)
8. amfash add % 29166.67, 26666.67, 32307.69, 31250
9. FH 2015 = TE X : 2.03 %
10. 44955
11. TE afgs T 394 = T 30,000
12. SN Y= 3 = 125 13. SN o 37h = 280 14. 1,=2225
(182)
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10.
11.

12.

10.

161.87
ST=C SER gad 30 : = 100, 111.11, 133.33, 144.44, 166.67, 222.22, 263.89

TOR@ SER g=h 31k : = 100, 104, 100.96, 102.86, 100.93, 116.51

3T SR FIh 31 :
YR waﬁw 3h ;= 100, 112.5, 106.67, 114.58, 109.09, 116.67

120, 108, 151.20, 189

Tah 3 = 226.6 13. 1,=166.67, 1,=150, [, =158.12 14. I,=167.71
= & 3Heh = 122.32 2. THY @A GgdH ah ik = 149.41

THY G G5 gaw b = 115.69

3T TR &k 37 = 100, 118.75, 125, 131.25, 140.63, 187.5, 203.13; T HaT=A1 SR ek 37h
91.43,108.57, 114.29, 120, 128.57, 171.43, 185.71

TR ScaeT=n g9 3% [ = 379.19

Ta® 3w | = 126.79 707 9@ T F&T 26.79 % AR,

arEdfe o = 12,500, 10,000, 9268.29, 9090.91, 9361.7, 9615.38 Tvar=h @&Er@f = T 0.38

I, =113.65, 1, =113.94, I, =113.79 THI @ Feiel a6 13.79 % 3R.
1,=191.53, I, =211.52
I, =84.84

1, =109.52, 1, =110.29, I, =109.90

i ST UG Faeh 3 = 118.58 ST THoT W= g™ ok 37 = 118.58. STMIRR 14!
TS gah i §AE ST,
a9 2014 W& Yok 3h [, =239.41 M0 =9 2015 el GAh 3k [, = 253.44 ; SaAfTae @=iq =]

It Feie a6 14.03 % 3T, 2015 =41 A& §ae STl TRhand 5.86 % = a1¢ seiel 3. ST
AT 5 % A el TR, @Hes 9 0.86 % TaEl w1 3.

o ik [ =231.44 = oA oor fewfauamadt I 13,886.40 3o @l difest.
ST S a0 3fF =100.10, St STHR Fu=a1 garrd 0.10 % TIE a1 Fafad.
AR FIer=a = g 3o [ =128.75

Sterfats @atel gad sie =196.35 ST STHR guf=n gad (196.35 — 100) = 96.35 % TaE a6
EUSIE IS

[
T
©
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® v
E/ 40 + g 10 ¢+ ®
N | o © - 97 °
: F
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74 ®
1 ®
‘L 10 ol
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O 11 12 13 14 15 16 17 0 5.6 7 8 9 10 11 12
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